Course:	ACCT - 2010 001 - Accounting Principles I (Financial Accounting)	Department:	Accounting
Responsible Faculty:	Ronald Fory	Responses / Expected:	10 / 34 (29.41%)

Ca	rse Evaluation Questions			Re	onald Fo	ory		
Coul	se Evaluation Questions		Res	ponses	(%)		Inc	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 10%	1 10%	1 10%	5 50%	2 20%	10	3.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	0	1 10%	5 50%	3 30%	10	3.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	0	0	6 60%	3 30%	10	4.0
Q4	My instructor provides material that helps me do well on assignments.	1 10%	0	2 20%	4 40%	3 30%	10	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 10%	0	2 20%	3 30%	4 40%	10	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	0	2 20%	5 50%	2 20%	10	3.7
Q7	My instructor establishes a climate of respect for students.	1 10%	0	0	3 30%	6 60%	10	4.3
Q8	My instructor is available to me on matters pertaining to the course.	1 10%	0	0	4 40%	5 50%	10	4.2
Q9	My instructor encourages me to do my best work.	1 10%	0	0	3 30%	6 60%	10	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 10%	0	1 10%	5 50%	3 30%	10	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 10%	0	0	4 40%	5 50%	10	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%	0	1 10%	3 30%	5 50%	10	4.1
Q13	My instructor encourages me to develop new viewpoints.	1 10%	0	2 20%	6 60%	1 10%	10	3.6
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	0	2 20%	3 30%	4 40%	10	3.9

					ACCT - 2	010 - 001	Survey Comparisons				
Labs	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	1.2K	4.4	67
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	1.7K	4.5	38

Course:	ACCT - 2010 002 - Accounting Principles I (Financial Accounting)	Department:	Accounting
Responsible Faculty:	Patricia Wynn	Responses / Expected:	14 / 30 (46.67%)

C	se Evaluation Questions				Patricia \	Vynn		
Cour	se Evaluation Questions			Respon	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 7.1%	4 28.6%	9 64.3%	14	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 7.1%	4 28.6%	9 64.3%	14	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 7.1%	2 14.3%	11 78.6%	14	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 7.1%	13 92.9%	14	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 14.3%	12 85.7%	14	4.9
Q9	My instructor encourages me to do my best work.	0	0	1 7.1%	4 28.6%	9 64.3%	14	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 14.3%	12 85.7%	14	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 14.3%	12 85.7%	14	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.1%	4 28.6%	9 64.3%	14	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 7.1%	2 14.3%	11 78.6%	14	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.1%	0	1 7.1%	2 14.3%	10 71.4%	14	4.4

				A	ССТ	- 2010 - 0	02	Survey Comparisons			
Labs and Online Learning Questions			Res	esponses (%)				Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	1.2K	4.4	87
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	1.7K	4.5	86

Course:	ACCT - 2020 001 - Accounting Principles II (Managerial Accounting)	Department:	Accounting
Responsible Faculty:	Ronald Fory	Responses / Expected:	6 / 21 (28.57%)

Cou	rse Evaluation Questions		_		nald Fory			
			1	sponses	. ,			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	1 16.7%	0	2 33.3%	2 33.3%	6	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q7	My instructor establishes a climate of respect for students.	1 16.7%	0	0	0	5 83.3%	6	4.3
Q8	My instructor is available to me on matters pertaining to the course.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2
Q9	My instructor encourages me to do my best work.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2
Q10	My instructor provides timely feedback to guide my progress.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8
Q13	My instructor encourages me to develop new viewpoints.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	1 16.7%	0	4 66.7%	6	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ACC	T - 202	0 - 001			Survey Comparisons			
Lal	Labs and Online Learning Questions		Responses (%)						All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	2 50%	0	0	0	2 50%	4	3.0	1.2K	4.4	22	
Q1	The course topics are organized in a coherent fashion.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	1.7K	4.5	14	

Course:	ACCT - 3110 001 - Intermediate Accounting I	Department:	Accounting
Responsible Faculty:	Randall Hahn	Responses / Expected:	18 / 29 (62.07%)

Cour	se Evaluation Questions		Po	Ran sponses	dall Hahn	1	Inc	lividual
		SD	D Re	N	(%) A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 11.1%	0	4 22.2%	9 50%	3 16.7%	18	3.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5.6%	2 11.1%	2 11.1%	9 50%	4 22.2%	18	3.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	3 16.7%	0	12 66.7%	3 16.7%	18	3.8
Q4	My instructor provides material that helps me do well on assignments.	1 5.6%	2 11.1%	3 16.7%	8 44.4%	4 22.2%	18	3.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5.6%	1 5.6%	0	12 66.7%	4 22.2%	18	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 11.1%	1 5.6%	6 33.3%	7 38.9%	2 11.1%	18	3.3
Q7	My instructor establishes a climate of respect for students.	1 5.6%	0	1 5.6%	9 50%	7 38.9%	18	4.2
Q8	My instructor is available to me on matters pertaining to the course.	1 5.6%	1 5.6%	1 5.6%	7 38.9%	8 44.4%	18	4.1
Q9	My instructor encourages me to do my best work.	1 5.6%	1 5.6%	1 5.6%	8 44.4%	7 38.9%	18	4.1
Q10	My instructor provides timely feedback to guide my progress.	2 11.1%	1 5.6%	3 16.7%	7 38.9%	5 27.8%	18	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5.6%	0	0	8 44.4%	9 50%	18	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 5.6%	0	6 33.3%	6 33.3%	5 27.8%	18	3.8
Q13	My instructor encourages me to develop new viewpoints.	1 5.6%	0	4 22.2%	8 44.4%	5 27.8%	18	3.9
Q14	My instructor made the subject interesting and motivated me to learn.	1 5.6%	1 5.6%	4 22.2%	7 38.9%	5 27.8%	18	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				A	CCT - 311	0 - 001		Survey Comparisons			
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	4 40%	5 50%	1 10%	10	3.7	1.2K	4.4	26
Q10	The course topics are organized in a coherent fashion.	0	0	1 8.3%	8 66.7%	3 25%	12	4.2	1.7K	4.5	33

Course:	ACCT - 3110 002 - Intermediate Accounting I	Department:	Accounting
Responsible Faculty:	Randall Hahn	Responses / Expected:	12 / 19 (63.16%)

Cou	se Evaluation Questions			R Response	andall Ha	hn	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 16.7%	1 8.3%	3 25%	6 50%	12	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 8.3%	0	2 16.7%	9 75%	12	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 8.3%	5 41.7%	6 50%	12	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 16.7%	5 41.7%	5 41.7%	12	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 8.3%	0	4 33.3%	7 58.3%	12	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 8.3%	6 50%	5 41.7%	12	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q9	My instructor encourages me to do my best work.	0	0	2 16.7%	4 33.3%	6 50%	12	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 8.3%	0	5 41.7%	6 50%	12	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 8.3%	5 41.7%	6 50%	12	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 16.7%	3 25%	7 58.3%	12	4.4

	Labs and Online Learning Questions			A	сст	- 3110 - 0	02		Survey Comparisons			
Labs			Res	pons	ses	(%)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	5 100%	5	5.0	1.2K	4.4	87	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	1.7K	4.5	86	

Course:	ACCT - 3270 001 - Cost Accounting	Department:	Accounting
Responsible Faculty:	Ronald Fory	Responses / Expected:	9 / 19 (47.37%)

Cour	se Evaluation Questions			F Response	onald For	у	In	dividual
		SD	D	N	S (%)	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 22.2%	5 55.6%	2 22.2%	9	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 33.3%	1 11.1%	5 55.6%	9	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q9	My instructor encourages me to do my best work.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 11.1%	2 22.2%	0	6 66.7%	9	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6

Labs and Online Learning Questions				ACC.	T - 3	3270 - 001		Survey Comparisons				
				Response	s (%	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	1 33.3%	0	2 66.7%	3	4.3	1.2K	4.4	46	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	1.7K	4.5	86	

Course:	ACCT - 3270 002 - Cost Accounting	Department:	Accounting
Responsible Faculty:	Ronald Fory	Responses / Expected:	5 / 11 (45.45%)

Cour	se Evaluation Questions				Ronald	Fory		
Cour	se Evaluation Questions		F	Respons	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	2 40%	2 40%	5	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 60%	2 40%	5	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 60%	2 40%	5	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	1 20%	3 60%	5	4.4
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 40%	3 60%	5	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	1 20%	3 60%	5	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	1 20%	3 60%	5	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8

					ACCT - 3	270 - 002	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	1.2K	4.4	46
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	1.7K	4.5	65

Course:	ACCT - 4100 001 - Accounting Systems	Department:	Accounting
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	4 / 16 (25%)

Cour	se Evaluation Questions				hanie N	/longiel		
- Cou.	5 Hadden (4-5-10-10-10-10-10-10-10-10-10-10-10-10-10-		Re	espons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 25%	0	0	2 50%	1 25%	4	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	0	3 75%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	0	3 75%	4	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

					ACCT -	4100 - 001	1		Survey Comparisons				
Lab	Labs and Online Learning Questions		R	espo	onses (%	5)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	1.2K	4.4	87		
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	1.7K	4.5	46		

Course:	ACCT - 4300 001 - Federal Income Taxation	Department:	Accounting
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	7 / 18 (38.89%)

_		Stephanie Mongiello											
Cour	se Evaluation Questions		Re	espo	nses (%)		dividual						
		SD	D	N	Α	SA	N	Mean					
Q1	My instructor explains difficult material clearly.	1 14.3%	0	0	0	6 85.7%	7	4.4					
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1					
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1					
Q4	My instructor provides material that helps me do well on assignments.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3					
25	My instructor explains new ideas by relating them to familiar concepts.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3					
26	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1					
Q7	My instructor establishes a climate of respect for students.	1 14.3%	0	0	0	6 85.7%	7	4.4					
28	My instructor is available to me on matters pertaining to the course.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0					
29	My instructor encourages me to do my best work.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3					
210	My instructor provides timely feedback to guide my progress.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0					
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1					
212	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3					
213	My instructor encourages me to develop new viewpoints.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0					
214	My instructor made the subject interesting and motivated me to learn.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1					

				ACC	T - 4	4300 - 001		Survey Comparisons				
Labs and Online Learning Questions		F	lesp	onse	es (%	6)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	1 33.3%	0	0	0	2 66.7%	3	3.7	1.2K	4.4	26	
Q16	The course topics are organized in a coherent fashion.	1 33.3%	0	0	0	2 66.7%	3	3.7	1.7K	4.5	17	

Fall 2016 Course Evaluation Survey-16 Week	University of North Texas at Dallas
6168 - Fall 2016 - 1	UNT-Dallas

Course:	ACCT - 4350 001 - Advanced Federal Income Taxation	Department:	Accounting
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	1 / 9 (11.11%)

		Stephanie Mongiello								
		R	espo	nses (%)		dividual				
	S	D	N	Α	SA	N	Mean			
terial clearly.	C	0	0	1 100%	0	1	4.0			
ples, and references that helped me learn the material.	C	0	0	1 100%	0	1	4.0			
nat contribute to my understanding of the subject.	C	0	0	1 100%	0	1	4.0			
at helps me do well on assignments.	C	0	0	1 100%	0	1	4.0			
y relating them to familiar concepts.	C	0	0	1 100%	0	1	4.0			
ways that are helpful to my ability to learn.	C	0	0	1 100%	0	1	4.0			
e of respect for students.	C	0	0	1 100%	0	1	4.0			
matters pertaining to the course.	C	0	0	1 100%	0	1	4.0			
my best work.	C	0	0	1 100%	0	1	4.0			
pack to guide my progress.	C	0	0	1 100%	0	1	4.0			
ere in which ideas can be exchanged freely.	C	0	0	1 100%	0	1	4.0			
onnect course topics to a wider understanding of the subject.	C	0	0	1 100%	0	1	4.0			
evelop new viewpoints.	C	0	0	1 100%	0	1	4.0			
eresting and motivated me to learn.	C	0	0	1 100%	0	1	4.0			
	eresting and motivated me to learn.	eresting and motivated me to learn.	eresting and motivated me to learn. 0 0	eresting and motivated me to learn. 0 0 0	eresting and motivated me to learn.  0 0 1 1 100%	eresting and motivated me to learn.  0 0 0 1 1 100%	prosting and motivated mate learn			

Course:	ACCT - 4400 001 - Auditing Professional Responsibilities	Department:	Accounting
Responsible Faculty:	Randall Hahn	Responses / Expected:	3 / 7 (42.86%)

Cour	se Evaluation Questions								
Cour	se Evaluation Questions	R	esp	onse	es (%	6)	Individua		
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 33.3%	0	0	0	2 66.7%	3	3.7	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q4	My instructor provides material that helps me do well on assignments.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q7	My instructor establishes a climate of respect for students.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q9	My instructor encourages me to do my best work.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q13	My instructor encourages me to develop new viewpoints.	1 33.3%	0	0	0	2 66.7%	3	3.7	
Q14	My instructor made the subject interesting and motivated me to learn.	1 33.3%	0	0	0	2 66.7%	3	3.7	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ACC	ст -	4400 - 0	01		Survey Comparisons				
Labs and Online Learning Questions		F	Resp	onse	es (%	5)		Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	1 50%	0	0	0	1 50%	2	3.0	1.2K	4.4	22		
Q16	The course topics are organized in a coherent fashion.	1 50%	0	0	0	1 50%	2	3.0	1.7K	4.5	11		

Course:	ACCT - 5020 010 - Accumulation and Analysis of Accounting Data	Department:	Accounting
Responsible Faculty:	Randall Hahn	Responses / Expected:	2 / 13 (15.38%)

Сош	se Evaluation Questions	Randall Hahn										
oou	SE LYAILUATION QUESTIONS			Respons		In	dividual					
		SD	D	N	Α	SA	N	Mean				
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5				
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	1 50%	0	2	3.5				
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0				
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0				
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 100%	0	0	2	3.0				
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	1 50%	0	2	3.5				
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	1 50%	0	2	3.5				
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5				
Q9	My instructor encourages me to do my best work.	0	0	0	2 100%	0	2	4.0				
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0				
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0				
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 100%	0	0	2	3.0				
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 100%	0	0	2	3.0				
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	1 50%	0	2	3.5				

					ACCT - 502	20 - 01	0		Survey Comparisons				
Labs and Online Learning Questions		Responses (%)							All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	1.2K	4.4	34		
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	1.7K	4.5	24		

Course:	AGER - 4500 040 - Long-Term Care Case Management with Older Adults	Department:	Applied Ge
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	5 / 23 (21.74%)

٥	Full still a Counting			lft	ekhar A	Amin		
Cour	se Evaluation Questions		Res	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 40%	1 20%	2 40%	5	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 40%	2 40%	1 20%	5	3.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	2 40%	2 40%	5	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	2 40%	2 40%	5	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	3 60%	1 20%	5	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 40%	2 40%	1 20%	5	3.8
Q7	My instructor establishes a climate of respect for students.	0	0	2 40%	2 40%	1 20%	5	3.8
Q8	My instructor is available to me on matters pertaining to the course.	0	1 20%	0	2 40%	2 40%	5	4.0
Q9	My instructor encourages me to do my best work.	0	0	1 20%	3 60%	1 20%	5	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 20%	1 20%	2 40%	1 20%	5	3.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	3 60%	1 20%	5	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	3 60%	1 20%	5	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 40%	2 40%	1 20%	5	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 40%	2 40%	1 20%	5	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				A	GER - 450	0 - 040	Survey Comparisons				
Lab	Labs and Online Learning Questions			Respon	ses (%)		(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	1.2K	4.4	34
Q16	The course topics are organized in a coherent fashion.	0	0	1 25%	2 50%	1 25%	4	4.0	1.7K	4.5	24

Course:	AGER - 4550 040 - Sociology of Aging	Department:	Applied Ge
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	4 / 17 (23.53%)

C	se Evaluation Questions			Ifte	khar	Amin		
Cour	se Evaluation Questions		Resp	onses	(%)		ln	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	0	3 75%	4	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	0	3 75%	4	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	1 25%	0	0	3 75%	4	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 25%	0	0	3 75%	4	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	0	3 75%	4	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	0	3 75%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	1 25%	0	0	3 75%	4	4.3
Q9	My instructor encourages me to do my best work.	0	0	1 25%	0	3 75%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 25%	0	0	3 75%	4	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	0	3 75%	4	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	0	3 75%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	0	3 75%	4	4.5

				AG	ER - 45	50 - 040		Survey Comparisons					
Lab	s and Online Learning Questions			Responses (%)				Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	1.2K	4.4	56		
Q10	The course topics are organized in a coherent fashion.	0	0	1 33.3%	0	2 66.7%	3	4.3	1.7K	4.5	38		

Course:	ART - 1300 002 - Art Appreciation for non-art majors	Department:	Art
Responsible Faculty:	Pamela Harris	Responses / Expected:	12 / 60 (20%)

_					Pamela I	larris		
Cou	rse Evaluation Questions			Respor	ises (%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 25%	9 75%	12	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 16.7%	2 16.7%	8 66.7%	12	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 8.3%	5 41.7%	6 50%	12	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 25%	9 75%	12	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 36.4%	7 63.6%	11	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 25%	9 75%	12	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				Α	RT -	1300 - 00	)2		Survey Comparisons				
Lal	s and Online Learning Questions	Responses (				(%)		Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	1.2K	4.4	87		
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	1.7K	4.5	86		

Course:	ART - 1300 004 - Art Appreciation for non-art majors	Department:	Art
Responsible Faculty:	Travis Barnes	Responses / Expected:	10 / 33 (30.30%)

٥	se Evaluation Questions				Travis E	Barnes		
Cour	SE EVALUATION QUESTIONS		F	Respons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 20%	1 10%	7 70%	10	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 20%	2 20%	6 60%	10	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 20%	1 10%	7 70%	10	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 20%	3 30%	5 50%	10	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	4 40%	5 50%	10	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 20%	3 30%	5 50%	10	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	3 30%	6 60%	10	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 20%	2 20%	6 60%	10	4.4
Q9	My instructor encourages me to do my best work.	0	0	2 20%	2 20%	6 60%	10	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 20%	2 20%	6 60%	10	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	2 20%	7 70%	10	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 20%	2 20%	6 60%	10	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 20%	2 20%	6 60%	10	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 20%	1 10%	7 70%	10	4.5

					ART - 13	800 - 004	Survey Comparisons				
Lal	Labs and Online Learning Questions			Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	1.2K	4.4	56
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	1.7K	4.5	58

Course:	ART - 1300 005 - Art Appreciation for non-art majors	Department:	Art
Responsible Faculty:	Travis Barnes	Responses / Expected:	7 / 34 (20.59%)

Cou	se Evaluation Questions			Tr Response	avis Barn	es	Įn	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	6 85.7%	1 14.3%	7	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	4 57.1%	2 28.6%	7	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 14.3%	3 42.9%	2 28.6%	1 14.3%	7	3.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	2 28.6%	2 28.6%	2 28.6%	7	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 42.9%	4 57.1%	7	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ART - 13	300 - 005	Survey Comparisons				
Labs	and Online Learning Questions			Res	ponses (%)	)	(	Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	1.2K	4.4	34
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	1.7K	4.5	58

Course:	ART - 1300 031 - Art Appreciation for non-art majors	Department:	Art
Responsible Faculty:	Pamela Harris	Responses / Expected:	13 / 30 (43.33%)

Com	se Evaluation Questions			Pa	amela Ha	rris		
ooui	se Evaluation Questions		R	esponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 7.7%	1 7.7%	1 7.7%	6 46.2%	4 30.8%	13	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.7%	0	0	7 53.8%	5 38.5%	13	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 7.7%	0	1 7.7%	6 46.2%	5 38.5%	13	4.1
Q4	My instructor provides material that helps me do well on assignments.	1 7.7%	1 7.7%	0	6 46.2%	5 38.5%	13	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.7%	0	0	7 53.8%	5 38.5%	13	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.7%	1 7.7%	0	6 46.2%	5 38.5%	13	4.0
Q7	My instructor establishes a climate of respect for students.	1 7.7%	1 7.7%	1 7.7%	6 46.2%	4 30.8%	13	3.8
Q8	My instructor is available to me on matters pertaining to the course.	1 7.7%	0	1 7.7%	5 38.5%	6 46.2%	13	4.2
Q9	My instructor encourages me to do my best work.	1 8.3%	0	0	6 50%	5 41.7%	12	4.2
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	1 8.3%	0	6 50%	4 33.3%	12	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.7%	0	0	7 53.8%	5 38.5%	13	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 7.7%	0	0	6 46.2%	6 46.2%	13	4.2
Q13	My instructor encourages me to develop new viewpoints.	1 7.7%	0	0	7 53.8%	5 38.5%	13	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.7%	0	1 7.7%	6 46.2%	5 38.5%	13	4.1

					ART - 13	800 - 031		Survey Comparisons				
La	os and Online Learning Questions			Res	ponses (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 60%	2 40%	5	4.4	1.2K	4.4	49	
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 37.5%	5 62.5%	8	4.6	1.7K	4.5	53	

Course:	BCIS - 2610 001 - Introduction to Computers in Business	Department:	Business C
Responsible Faculty:	Richard Wallace	Responses / Expected:	6 / 25 (24%)

<b>0</b>	Forbutton Occations			Richa	rd Wallac	e		
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 16.7%	0	5 83.3%	0	6	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	0	0	5 83.3%	0	6	3.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 83.3%	1 16.7%	6	4.2
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	1 16.7%	3 50%	1 16.7%	6	3.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q8	My instructor is available to me on matters pertaining to the course.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	2 33.3%	1 16.7%	2 33.3%	6	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 50%	3 50%	6	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 33.3%	4 66.7%	0	6	3.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				В	CIS -	- 2610 - 00	01	Survey Comparisons				
Labs and Online Learning Questions			Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	1.2K	4.4	87	
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	1.7K	4.5	86	

Course:	BCIS - 2610 002 - Introduction to Computers in Business	Department:	Business C
Responsible Faculty:	Richard Wallace	Responses / Expected:	2 / 10 (20%)

٥	Productive Occasions				Rich	ard Walla	ice	
Cour	se Evaluation Questions		Res	pon	ses	(%)	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

				В	CIS	- 2610 - 00	02	Survey Comparisons			
Labs	and Online Learning Questions	Responses (%) Course						All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	1.2K	4.4	87
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	1.7K	4.5	86

Course:	BCIS - 3610 001 - Basic Information Systems	Department:	Business C
Responsible Faculty:	Theodore Larson	Responses / Expected:	9 / 31 (29.03%)

_					Theodore	Larson		
Coui	se Evaluation Questions		Re	spo	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	9 100%	9	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	9 100%	9	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	9 100%	9	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	0	0	8 88.9%	9	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	9 100%	9	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	9 100%	9	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	9 100%	9	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	9 100%	9	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	9 100%	9	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	9 100%	9	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	9 100%	9	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	9 100%	9	5.0

				ı	BCIS - 3	610 - 00	1		Survey Comparisons			
Lal	s and Online Learning Questions	Responses (%)						Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	1.2K	4.4	72	
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	1.7K	4.5	65	

Course:	BCIS - 3610 002 - Basic Information Systems	Department:	Business C
Responsible Faculty:	Theodore Larson	Responses / Expected:	9 / 30 (30%)

Cour	rse Evaluation Questions			The Response	odore Lai	rson	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 22.2%	1 11.1%	5 55.6%	1 11.1%	9	3.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	4 44.4%	2 22.2%	3 33.3%	9	3.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	1 11.1%	2 22.2%	2 22.2%	4 44.4%	9	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 11.1%	1 11.1%	3 33.3%	4 44.4%	9	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 33.3%	3 33.3%	3 33.3%	9	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	1 11.1%	1 11.1%	2 22.2%	5 55.6%	9	4.2
Q9	My instructor encourages me to do my best work.	0	2 25%	0	5 62.5%	1 12.5%	8	3.6
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 25%	2 25%	4 50%	8	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 11.1%	1 11.1%	4 44.4%	3 33.3%	9	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	1 11.1%	1 11.1%	4 44.4%	3 33.3%	9	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 22.2%	2 22.2%	2 22.2%	3 33.3%	9	3.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				BCIS - 3	510 - 002	Survey Comparisons				
Lal				Res	Responses (%)			Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	1.2K	4.4	67
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	1.7K	4.5	65

Course:	BCIS - 4660 010 - Introduction to Data Warehousing	Department:	Business C
Responsible Faculty:	Theodore Larson	Responses / Expected:	9 / 28 (32.14%)

٥	Furthering Occasions			Th	eodore La	irson		
Cour	se Evaluation Questions			Respons	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q4	My instructor provides material that helps me do well on assignments.	1 11.1%	0	1 11.1%	2 22.2%	5 55.6%	9	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 33.3%	1 11.1%	5 55.6%	9	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 22.2%	1 11.1%	6 66.7%	9	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				В	CIS - 4660		Survey Comparisons				
Labs	Labs and Online Learning Questions		Res	pon	ıses (%)		(	Course	All		
		SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	1.2K	4.4	46
Q16	The course topics are organized in a coherent fashion.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1	1.7K	4.5	32

Course:	BCIS - 4660 011 - Introduction to Data Warehousing	Department:	Business C
Responsible Faculty:	Theodore Larson	Responses / Expected:	6 / 14 (42.86%)

Cou	se Evaluation Questions		D-		lore Lars	on	le-	dividual
			1	sponses				
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 16.7%	1 16.7%	0	0	4 66.7%	6	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 33.3%	0	4 66.7%	6	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	1 16.7%	0	0	5 83.3%	6	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	1 16.7%	0	4 66.7%	6	4.0

				BCI	S - 4660	0 - 011		Survey Comparisons				
Labs	Labs and Online Learning Questions		Resp	onse	es (%)		(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	1 33.3%	0	0	0	2 66.7%	3	3.7	1.2K	4.4	26	
Q16	The course topics are organized in a coherent fashion.	0	1 20%	0	1 20%	3 60%	5	4.2	1.7K	4.5	34	

Course:	BIOL - 1082 001 - Biology for Educators	Department:	Biology
Responsible Faculty:	Kelly Varga	Responses / Expected:	2 / 10 (20%)

_					Kelly V	arga		
Cou	rse Evaluation Questions		Re	esponse	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 50%	0	0	1 50%	2	3.5
Q4	My instructor provides material that helps me do well on assignments.	0	1 50%	0	0	1 50%	2	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	0	1 50%	2	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 50%	0	1 50%	2	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 50%	0	1 50%	2	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ВЮ	L - 1	082 - 001			Survey Comparisons			
La	Labs and Online Learning Questions		Resp	onse	es (%	·)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	1.2K	4.4	87	
Q1	The course topics are organized in a coherent fashion.	0	1 50%	0	0	1 50%	2	3.5	1.7K	4.5	15	

Course:	BIOL - 1082 030 - Biology for Educators	Department:	Biology
Responsible Faculty:	Donna Hamilton	Responses / Expected:	3 / 13 (23.08%)

Cour	se Evaluation Questions		Po	Donna sponses	a Hamilto	n	In	dividual
		SD	D	N	(%) A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 100%	0	3	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 33.3%	0	2 66.7%	0	3	3.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	1 33.3%	0	2 66.7%	0	3	3.3
Q9	My instructor encourages me to do my best work.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0

					BIOL - 10	082 - 030	Survey Comparisons				
Lab	Labs and Online Learning Questions			Res	ponses (%)	)		Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	1.2K	4.4	46
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	1.7K	4.5	58

Course:	BIOL - 1082 301 - Biology for Educators	Department:	Biology
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	2 / 10 (20%)

Cou	rse Evaluation Questions		D-	Irene F	Rodrigue	ez Virge		dividual
		SD	D	sponse: N	s (%)	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	0	1 50%	2	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	0	1 50%	2	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	0	1 50%	2	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	0	0	1 50%	2	3.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0

				BIOL -	108	32 - 301			Survey Comparisons			
Lab	Labs and Online Learning Questions		Resp	onses (	(%)		(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	1.2K	4.4	34	
Q16	The course topics are organized in a coherent fashion.	0	1 50%	0	0	1 50%	2	3.5	1.7K	4.5	15	

Course:	BIOL - 1082 330 - Biology for Educators	Department:	Biology
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	3 / 13 (23.08%)

_				Iren	e Rodrigu	ez Virger	ı	
Coui	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3

					BIOL - 1	082 - 330			Survey Comparisons				
Lal	Labs and Online Learning Questions		Responses (%)						All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	1.2K	4.4	56		
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	1.7K	4.5	86		

Course:	BIOL - 1132 001 - Environmental Science	Department:	Biology
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	16 / 44 (36.36%)

Cour	se Evaluation Questions			A Response	ubrey Fra	ntz	Inc	lividual
		SD	D	N	es (%)	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 12.5%	5 31.3%	9 56.3%	16	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 6.3%	5 31.3%	10 62.5%	16	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 6.3%	6 37.5%	9 56.3%	16	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 12.5%	4 25%	10 62.5%	16	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 6.3%	0	6 37.5%	9 56.3%	16	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 12.5%	4 25%	10 62.5%	16	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 6.3%	5 31.3%	10 62.5%	16	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 25%	12 75%	16	4.8
Q9	My instructor encourages me to do my best work.	0	0	1 6.3%	7 43.8%	8 50%	16	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 12.5%	4 25%	10 62.5%	16	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 6.7%	4 26.7%	10 66.7%	15	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 6.3%	4 25%	11 68.8%	16	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 12.5%	5 31.3%	9 56.3%	16	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 12.5%	7 43.8%	7 43.8%	16	4.3

Labs and Online Learning Questions					BIOL - 113	2 - 001		Survey Comparisons			
				Respo	nses (%)		С	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	5 33.3%	10 66.7%	15	4.7	1.2K	4.4	67
Q16	The course topics are organized in a coherent fashion.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5	1.7K	4.5	50

Course:	BIOL - 1132 002 - Environmental Science	Department:	Biology
Responsible Faculty:	Charcacia Sanders	Responses / Expected:	3 / 21 (14.29%)

Cou	se Evaluation Questions			Char	cacia Sar	nders		
Ooui	Se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	he and Online Learning Occasions				OL - 113	2 - 002		_	Survey Comparisons			
La	Labs and Online Learning Questions		Res	ons	es (%)		(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q <sup>2</sup>	The section or lab is well integrated into the course structure.	0	1 50%	0	0	1 50%	2	3.5	1.2K	4.4	25	
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	1.7K	4.5	46	

Course:	BIOL - 1132 030 - Environmental Science	Department:	Biology
Responsible Faculty:	Donna Hamilton	Responses / Expected:	10 / 31 (32.26%)

Cour	se Evaluation Questions			Don	na Ham	ilton		
Cour	se Evaluation Questions		Res	ponses	(%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 20%	1 10%	4 40%	10	3.4		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 10%	2 20%	2 20%	5 50%	10	4.1
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 20%	3 30%	5 50%	10	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 10%	2 20%	2 20%	5 50%	10	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 10%	0	1 10%	5 50%	3 30%	10	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	2 20%	1 10%	2 20%	4 40%	10	3.6
Q7	My instructor establishes a climate of respect for students.	0	2 20%	1 10%	2 20%	5 50%	10	4.0
Q8	My instructor is available to me on matters pertaining to the course.	2 20%	1 10%	1 10%	2 20%	4 40%	10	3.5
Q9	My instructor encourages me to do my best work.	0	2 20%	2 20%	2 20%	4 40%	10	3.8
Q10	My instructor provides timely feedback to guide my progress.	2 20%	1 10%	1 10%	2 20%	4 40%	10	3.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 10%	1 10%	3 30%	5 50%	10	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 20%	4 40%	4 40%	10	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	1 10%	1 10%	3 30%	5 50%	10	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 10%	3 30%	2 20%	4 40%	10	3.9

				вю	L - 1132	- 030		Survey Comparisons				
Lal	Labs and Online Learning Questions		Re	sponse	s (%)		C	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	1 10%	5 50%	4 40%	10	4.3	1.2K	4.4	43	
Q1	The course topics are organized in a coherent fashion.	0	2 20%	2 20%	1 10%	5 50%	10	3.9	1.7K	4.5	18	

Course:	BIOL - 1132 301 - Environmental Science	Department:	Biology
Responsible Faculty:	Rheketah Berwick	Responses / Expected:	6 / 24 (25%)

_				R	heketah I	Berwick		
Coui	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8

				ı	BIOL - 1	132 - 30	1		Survey Comparisons			
Lal	Labs and Online Learning Questions		Re	spo	nses (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	1.2K	4.4	63	
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	1.7K	4.5	41	

Course:	BIOL - 1132 302 - Environmental Science	Department:	Biology
Responsible Faculty:	Rheketah Berwick	Responses / Expected:	4 / 21 (19.05%)

Cou	se Evaluation Questions				ketah B	erwick		
oou.	or Enduation Queensing		Re	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	0	1 25%	2 50%	4	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	1 25%	0	1 25%	2 50%	4	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 25%	1 25%	2 50%	4	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3

				BIC	DL - 113	2 - 302	Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	1 25%	0	1 25%	2 50%	4	4.0	1.2K	4.4	34
Q10	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	1.7K	4.5	46

Course:	BIOL - 1132 303 - Environmental Science	Department:	Biology
Responsible Faculty:	Rheketah Berwick	Responses / Expected:	10 / 20 (50%)

Cour	se Evaluation Questions			RI	heketah B	erwick		
Cour	se Evaluation Questions		ı	Respon	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 10%	0	2 20%	7 70%	10	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 10%	0	3 30%	6 60%	10	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 30%	7 70%	10	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 30%	7 70%	10	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	2 20%	7 70%	10	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 20%	8 80%	10	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	2 20%	7 70%	10	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	3 30%	7 70%	10	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	1 10%	1 10%	7 70%	10	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 30%	7 70%	10	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 40%	6 60%	10	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 10%	9 90%	10	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ВІ	OL - 11	32 - 303	Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)					ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	1 10%	0	0	9 90%	10	4.7	1.2K	4.4	69
Q1	The course topics are organized in a coherent fashion.	0	1 10%	0	1 10%	8 80%	10	4.6	1.7K	4.5	52

Course:	BIOL - 1132 330 - Environmental Science	Department:	Biology
Responsible Faculty:	Donna Hamilton	Responses / Expected:	9 / 31 (29.03%)

<b>^</b>	Forbutton Occations			Donna	a Hamilto	on		
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 11.1%	1 11.1%	0	3 33.3%	4 44.4%	9	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 11.1%	1 11.1%	2 22.2%	5 55.6%	9	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 22.2%	1 11.1%	3 33.3%	3 33.3%	9	3.8
Q7	My instructor establishes a climate of respect for students.	1 11.1%	0	1 11.1%	1 11.1%	6 66.7%	9	4.2
Q8	My instructor is available to me on matters pertaining to the course.	1 11.1%	1 11.1%	0	3 33.3%	4 44.4%	9	3.9
Q9	My instructor encourages me to do my best work.	1 11.1%	1 11.1%	0	3 33.3%	4 44.4%	9	3.9
Q10	My instructor provides timely feedback to guide my progress.	1 11.1%	1 11.1%	1 11.1%	2 22.2%	4 44.4%	9	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2

Labs and Online Learning Questions				BIOL	- 1132 - 3		Survey Comparisons				
		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2	1.2K	4.4	41
Q16	The course topics are organized in a coherent fashion.	0	1 11.1%	1 11.1%	1 11.1%	6 66.7%	9	4.3	1.7K	4.5	38

Course:	BIOL - 1710 001 - Biology for Science Majors I	Department:	Biology
Responsible Faculty:	Kelly Varga	Responses / Expected:	11 / 22 (50%)

Cour	se Evaluation Questions				Kelly Var	ga		
				Respons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 18.2%	4 36.4%	5 45.5%	11	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 18.2%	4 36.4%	5 45.5%	11	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 9.1%	3 27.3%	2 18.2%	5 45.5%	11	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 18.2%	4 36.4%	5 45.5%	11	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 18.2%	6 54.5%	3 27.3%	11	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q9	My instructor encourages me to do my best work.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 10%	3 30%	6 60%	10	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	3 30%	6 60%	10	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 18.2%	4 36.4%	5 45.5%	11	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 18.2%	4 36.4%	5 45.5%	11	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 9.1%	3 27.3%	2 18.2%	5 45.5%	11	4.0

				BIOL	- 1710 - 0		Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	2 28.6%	1 14.3%	3 42.9%	1 14.3%	7	3.4	1.2K	4.4	24
Q16	The course topics are organized in a coherent fashion.	0	1 14.3%	1 14.3%	4 57.1%	1 14.3%	7	3.7	1.7K	4.5	17

Course:	BIOL - 1710 002 - Biology for Science Majors I	Department:	Biology
Responsible Faculty:	Kelly Varga	Responses / Expected:	7 / 31 (22.58%)

Cou	rse Evaluation Questions				(elly Varg	а		
			1	Response	. ,			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1

Labs and Online Learning Questions					BIOL - 17	710 - 002	Survey Comparisons				
		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 50%	3 50%	6	4.5	1.2K	4.4	56
Q16	The course topics are organized in a coherent fashion.	0	0	0	5 83.3%	1 16.7%	6	4.2	1.7K	4.5	33

Course:	BIOL - 1710 003 - Biology for Science Majors I	Department:	Biology
Responsible Faculty:	Kelly Varga	Responses / Expected:	3 / 18 (16.67%)

Cou	rse Evaluation Questions			ı	Celly Varg	а		
Cou	Se Evaluation Questions			Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 100%	0	3	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					BIOL - 1	710 - 00	3		Survey Comparisons				
Lab	Labs and Online Learning Questions		Re	spo	nses (%)	)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	1.2K	4.4	56		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	1.7K	4.5	46		

Course:	BIOL - 1730 001 - Biology for Science Majors I Laboratory	Department:	Biology
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	10 / 21 (47.62%)

Cour	se Evaluation Questions			Irene Respons	Rodrigue es (%)	z Virgen	Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 10%	4 40%	5 50%	10	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 10%	5 50%	4 40%	10	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 10%	5 50%	4 40%	10	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	5 50%	4 40%	10	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 20%	4 40%	4 40%	10	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	4 40%	5 50%	10	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	4 40%	5 50%	10	4.4
Q9	My instructor encourages me to do my best work.	0	0	1 10%	4 40%	5 50%	10	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	1 10%	3 30%	5 50%	10	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	4 40%	5 50%	10	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	5 50%	4 40%	10	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	5 50%	4 40%	10	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 20%	4 40%	4 40%	10	4.2

				BIOL	- 1730 - 0		Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	1 11.1%	1 11.1%	5 55.6%	2 22.2%	9	3.9	1.2K	4.4	28
Q1	The course topics are organized in a coherent fashion.	0	0	2 22.2%	5 55.6%	2 22.2%	9	4.0	1.7K	4.5	24

Course:	BIOL - 1730 002 - Biology for Science Majors I Laboratory	Department:	Biology
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	6 / 17 (35.29%)

Cou	se Evaluation Questions					iguez Virg		
				Res	ponses (%	.)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	6 100%	6	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	6 100%	6	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					BIOL - 1	730 - 002	Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1!	The section or lab is well integrated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	1.2K	4.4	67
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	1.7K	4.5	58

Course:	BIOL - 1730 003 - Biology for Science Majors I Laboratory	Department:	Biology
Responsible Faculty:	Kelly Varga	Responses / Expected:	3 / 21 (14.29%)

Cour	se Evaluation Questions			k	Celly Varg	а		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 33.3%	0	0	2 66.7%	3	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					BIOL - 17	730 - 003	Survey Comparisons				
		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	1.2K	4.4	67
Q10	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	1.7K	4.5	38

Course:	BIOL - 1730 004 - Biology for Science Majors I Laboratory	Department:	Biology
Responsible Faculty:	Rheketah Berwick	Responses / Expected:	2 / 8 (25%)

Cou	rse Evaluation Questions					Berwick		
				Respo	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	0	1 50%	2	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				BIOL - 1	1730 - 004	Survey Comparisons				
L			R	espo	onses (%	6)	(	Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	1.2K	4.4	87
Q	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	1.7K	4.5	46

Course:	BIOL - 2301 001 - Human Anatomy and Physiology I	Department:	Biology
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	9 / 20 (45%)

٥	Forbusting Occupiers				Aubrey F	rantz		
Cour	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 11.1%	8 88.9%	9	4.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	0	8 88.9%	9	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7

				В	IOL ·	- 2301 - 0	D1	Survey Comparisons			
Lab	Labs and Online Learning Questions		Res	pons	ses	(%)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	1.2K	4.4	87
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	1.7K	4.5	86

Course:	BIOL - 2311 001 - Human Anatomy and Physiology I Laboratory	Department:	Biology
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	7 / 19 (36.84%)

Cour	se Evaluation Questions			Au Response	ibrey Frans s (%)	ntz	Įn	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 42.9%	4 57.1%	7	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7

					BIOL - 2	311 - 001	Survey Comparisons				
Lab	Labs and Online Learning Questions			Res	ponses (%)	)	(	Course			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 14.3%	6 85.7%	7	4.9	1.2K	4.4	74
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	1.7K	4.5	63

Course:	BIOL - 3310 030 - Principles of Human Nutrition	Department:	Biology
Responsible Faculty:	Laurence Rapp	Responses / Expected:	3 / 9 (33.33%)

Cou	rse Evaluation Questions					nce Rapp			
					ponses (%			ndividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7	
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7	

					BIOL - 3	310 - 030		Survey Comparisons				
Labs and Online Learning Questions		Responses (%				)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	1.2K	4.4	56	
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	1.7K	4.5	38	

Fall 2016 Course Eva	luation Survey-16 Week
6168 - Fall 2016 - 1	

Course:	BIOL - 3510 001 - Cell Biology	Department:	Biology
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	3 / 19 (15.79%)

<b>^</b>	Further the Overtime				Aubrey F	rantz		
Cour	se Evaluation Questions			Respo	nses (%)		In	dividual
		s	) C	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	C	(	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	C	(	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	C	(	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	C	(	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	C	(	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	C	(	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	C	(	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	C	(	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	C	(	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q10	My instructor provides timely feedback to guide my progress.	C	(	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	C	(	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	C	(	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	C	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	C	(	0	1 33.3%	2 66.7%	3	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagr	ree=2 [N] Neither Ag	ree c	r Disagree=	3 [ <b>A</b> ] Agree	=4 [ <b>SA</b> ] S	Strong	ly Agree=!

Fall 2016 Course Evaluation Survey-16 Week	University of North Texas at Dallas
6168 - Fall 2016 - 1	UNT-Dallas

Course:	BIOL - 4260 030 - Principles of Evolution	Department:	Biology
Responsible Faculty:	Donna Hamilton	Responses / Expected:	2 / 4 (50%)

- Our-stires			Do	onna	Hamilto	n	
rse Evaluation Questions				es (9	%)	Inc	dividual
	SD	D	N	Α	SA	N	Mean
or explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
or provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
or gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
or provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
or explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
or evaluates my work in ways that are helpful to my ability to learn.	0	1 50%	0	0	1 50%	2	3.5
or establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
or is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
or encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
or provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
or creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
or encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
or encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
or made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0
	de the subject interesting and motivated me to learn.	de the subject interesting and motivated me to learn.	de the subject interesting and motivated me to learn.  0 0	de the subject interesting and motivated me to learn.  0 0 0	de the subject interesting and motivated me to learn.  0 0 0 0	de the subject interesting and motivated me to learn.  0 0 0 0 0 100%  2 100%	de the subject interesting and metivated me to learn

Fall 2016 Course Evaluation Survey-16 Week	
6168 - Fall 2016 - 1	

Course:	BIOL - 4930 030 - Special Problems	Department:	Biology
Responsible Faculty:	Donna Hamilton	Responses / Expected:	1 / 2 (50%)

Corr	rse Evaluation Questions				Donna H	amilton		
Cou	se Evaluation Questions		Re	spo	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 100%	0	0	0	0	1	1.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course:	BIOL - 5090 001 - Animal Behavior	Department:	Biology
Responsible Faculty:	Donna Hamilton	Responses / Expected:	4 / 5 (80%)

Cou	rse Evaluation Questions				onna Ha	milton		
			Re	espons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	3 75%	0	4	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	2 50%	1 25%	4	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	2 50%	1 25%	4	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	2 50%	1 25%	4	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	2 50%	1 25%	4	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 75%	1 25%	4	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 75%	1 25%	4	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	3 75%	1 25%	4	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 25%	0	0	2 50%	1 25%	4	3.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 75%	1 25%	4	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 75%	1 25%	4	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 75%	1 25%	4	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					BIOL - 50	090 - 001	Survey Comparisons				
				Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	1.2K	4.4	46
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	1.7K	4.5	38

Course	BLAW - 3430 001 - Legal and Ethical Environment of Business	Department:	Business L
Responsible Faculty	Sharon Fjordbak	Responses / Expected:	14 / 29 (48.28%)

٥	Production Occupion			Sha	aron Fjord	lbak		
Cour	se Evaluation Questions		Re	esponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 7.1%	0	1 7.1%	1 7.1%	11 78.6%	14	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 7.1%	0	1 7.1%	2 14.3%	10 71.4%	14	4.4
Q4	My instructor provides material that helps me do well on assignments.	1 7.1%	0	0	1 7.1%	12 85.7%	14	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.1%	1 7.1%	0	0	12 85.7%	14	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.1%	0	1 7.1%	1 7.1%	11 78.6%	14	4.5
Q7	My instructor establishes a climate of respect for students.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6
Q8	My instructor is available to me on matters pertaining to the course.	1 7.1%	0	1 7.1%	2 14.3%	10 71.4%	14	4.4
Q9	My instructor encourages me to do my best work.	1 7.1%	0	1 7.1%	1 7.1%	11 78.6%	14	4.5
Q10	My instructor provides timely feedback to guide my progress.	1 7.1%	0	1 7.1%	1 7.1%	11 78.6%	14	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.1%	1 7.1%	0	1 7.1%	11 78.6%	14	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 7.1%	1 7.1%	0	1 7.1%	11 78.6%	14	4.4
Q13	My instructor encourages me to develop new viewpoints.	1 7.1%	1 7.1%	1 7.1%	2 14.3%	9 64.3%	14	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.1%	1 7.1%	0	1 7.1%	11 78.6%	14	4.4

				BI	LAW - 3430	0 - 001			Survey Comparisons			
La	Labs and Online Learning Questions			Respon	ıses (%)		(	Course	All			
		SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	1.2K	4.4	56	
Q1	The course topics are organized in a coherent fashion.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	1.7K	4.5	24	

Course:	BLAW - 3430 002 - Legal and Ethical Environment of Business	Department:	Business L
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	20 / 31 (64.52%)

Cour	rse Evaluation Questions			;	Sharon	Fjordba	k	
Cour	se Evaluation Questions		Re	espon	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 15%	17 85%	20	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 10%	18 90%	20	4.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 20%	16 80%	20	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 15%	17 85%	20	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 15%	17 85%	20	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 20%	16 80%	20	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 10%	18 90%	20	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 10%	18 90%	20	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	3 15%	17 85%	20	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 5%	1 5%	18 90%	20	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 5%	19 95%	20	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 10%	18 90%	20	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 10%	18 90%	20	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 10%	18 90%	20	4.9

Labs and Online Learning Questions				BL	.AW	- 3430 - 0	02	Survey Comparisons			
			Res	pons	ses (	(%)		Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	1.2K	4.4	87
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	9 100%	9	5.0	1.7K	4.5	86

Course:	BLAW - 3430 003 - Legal and Ethical Environment of Business	Department:	Business L
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	13 / 30 (43.33%)

	Further the Constitute			Sh	aron Fjor	dbak		
Cour	se Evaluation Questions			Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 15.4%	11 84.6%	13	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	5 38.5%	0	8 61.5%	13	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 25%	9 75%	12	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 7.7%	2 15.4%	2 15.4%	8 61.5%	13	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	2 15.4%	1 7.7%	10 76.9%	13	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q9	My instructor encourages me to do my best work.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 7.7%	1 7.7%	1 7.7%	10 76.9%	13	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 7.7%	1 7.7%	2 15.4%	9 69.2%	13	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 38.5%	8 61.5%	13	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				BL	.AW	- 3430 - 0	03		Survey Comparisons			
La	Labs and Online Learning Questions		Res	pons	ses	(%)		Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	1.2K	4.4	87	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	1.7K	4.5	86	

Course:	BLAW - 3430 004 - Legal and Ethical Environment of Business	Department:	Business L
Responsible Faculty:	Phillip Umphres	Responses / Expected:	2 / 16 (12.50%)

Cour	se Evaluation Questions					lip Umphr		
			_	·	ses	, ,		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				BL	.AW	- 3430 - 0	04		Survey Comparisons				
Lal	s and Online Learning Questions		Res	pons	ses (	(%)		Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	1.2K	4.4	87		
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	1.7K	4.5	86		

Course:	BUSI - 4940 011 - Business Policy	Department:	Business A
Responsible Faculty:	Isaura Flores	Responses / Expected:	16 / 36 (44.44%)

Cou	rse Evaluation Questions				Isaura Flo	ores		
				Respons	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 12.5%	0	1 6.3%	2 12.5%	11 68.8%	16	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 12.5%	0	0	2 12.5%	12 75%	16	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	2 12.5%	0	0	2 12.5%	12 75%	16	4.4
Q4	My instructor provides material that helps me do well on assignments.	2 12.5%	0	0	2 12.5%	12 75%	16	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 12.5%	0	0	3 18.8%	11 68.8%	16	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 12.5%	0	1 6.3%	1 6.3%	12 75%	16	4.3
Q7	My instructor establishes a climate of respect for students.	2 12.5%	0	1 6.3%	3 18.8%	10 62.5%	16	4.2
Q8	My instructor is available to me on matters pertaining to the course.	2 12.5%	0	0	4 25%	10 62.5%	16	4.3
Q9	My instructor encourages me to do my best work.	2 12.5%	0	0	3 18.8%	11 68.8%	16	4.3
Q10	My instructor provides timely feedback to guide my progress.	2 12.5%	0	0	1 6.3%	13 81.3%	16	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 12.5%	0	1 6.3%	2 12.5%	11 68.8%	16	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 12.5%	0	0	4 25%	10 62.5%	16	4.3
Q13	My instructor encourages me to develop new viewpoints.	2 12.5%	0	0	3 18.8%	11 68.8%	16	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	2 12.5%	0	0	2 12.5%	12 75%	16	4.4

	Labs and Online Learning Questions				BUSI - 494	10 - 011		Survey Comparisons				
Lab			Responses (%)						All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4	1.2K	4.4	48	
Q16	The course topics are organized in a coherent fashion.	1 7.7%	0	0	2 15.4%	10 76.9%	13	4.5	1.7K	4.5	50	

Course:	CDFS - 1013 040 - Human Development	Department:	Child Dev
Responsible Faculty:	Nedra Washington	Responses / Expected:	5 / 11 (45.45%)

_				Nec	lra Was	hington		
Cour	se Evaluation Questions		R	esponse	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	0	4 80%	5	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	0	4 80%	5	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 20%	0	0	4 80%	5	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CDFS - 1	013 - 040	Survey Comparisons					
Lal	os and Online Learning Questions			Res	ponses (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	1.2K	4.4	87	
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	1.7K	4.5	58	

Course:	CDFS - 3113 041 - Infant and Toddler Development	Department:	Child Dev
Responsible Faculty:	Daphne Harris	Responses / Expected:	6 / 19 (31.58%)

Cour	se Evaluation Questions			_		e Harris		
		SD	_		oonses (% A	SA		dividual Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	N 6	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	6 100%	6	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	6 100%	6	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	6 100%	6	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0

Labs and Online Learning Questions				CD	FS - 311	3 - 041	Survey Comparisons					
			F	Respons	es (%)		(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	1 20%	0	4 80%	5	4.6	1.2K	4.4	63	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	1.7K	4.5	69	

Course:	CDFS - 3123 041 - Child Development	Department:	Child Dev
Responsible Faculty:	Akhtari Chowdhury	Responses / Expected:	5 / 17 (29.41%)

Com	rse Evaluation Questions				Akhtari	Chowdhu	•	
Cou	SE LY aluation Questions		R	esp	onses (9	%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8

				CD	FS - 312	23 - 041	Survey Comparisons					
Lab	Labs and Online Learning Questions		Responses (%				(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1!	The section or lab is well integrated into the course structure.	0	0	1 25%	0	3 75%	4	4.5	1.2K	4.4	56	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	1.7K	4.5	65	

Course:	CDFS - 3300 040 - Family Theories	Department:	Child Dev
Responsible Faculty:	Leslie Griffin	Responses / Expected:	11 / 28 (39.29%)

Cou	se Evaluation Questions		Re	Le sponse:	slie Griff s (%)	in	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 18.2%	1 9.1%	4 36.4%	4 36.4%	11	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 18.2%	0	5 45.5%	4 36.4%	11	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	7 63.6%	4 36.4%	11	4.4
Q4	My instructor provides material that helps me do well on assignments.	1 9.1%	0	1 9.1%	5 45.5%	4 36.4%	11	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 18.2%	1 9.1%	4 36.4%	4 36.4%	11	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 9.1%	1 9.1%	5 45.5%	4 36.4%	11	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	0	7 63.6%	4 36.4%	11	4.4
Q8	My instructor is available to me on matters pertaining to the course.	1 9.1%	0	0	6 54.5%	4 36.4%	11	4.1
Q9	My instructor encourages me to do my best work.	1 9.1%	0	1 9.1%	5 45.5%	4 36.4%	11	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 9.1%	0	6 54.5%	4 36.4%	11	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	7 63.6%	4 36.4%	11	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 9.1%	0	6 54.5%	4 36.4%	11	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 18.2%	0	5 45.5%	4 36.4%	11	4.0

				CE	DFS - 33		Survey Comparisons						
Lab	s and Online Learning Questions		Res	oons	es (%)		C	ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	1 10%	0	5 50%	4 40%	10	4.2	1.2K	4.4	41		
Q16	The course topics are organized in a coherent fashion.	0	0	0	6 60%	4 40%	10	4.4	1.7K	4.5	41		

Course:	CDFS - 3305 041 - Family Development	Department:	Child Dev
Responsible Faculty:	Janice Moore	Responses / Expected:	6 / 25 (24%)

Cour	se Evaluation Questions				Janic	e Moore	•	
Cour	se Evaluation Questions		Re	spo	nses (%	)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 50%	3 50%	6	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 50%	3 50%	6	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	3 50%	3 50%	6	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 50%	3 50%	6	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 50%	3 50%	6	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 50%	3 50%	6	4.5

					CDFS - 3	305 - 041		Survey Comparisons						
Lab	s and Online Learning Questions			Res	ponses (%)	)	(	Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	1.2K	4.4	46			
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 75%	1 25%	4	4.3	1.7K	4.5	35			

Course:	CDFS - 3310 041 - Family Crisis	Department:	Child Dev
Responsible Faculty:	Janice Moore	Responses / Expected:	9 / 27 (33.33%)

Cou	rse Evaluation Questions					e Moore		
			_		ponses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 55.6%	4 44.4%	9	4.4

Labs and Online Learning Questions				(	CDFS - 3	310 - 04	1		Survey Comparisons				
			Re	spo	nses (%)	)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q15 The section or lab is well integrated into the course structure.	0	0	0	3 50%	3 50%	6	4.5	1.2K	4.4	56		
C	Q16 The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	1.7K	4.5	46		

Course:	CDFS - 4333 040 - Family Resource Management	Department:	Child Dev
Responsible Faculty:	Leslie Griffin	Responses / Expected:	6 / 30 (20%)

٠	se Evaluation Questions			Les	slie Griffi	n		
Cour	se Evaluation Questions		R	esponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 50%	3 50%	6	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 50%	3 50%	6	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	3 50%	3 50%	6	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 50%	3 50%	6	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 50%	3 50%	6	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2

				CD	FS - 433	33 - 040	Survey Comparisons				
Lab	Labs and Online Learning Questions		F	Respons	ses (%)		(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 20%	1 20%	3 60%	5	4.4	1.2K	4.4	49
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	1.7K	4.5	41

Course:	CDFS - 4340 040 - Occupational and Ethical Issues	Department:	Child Dev
Responsible Faculty:	Nedra Washington	Responses / Expected:	6 / 12 (50%)

Cour	se Evaluation Questions					ashingtor		
					ponses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7

				(	CDFS - 4	340 - 04	0		Survey Comparisons			
	Labs and Online Learning Questions			Re	spo	nses (%)		(	Course	All		
			SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q15	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	1.2K	4.4	63
	Q16	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	1.7K	4.5	52

Course:	CDFS - 4413 040 - Family Life Education	Department:	Child Dev
Responsible Faculty:	Nedra Washington	Responses / Expected:	6 / 14 (42.86%)

				ı	Nedra Wa	shington		
Coui	rse Evaluation Questions		Re	espo	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor provides timely feedback to guide my progress.	1 16.7%	0	0	0	5 83.3%	6	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8

					CDFS - 4		0		Survey Comparisons			
Labs	s and Online Learning Questions		Re	spo	nses (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	1.2K	4.4	72	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	1.7K	4.5	69	

Course:	CHEM - 1360 030 - Context of Chemistry	Department:	Chemistry
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	10 / 23 (43.48%)

Cou	se Evaluation Questions					Yousufu		
			1	•	ises (%)			lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 20%	8 80%	10	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 10%	9 90%	10	4.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	10 100%	10	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 30%	7 70%	10	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 20%	8 80%	10	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	1 10%	8 80%	10	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	10 100%	10	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 10%	9 90%	10	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	2 20%	8 80%	10	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 20%	8 80%	10	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	10 100%	10	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 20%	8 80%	10	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 10%	9 90%	10	4.9

				CH	IEM	- 1360 - 0	30		Survey Comparisons				
La	Labs and Online Learning Questions		Res	pons	ses	(%)		Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	9 100%	9	5.0	1.2K	4.4	87		
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	9 100%	9	5.0	1.7K	4.5	86		

Course:	CHEM - 1360 330 - Context of Chemistry	Department:	Chemistry
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	9 / 23 (39.13%)

_				Muha	ammed Y	ousufudd	in	
Cou	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	9 100%	9	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	9 100%	9	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	9 100%	9	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	9 100%	9	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	0	8 88.9%	9	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9

	Labs and Online Learning Questions		CHEM - 1360 - 330							Survey Comparisons			
Lab			Responses (%)			)	Course		All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 11.1%	8 88.9%	9	4.9	1.2K	4.4	74		
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 11.1%	8 88.9%	9	4.9	1.7K	4.5	72		

Course:	CHEM - 1410 001 - General Chemistry for Science Majors	Department:	Chemistry
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	9 / 28 (32.14%)

Com	se Evaluation Questions			Muh	ammed Y	ousufudd	in	
Coul	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 44.4%	5 55.6%	9	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 44.4%	5 55.6%	9	4.6

Labs and Online Learning Questions				СНІ	EM - 1410	Survey Comparisons					
				Respons	es (%)		Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	1.2K	4.4	46
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	1.7K	4.5	46

Course:	CHEM - 1410 201 - General Chemistry for Science Majors	Department:	Chemistry
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	9 / 27 (33.33%)

_				Muh	ammed Y	ousufudd	in	
Cour	se Evaluation Questions			Respor	ıses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 55.6%	4 44.4%	9	4.4

					CHEM - 1	410 - 201	Survey Comparisons				
Labs	Labs and Online Learning Questions		Responses (%)			)		Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	4 57.1%	3 42.9%	7	4.4	1.2K	4.4	50
Q16	The course topics are organized in a coherent fashion.	0	0	0	4 57.1%	3 42.9%	7	4.4	1.7K	4.5	42

Course:	CHEM - 1430 001 - Laboratory Sequence for General Chemistry	Department:	Chemistry
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	9 / 24 (37.50%)

٥	Furthering Occasions			Muh	ammed Y	ousufudd	in	
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 33.3%	6 66.7%	9	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				CI	HEM - 143	Survey Comparisons					
		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	1.2K	4.4	50
Q16	The course topics are organized in a coherent fashion.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	1.7K	4.5	51

Course:	CHEM - 2370 001 - Organic Chemistry	Department:	Chemistry
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	3 / 12 (25%)

Cou	rse Evaluation Questions				luhammed			
					ponses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7

	Labs and Online Learning Questions			C	HEM - 2	2370 - 00	)1		Survey Comparisons					
La			Re	spo	nses (%)	)	(	Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	1.2K	4.4	56			
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	1.7K	4.5	46			

Course:	CHEM - 2370 201 - Organic Chemistry	Department:	Chemistry
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	3 / 12 (25%)

Cour	se Evaluation Questions				amn ses	ned Yous		lin dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

				CH	IEM	- 2370 - 2	201	Survey Comparisons				
La	Labs and Online Learning Questions		Res	pons	ses	(%)		Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	1.2K	4.4	87	
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	1.7K	4.5	86	

Course:	CHEM - 3210 001 - Organic Chemistry Laboratory	Department:	Chemistry
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	3 / 12 (25%)

Cour	se Evaluation Questions				amn ses	ned Yous		lin dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

				CH	IEM	- 3210 - 0	01		Survey Comparisons				
La	Labs and Online Learning Questions		Responses (					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	1.2K	4.4	87		
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	1.7K	4.5	86		

Course:	CJUS - 2100 001 - Crime and Justice in the United States	Department:	Criminal J
Responsible Faculty:	John Coleman	Responses / Expected:	3 / 18 (16.67%)

٥	Furbration Occasions				John Col	eman		
Cour	se Evaluation Questions			Respor	ıses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C	JUS	- 2100 - 0	01		Survey Comparisons				
La	Labs and Online Learning Questions		Res	pons	ses (	(%)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	1.2K	4.4	87		
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	1.7K	4.5	86		

Course:	CJUS - 2100 030 - Crime and Justice in the United States	Department:	Criminal J
Responsible Faculty:	Nahid Siddique	Responses / Expected:	8 / 30 (26.67%)

Cou	se Evaluation Questions				hid Siddio	que		
ooui	Se Lydidation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	1 12.5%	1 12.5%	0	6 75%	8	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4
Q9	My instructor encourages me to do my best work.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	1 12.5%	6 75%	8	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8

				C	JUS	- 2100 - 0	30		Survey Comparisons			
La	Labs and Online Learning Questions		Res	pons	ses	(%)	Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	1.2K	4.4	87	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	1.7K	4.5	86	

Course:	CJUS - 2100 031 - Crime and Justice in the United States	Department:	Criminal J
Responsible Faculty:	Joe Herrera	Responses / Expected:	9 / 28 (32.14%)

۰	as Fusivation Overtions				Joe Hei	rera		
Cour	se Evaluation Questions			Respon	ıses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8

	Labs and Online Learning Questions				CJUS - 2	100 - 031	Survey Comparisons				
Lal				Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	1.2K	4.4	87
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	1.7K	4.5	72

Course:	CJUS - 2300 001 - Fundamentals in Criminal Law	Department:	Criminal J
Responsible Faculty:	Erleigh Wiley	Responses / Expected:	6 / 15 (40%)

٥	Furbration Occasions				Erleigh \	Viley		
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 50%	3 50%	6	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(	CJUS - 230	00 - 00	)1		Survey Comparisons				
Lal	Labs and Online Learning Questions		Re	spo	nses (%)		(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	1.2K	4.4	34		
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	1.7K	4.5	24		

Course:	CJUS - 2300 030 - Fundamentals in Criminal Law	Department:	Criminal J
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	2 / 9 (22.22%)

_				Gre	tchen F	Hackard		
Cou	rse Evaluation Questions		Re	esponse	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 50%	0	0	1 50%	2	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 50%	0	1 50%	2	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C.	JUS	- 2300 - 0	30		Survey Comparisons			
La	Labs and Online Learning Questions		Responses (%					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	1.2K	4.4	87	
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	1.7K	4.5	86	

Fall 2016 Course Evaluation Survey-16 Week	University of North Texas at Dallas
6168 - Fall 2016 - 1	UNT-Dallas

Course:	CJUS - 2301 001 - Correctional Systems and Practices	Department:	Criminal J
Responsible Faculty:	John Coleman	Responses / Expected:	4 / 7 (57.14%)

C	se Evaluation Ouestions				John	Coleman	1	
Cour	se Evaluation Questions		R	esp	onses (9	%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disa	agree	e=3	A] Agre	e=4 [ <b>SA</b> ] :	Strong	Jly Agree=5

Fall 2016 Course Evaluation Survey-16 Week	University of North Texas at Dallas
6168 - Fall 2016 - 1	UNT-Dallas

Course:	CJUS - 2301 030 - Correctional Systems and Practices	Department:	Criminal J
Responsible Faculty:	Ralph Yates	Responses / Expected:	1 / 5 (20%)

Evaluation Questions			Ralph Yates								
				nses (%)		ln	dividual				
	SD	D	N	Α	SA	N	Mean				
ly instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0				
ly instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0				
ly instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0				
ly instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0				
ly instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0				
ly instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0				
ly instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0				
ly instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0				
ly instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0				
ly instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0				
ly instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0				
ly instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0				
ly instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0				
fy instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0				
	Ay instructor provides facts, examples, and references that helped me learn the material.  All y instructor gives assignments that contribute to my understanding of the subject.  All y instructor provides material that helps me do well on assignments.  All y instructor explains new ideas by relating them to familiar concepts.  All y instructor evaluates my work in ways that are helpful to my ability to learn.  All y instructor establishes a climate of respect for students.  All y instructor is available to me on matters pertaining to the course.  All y instructor encourages me to do my best work.  All y instructor provides timely feedback to guide my progress.  All y instructor creates an atmosphere in which ideas can be exchanged freely.  All y instructor encourages me to connect course topics to a wider understanding of the subject.  All y instructor encourages me to develop new viewpoints.  All y instructor made the subject interesting and motivated me to learn.	All instructor provides facts, examples, and references that helped me learn the material.  Output instructor gives assignments that contribute to my understanding of the subject.  Output instructor provides material that helps me do well on assignments.  Output instructor explains new ideas by relating them to familiar concepts.  Output instructor evaluates my work in ways that are helpful to my ability to learn.  Output instructor establishes a climate of respect for students.  Output instructor is available to me on matters pertaining to the course.  Output instructor encourages me to do my best work.  Output instructor provides timely feedback to guide my progress.  Output instructor creates an atmosphere in which ideas can be exchanged freely.  Output instructor encourages me to connect course topics to a wider understanding of the subject.  Output instructor encourages me to develop new viewpoints.  Output instructor made the subject interesting and motivated me to learn.	Any instructor provides facts, examples, and references that helped me learn the material.  O 0 0 Any instructor gives assignments that contribute to my understanding of the subject.  O 0 0 Any instructor provides material that helps me do well on assignments.  O 0 0 Any instructor explains new ideas by relating them to familiar concepts.  O 0 Any instructor evaluates my work in ways that are helpful to my ability to learn.  O 0 Any instructor establishes a climate of respect for students.  O 0 Any instructor is available to me on matters pertaining to the course.  O 0 Any instructor encourages me to do my best work.  O 0 Any instructor provides timely feedback to guide my progress.  O 0 Any instructor creates an atmosphere in which ideas can be exchanged freely.  O 0 Any instructor encourages me to connect course topics to a wider understanding of the subject.  O 0 Any instructor encourages me to develop new viewpoints.  O 0 Any instructor made the subject interesting and motivated me to learn.	All instructor provides facts, examples, and references that helped me learn the material.  0 0 0  All instructor gives assignments that contribute to my understanding of the subject.  0 0 0  All instructor provides material that helps me do well on assignments.  0 0 0  All instructor explains new ideas by relating them to familiar concepts.  0 0 0  All instructor evaluates my work in ways that are helpful to my ability to learn.  0 0 0  All instructor establishes a climate of respect for students.  0 0 0  All instructor is available to me on matters pertaining to the course.  0 0 0  All instructor encourages me to do my best work.  0 0 0  All instructor provides timely feedback to guide my progress.  0 0 0  All instructor creates an atmosphere in which ideas can be exchanged freely.  0 0 0  All instructor encourages me to connect course topics to a wider understanding of the subject.  0 0 0  All instructor encourages me to develop new viewpoints.  0 0 0  All instructor made the subject interesting and motivated me to learn.  0 0 0  0 0  0 0  0 0 0	All prinstructor provides facts, examples, and references that helped me learn the material.  10 0 0 1 100%  All prinstructor gives assignments that contribute to my understanding of the subject.  10 0 0 0 1 100%  All prinstructor provides material that helps me do well on assignments.  10 0 0 0 1 100%  All prinstructor explains new ideas by relating them to familiar concepts.  10 0 0 0 1 100%  All prinstructor evaluates my work in ways that are helpful to my ability to learn.  10 0 0 0 1 100%  All prinstructor evaluates my work in ways that are helpful to my ability to learn.  10 0 0 0 1 100%  All prinstructor establishes a climate of respect for students.  10 0 0 0 1 100%  All prinstructor is available to me on matters pertaining to the course.  10 0 0 0 1 100%  All prinstructor encourages me to do my best work.  10 0 0 1 100%  All prinstructor provides timely feedback to guide my progress.  10 0 0 0 1 100%  All prinstructor recates an atmosphere in which ideas can be exchanged freely.  11 0 0 0 0 1 100%  All prinstructor encourages me to connect course topics to a wider understanding of the subject.  12 0 0 0 1 100%  All prinstructor encourages me to develop new viewpoints.  13 0 0 0 0 1 100%  All prinstructor made the subject interesting and motivated me to learn.	All instructor provides facts, examples, and references that helped me learn the material.  10 0 1 1 100%  All instructor gives assignments that contribute to my understanding of the subject.  10 0 1 1 100%  All instructor provides material that helps me do well on assignments.  10 0 1 1 100%  10 1 100%  11 100%  10 1 1 100%  10 1 100%  11 100%  10 100%  10 100%  10	All instructor provides facts, examples, and references that helped me learn the material.  10 0 0 1 1000%				

Course:	CJUS - 2301 031 - Correctional Systems and Practices	Department:	Criminal J
Responsible Faculty:	Ryan Garman	Responses / Expected:	1 / 5 (20%)

Cour	se Evaluation Questions				•	Garman		
		SD	D	esp N	onses (% A	) SA	In N	dividual Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

				C.	JUS	- 2301 - 0	31	Survey Comparisons			
Lab	abs and Online Learning Questions		Responses (%)					Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	1.2K	4.4	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	1.7K	4.5	86

Course:	CJUS - 2302 001 - Police Systems and Practices	Department:	Criminal J
Responsible Faculty:	Paul Reynolds	Responses / Expected:	6 / 8 (75%)

Cour	se Evaluation Questions			Pa Response	ul Reyno	lds	In	dividual
		SD	D	N	A A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q7	My instructor establishes a climate of respect for students.	0	1 16.7%	0	0	5 83.3%	6	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C.	JUS	- 2302 - 0	01		Survey Comparisons			
Labs	abs and Online Learning Questions		Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	1.2K	4.4	-	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	1.7K	4.5	86	

Course:	CJUS - 2302 030 - Police Systems and Practices	Department:	Criminal J
Responsible Faculty:	Ralph Yates	Responses / Expected:	1 / 8 (12.50%)

Cou	rse Evaluation Questions				s			
oou.	oc Lituation Questions		Res	pon	ses	, ,	ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

Labs and Online Learning Questions				C.	JUS	- 2302 - 0	30	Survey Comparisons				
		Responses (%)						Course	All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	1.2K	4.4	87	
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	1.7K	4.5	86	

Fall 2016 Course Evaluation Survey-16 Week
6168 - Fall 2016 - 1

Course:	CJUS - 2302 031 - Police Systems and Practices	Department:	Criminal J
Responsible Faculty:	Mark Stallo	Responses / Expected:	1 / 2 (50%)

Cou	se Evaluation Questions			Individual				
				sponses				
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	1 100%	0	0	0	1	2.0
Q9	My instructor encourages me to do my best work.	0	0	1 100%	0	0	1	3.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 100%	0	0	0	1	2.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 100%	0	0	1	3.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 100%	0	0	1	3.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 100%	0	0	1	3.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0

Course:	CJUS - 2600 001 - Diversity Issues in Criminal Justice	Department:	Criminal J
Responsible Faculty:	James Williams	Responses / Expected:	8 / 34 (23.53%)

Cour	se Evaluation Questions							
				Resp	onses (%	<b>.</b> )	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	8 100%	8	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	8 100%	8	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	8 100%	8	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 25%	6 75%	8	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	8 100%	8	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	8 100%	8	5.0

Labs and Online Learning Questions				(	CJUS - 260	00 - 00	1		Survey Comparisons				
		Responses (%)						Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	1.2K	4.4	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	1.7K	4.5	24		

Course:	CJUS - 2600 030 - Diversity Issues in Criminal Justice	Department:	Criminal J
Responsible Faculty:	Stephen Bishopp	Responses / Expected:	12 / 27 (44.44%)

_					Stephen E	Bishopp		
Cour	se Evaluation Questions		Re	spo	nses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	7 58.3%	5 41.7%	12	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 58.3%	5 41.7%	12	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	7 58.3%	5 41.7%	12	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	7 58.3%	5 41.7%	12	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	8 66.7%	4 33.3%	12	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 8.3%	0	7 58.3%	4 33.3%	12	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	0	6 50%	6 50%	12	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	1 8.3%	0	6 50%	5 41.7%	12	4.3
Q9	My instructor encourages me to do my best work.	0	1 8.3%	0	6 50%	5 41.7%	12	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 8.3%	0	6 50%	5 41.7%	12	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	8 66.7%	4 33.3%	12	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 54.5%	5 45.5%	11	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	7 58.3%	5 41.7%	12	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	6 50%	6 50%	12	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			C.	JUS - 2600		Survey Comparisons				
Labs			Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	4 66.7%	2 33.3%	6	4.3	1.2K	4.4	46
Q16	The course topics are organized in a coherent fashion.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1	1.7K	4.5	32

Course:	CJUS - 2600 031 - Diversity Issues in Criminal Justice	Department:	Criminal J
Responsible Faculty:	Mark Stallo	Responses / Expected:	5 / 26 (19.23%)

Cour	se Evaluation Questions				Mark S	Stallo			
Cour	se Evaluation Questions		F	espons	es (%)		In	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	3 60%	2 40%	5	4.4	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 60%	2 40%	5	4.4	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 60%	2 40%	5	4.4	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 60%	2 40%	5	4.4	
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 60%	2 40%	5	4.4	
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6	
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	2 40%	2 40%	5	4.2	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6	

Labs and Online Learning Questions				C	JUS	- 2600 - 0	31		Survey Comparisons			
			pons	ses (	(%) Course				All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	1.2K	4.4	87	
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	1.7K	4.5	86	

Course:	CJUS - 3201 001 - Criminal Law	Department:	Criminal J
Responsible Faculty:	Erleigh Wiley	Responses / Expected:	1 / 8 (12.50%)

Cour	se Evaluation Questions					eigh Wile		
Ooui	SE LYAILUATION QUESTIONS			•	ses	(%)	ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
<b>Q</b> 7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				C.	JUS	- 3201 - 0	01		Survey Comparisons			
			Res	pons	ses (	(%)		Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	1.2K	4.4	87	
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	1.7K	4.5	86	

Course:	CJUS - 3201 030 - Criminal Law	Department:	Criminal J
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	4 / 12 (33.33%)

Cour	se Evaluation Questions				Gretche			
oou.	oc Paladion Gaestions				nses (%	_		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 75%	1 25%	4	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					CJUS - 3	201 - 030		Survey Comparisons				
				Res	sponses (%)			Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	1.2K	4.4	34	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	1.7K	4.5	58	

Course:	CJUS - 3300 001 - Police Systems	Department:	Criminal J
Responsible Faculty:	Paul Reynolds	Responses / Expected:	1 / 2 (50%)

				Paul	Reynolo	ls		
Cou	se Evaluation Questions		Res	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 100%	0	0	1	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 100%	0	0	1	3.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 100%	0	0	1	3.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 100%	0	0	1	3.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 100%	0	0	0	1	2.0
Q7	My instructor establishes a climate of respect for students.	1 100%	0	0	0	0	1	1.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 100%	0	0	0	1	2.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 100%	0	0	0	0	1	1.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	1 100%	0	0	0	1	2.0
Q14	My instructor made the subject interesting and motivated me to learn.	1 100%	0	0	0	0	1	1.0

				CJUS -	- 33	00 - 00	1		Survey Comparisons				
Lab	and Online Learning Questions	Responses (%)						Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	1.2K	4.4	-		
Q16	The course topics are organized in a coherent fashion.	0	0	1 100%	0	0	1	3.0	1.7K	4.5	11		

Course:	CJUS - 3300 030 - Police Systems	Department:	Criminal J
Responsible Faculty:	Ralph Yates	Responses / Expected:	5 / 18 (27.78%)

Cou	rse Evaluation Questions					h Yates		
- Ou	oc Lituation Questions		_		onses (9			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8

Labs and Online Learning Questions					CJUS - 3	300 - 030	Survey Comparisons					
				Res	ponses (%	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	1.2K	4.4	34	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	1.7K	4.5	58	

Course:	CJUS - 3330 030 - Introduction to Criminalistics	Department:	Criminal J
Responsible Faculty:	Ralph Yates	Responses / Expected:	8 / 29 (27.59%)

Cou	rse Evaluation Questions					h Yates		
					ponses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 25%	6 75%	8	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 25%	6 75%	8	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 25%	6 75%	8	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 25%	6 75%	8	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 25%	6 75%	8	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 25%	6 75%	8	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 25%	6 75%	8	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CJUS - 3	330 - 030	Survey Comparisons				
Lal	Labs and Online Learning Questions			Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	1.2K	4.4	72
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	1.7K	4.5	63

Course:	CJUS - 3350 030 - Statistics in Criminal Justice	Department:	Criminal J
Responsible Faculty:	Aaron Bartula	Responses / Expected:	9 / 30 (30%)

C	rea Fuel vetien Overtiens			Δ	aron Bart	tula		
Cou	rse Evaluation Questions			Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 11.1%	0	1 11.1%	2 22.2%	5 55.6%	9	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q4	My instructor provides material that helps me do well on assignments.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q7	My instructor establishes a climate of respect for students.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q8	My instructor is available to me on matters pertaining to the course.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q9	My instructor encourages me to do my best work.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q10	My instructor provides timely feedback to guide my progress.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q13	My instructor encourages me to develop new viewpoints.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	1 11.1%	0	1 11.1%	3 33.3%	4 44.4%	9	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs	s and Online Learning Questions		Re		CJUS - 335 nses (%)	0 - 030	Course	Survey Comparisons All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 20%	0	0	2 40%	2 40%	5	3.8	1.2K	4.4	27
Q16	The course topics are organized in a coherent fashion.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	1.7K	4.5	34

Course:	CJUS - 3400 030 - Correctional Systems and Practices	Department:	Criminal J
Responsible Faculty:	Ralph Yates	Responses / Expected:	1 / 10 (10%)

Com	rse Evaluation Questions					1 Yates		
Ooui	se Evaluation Questions		F	Resp	onses (%	)	ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0

				C.	JUS	- 3400 - 0	30		Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	1.2K	4.4	87		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	1.7K	4.5	86		

Course:	CJUS - 3400 031 - Correctional Systems and Practices	Department:	Criminal J
Responsible Faculty:	Ryan Garman	Responses / Expected:	4 / 6 (66.67%)

Cour	se Evaluation Questions				Ryan G	arman		
Cour	se Evaluation Questions		F	Respons	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	2 50%	1 25%	4	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 75%	1 25%	4	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 75%	1 25%	4	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 50%	1 25%	1 25%	4	3.8
Q7	My instructor establishes a climate of respect for students.	0	0	2 50%	1 25%	1 25%	4	3.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 25%	2 50%	1 25%	4	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	2 50%	1 25%	4	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	2 50%	1 25%	4	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 50%	0	2 50%	4	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

			(	CJUS	3 - 3	400 - 031			Survey Comparisons				
Lab	Labs and Online Learning Questions		Respo	nses	(%)	)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	1.2K	4.4	-		
Q16	The course topics are organized in a coherent fashion.	0	1 33.3%	0	0	2 66.7%	3	4.0	1.7K	4.5	24		

Course:	CJUS - 3600 001 - Criminology. 3600. Criminology	Department:	Criminal J
Responsible Faculty:	Ryan Garman	Responses / Expected:	4 / 23 (17.39%)

Cou	rse Evaluation Questions				•	Garmaı		
Oou	SE EVALUATION QUESTIONS		Re	spo	nses (%	)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CJUS - 3	600 - 001	Survey Comparisons				
Lab	Labs and Online Learning Questions			Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	1.2K	4.4	56
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	1.7K	4.5	58

Course:	CJUS - 3600 030 - Criminology. 3600. Criminology	Department:	Criminal J
Responsible Faculty:	Nahid Siddique	Responses / Expected:	10 / 27 (37.04%)

Cour	se Evaluation Questions				Nahid Si	ddique		
	· · · · · · · · · · · · · · · · · · ·			espons	es (%)		_	ividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	5 50%	5 50%	10	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 40%	6 60%	10	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 50%	5 50%	10	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 40%	6 60%	10	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 50%	5 50%	10	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 40%	6 60%	10	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 40%	6 60%	10	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 10%	3 30%	6 60%	10	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 30%	7 70%	10	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 40%	6 60%	10	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 50%	5 50%	10	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	4 40%	5 50%	10	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions		CJUS - 3600 - 030							Survey Comparisons				
La			Re	spo	nses (%)	)	(	Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q	The section or lab is well integrated into the course structure.	0	0	0	4 80%	1 20%	5	4.2	1.2K	4.4	41			
Q	The course topics are organized in a coherent fashion.	0	0	0	4 50%	4 50%	8	4.5	1.7K	4.5	46			

Course:	CJUS - 3610 001 - Juvenile Justice	Department:	Criminal J
Responsible Faculty:	Michael Santiago	Responses / Expected:	8 / 23 (34.78%)

Cour	se Evaluation Questions			Mi Respons	chael Sar es (%)	ntiago		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q7	My instructor establishes a climate of respect for students.	1 12.5%	0	1 12.5%	2 25%	4 50%	8	4.0
Q8	My instructor is available to me on matters pertaining to the course.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q9	My instructor encourages me to do my best work.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q10	My instructor provides timely feedback to guide my progress.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q13	My instructor encourages me to develop new viewpoints.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3

Labs and Online Learning Questions				CJ	US - 3610	- 001		Survey Comparisons				
			Res	pons	es (%)		(	Course				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	1 100%	0	0	0	0	1	1.0	1.2K	4.4	19	
Q16	The course topics are organized in a coherent fashion.	1 33.3%	0	0	2 66.7%	0	3	3.0	1.7K	4.5	11	

Course:	CJUS - 3610 030 - Juvenile Justice	Department:	Criminal J
Responsible Faculty:	Ralph Yates	Responses / Expected:	11 / 30 (36.67%)

<b>^</b>	Forduction Occasions				Ralph \	ates (		
Cour	se Evaluation Questions			Respo	nses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 18.2%	9 81.8%	11	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7
)6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	0	9 90%	10	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7

					CJUS - 3	610 - 030	Survey Comparisons				
La	os and Online Learning Questions	Responses (%)				)		Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	1.2K	4.4	67
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 22.2%	7 77.8%	9	4.8	1.7K	4.5	67

Course:	CJUS - 3610 031 - Juvenile Justice	Department:	Criminal J
Responsible Faculty:	James Williams	Responses / Expected:	5 / 29 (17.24%)

Cour	se Evaluation Questions				ames W	/illiams		
				Respons				dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 20%	3 60%	1 20%	5	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 80%	1 20%	5	4.2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 80%	1 20%	5	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 80%	1 20%	5	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 80%	1 20%	5	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	3 60%	1 20%	5	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 60%	2 40%	5	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	2 40%	2 40%	5	4.2
Q9	My instructor encourages me to do my best work.	0	0	0	4 80%	1 20%	5	4.2
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 40%	2 40%	1 20%	5	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 60%	2 40%	5	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 80%	1 20%	5	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 80%	1 20%	5	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 60%	2 40%	5	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C.	JUS - 3610	Survey Comparisons					
Labs	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	1.2K	4.4	56
Q16	The course topics are organized in a coherent fashion.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	1.7K	4.5	24

Course:	CJUS - 3700 001 - Ethical Issues in Criminal Justice	Department:	Criminal J
Responsible Faculty:	Paul Reynolds	Responses / Expected:	5 / 23 (21.74%)

Cou	rse Evaluation Questions			Pa	ul Reyr	nolds		
Coul	se Evaluation Questions		Re	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 60%	2 40%	5	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	0	2 40%	2 40%	5	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	2 40%	2 40%	5	4.2
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	2 40%	2 40%	5	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6

				(	CJUS - 370	00 - 00	1		Survey Comparisons				
Lab	Labs and Online Learning Questions		Re	espo	nses (%)		(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	1.2K	4.4	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	1.7K	4.5	24		

Course:	CJUS - 3700 030 - Ethical Issues in Criminal Justice	Department:	Criminal J
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	10 / 31 (32.26%)

Co	rse Evaluation Questions			Gret	chen H	ackard		
Coul	se Evaluation Questions		Re	sponse	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 10%	1 10%	4 40%	4 40%	10	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 10%	4 40%	5 50%	10	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 10%	0	3 30%	6 60%	10	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	1 10%	0	4 40%	5 50%	10	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	5 50%	4 40%	10	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	1 10%	3 30%	5 50%	10	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 50%	5 50%	10	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	5 50%	4 40%	10	4.3
Q9	My instructor encourages me to do my best work.	0	0	1 10%	5 50%	4 40%	10	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	1 10%	3 30%	5 50%	10	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 50%	5 50%	10	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 60%	4 40%	10	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	1 10%	0	5 50%	4 40%	10	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 10%	1 10%	4 40%	4 40%	10	4.1

				C.	JUS - 37	00 - 030		Survey Comparisons				
Labs	Labs and Online Learning Questions		Res	spon	ses (%)		(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	1 25%	0	0	3 75%	0	4	3.3	1.2K	4.4	23	
Q16	The course topics are organized in a coherent fashion.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0	1.7K	4.5	24	

Course:	ACCT - 5200 011 - Professional Ethics and Corporate Governance	Department:	516100
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	1 / 22 (4.55%)

<b>^</b>				S	tephanie	nie Mongiello			
Coui	se Evaluation Questions		Re	spo	nses (%)		In	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0	
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0	
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0	

	abs and Online Learning Questions			,	ACCT - 520	00 - 01	1		Survey Comparisons				
Lab			Re	spo	nses (%)		(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	27	4.7	43		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	46	4.7	14		

Fall 2016 8 WK 1 Course Eva	luation Survey
6168 - Fall 2016 - 8W1	

Course:	AEAH - 1750 001 - Visual Arts Integration	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	2 / 9 (22.22%)

۰	se Evaluation Questions			R	uth Gue	vara		
Cour	se Evaluation Questions		R	esponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 100%	0	0	2	3.0
22	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
<b>Q</b> 3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
25	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	0	1 50%	2	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 50%	1 50%	0	0	2	2.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
28	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 50%	0	1 50%	2	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

Course:	AEAH - 1750 002 - Visual Arts Integration	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	1 / 18 (5.56%)

C	roa Fusivation Overstions				Ruth Gu	evara		
Cou	rse Evaluation Questions			Respon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 100%	0	0	1	3.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

	Labs and Online Learning Questions			AE	АН	- 1750 - 0	02		Survey Comparisons				
Lab			Res	pons	ses	(%)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	27	4.7	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	46	4.7	83		

Course:	ART - 1300 030 - Art Appreciation for non-art majors	Department:	514120
Responsible Faculty:	Pamela Harris	Responses / Expected:	7 / 36 (19.44%)

<b>^</b>	Forbusting Occupiers				Pamela I	larris		
Coui	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	7 100%	7	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	6 100%	6	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	7 100%	7	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6

					ART - 1	300 - 030		Survey Comparisons				
Lab	s and Online Learning Questions		Responses (%)						All			
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	27	4.7	86	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	46	4.7	57	

Course:	CJUS - 5000 030 - Criminal Justice Policy	Department:	514100
Responsible Faculty:	Richard Holden	Responses / Expected:	3 / 13 (23.08%)

Cour	se Evaluation Questions		_			nard Hold		
		SD	Res	pon N	ses	(%) SA	In N	dividual Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

				C.	JUS	- 5000 - 0	30		Survey Comparisons				
L	Labs and Online Learning Questions		Res	pons	ses	(%)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	27	4.7	86		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	46	4.7	83		

Course:	CJUS - 5700 030 - Evaluation and Research Methodologies	Department:	514100
Responsible Faculty:	Paul Reynolds	Responses / Expected:	2 / 10 (20%)

Ca	se Evaluation Questions			P	aul Rey	nolds		
Coul	se Evaluation Questions		R	esponse	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	0	1 50%	2	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 50%	0	0	1 50%	2	3.5

		CJUS - 5700 - 030								Survey Comparisons				
Lab	Labs and Online Learning Questions		R	espo	onses (%	s)	(	Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	27	4.7	86			
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	46	4.7	33			

Course:	ECON - 5140 010 - Managerial Economics	Department:	516100
Responsible Faculty:	Mostafa Malki	Responses / Expected:	3 / 25 (12%)

C	se Evaluation Questions				Mostafa	Malki		
Cour	se Evaluation Questions			Respon	ıses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 100%	0	3	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 100%	0	3	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 100%	0	3	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 100%	0	3	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 100%	0	3	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	3 100%	0	3	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3

Lah	s and Online Learning Questions		_		ECON - 51	40 - 010	-	20	Survey Comparisons			
		SD	D	espo N	onses (%)	SA	N	Course Mean	N	All Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	27	4.7	43	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	46	4.7	33	

Course:	ECON - 5140 011 - Managerial Economics	Department:	516100
Responsible Faculty:	Mostafa Malki	Responses / Expected:	2 / 29 (6.90%)

٥	Full still a Counting			Мо	stafa M	alki		
Cour	se Evaluation Questions		Res	sponses	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	1 50%	0	1 50%	0	2	3.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 50%	0	1 50%	0	2	3.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0
Q9	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	0	1 50%	0	2	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 50%	0	1 50%	0	2	3.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 50%	0	1 50%	0	2	3.0

				EC	ON	- 5140 - 0	11		Survey Comparisons					
Labs and Online Learning Questions		Responses (%)						Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	27	4.7	-			
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	46	4.7	83			

Course:	HSML - 4100 040 - Chemical Addictions	Department:	518000
Responsible Faculty:	Phillip Ortiz	Responses / Expected:	1 / 5 (20%)

Cou	rse Evaluation Questions		_			•	illip Ortiz			
				•	ses	, ,		dividual		
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0		
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0		

Labs	and Online Learning Questions	HSML - 4100 - 040 Responses (%)						Course	Survey Comparisons All			
			D	N	A	SA	N Mean		N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	27	4.7	86	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	46	4.7	83	

Fall 2016 8 WK 1 Course Evaluation Survey	University of North Texas at Dallas
6168 - Fall 2016 - 8W1	UNT-Dallas

Course:	HSML - 4350 041 - Community Organizing, Development and Collaboration	Department:	518000
Responsible Faculty:	Joy Patton	Responses / Expected:	1 / 16 (6.25%)

Joy Patton Course Evaluation Questions										
Cours	e Evaluation Questions			·	onses (%			dividual		
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0		
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0		

Course:	HSML - 4700 041 - Program Planning and Evaluation	Department:	518000
Responsible Faculty:	Joy Patton	Responses / Expected:	4 / 25 (16%)

Cou	se Evaluation Questions			Doene	Joy Pa	atton	Individual		
		SD	D	N	A	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5	
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5	
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3	

					HSML - 47	700 - 04	-	Course	Survey Comparisons				
Lat	s and Online Learning Questions	Responses (%)							All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	27	4.7	43		
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	46	4.7	33		

Course:	MATH - 1100 032 - Algebra	Department:	514160
Responsible Faculty:	Noureen Khan	Responses / Expected:	1 / 16 (6.25%)

Cour	rse Evaluation Questions					en Khan		
		00	_	·	onses (%			dividual
01	My instructor explains difficult material clearly.	<b>SD</b>	0	0	<b>A</b>	<b>SA</b> 0	N 1	Mean 4.0
Ųi	wy instructor explains difficult material clearly.	U	U	U	100%		'	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0

Labs and Online Learning Questions		MATH - 1100 - 032  Responses (%) Course								Survey Comparisons All			
			D	N	A	SA	N Mean		N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	27	4.7	86		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	46	4.7	83		

Course:	MGMT - 3860 011 - Human Resource Management	Department:	516100
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	5 / 29 (17.24%)

۰	se Evaluation Questions			Eliz	abeth I	Muniz		
Cour	se Evaluation Questions		Re	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 20%	0	0	4 80%	5	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor provides timely feedback to guide my progress.	1 20%	0	0	0	4 80%	5	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	0	4 80%	5	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8

	Labs and Online Learning Questions				MGMT - 3	3860 - 011	Survey Comparisons				
Lal				Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	27	4.7	62
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	46	4.7	57

Course:	MGMT - 4180 011 - Workplace Health and Safety	Department:	516100
Responsible Faculty:	Frances Conner	Responses / Expected:	4 / 25 (16%)

Cou	se Evaluation Questions					Conner		
				Respons				dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	1 25%	2 50%	4	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	1 25%	2 50%	4	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	1 25%	0	3 75%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	0	3 75%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

		MGMT - 4180 - 011								Survey Comparisons				
La	Labs and Online Learning Questions			Res	ponses (%)	)	(	Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q.	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	27	4.7	55			
Q.	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	46	4.7	45			

Course:	MGMT - 4300 010 - Recruitment, Selection and Placement	Department:	516100
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	4 / 29 (13.79%)

Cour	se Evaluation Questions					eth Muniz		
				Res	onses (%	<b>b)</b>	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5

	Labs and Online Learning Questions				MGMT - 4	1300 - 010	Survey Comparisons				
Lab				Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	27	4.7	86
Q10	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	46	4.7	21

Course:	MGMT - 4300 011 - Recruitment, Selection and Placement	Department:	516100
Responsible Faculty:	Angela Boston	Responses / Expected:	7 / 10 (70%)

Cour	se Evaluation Questions				Angela B	oston		
Cour	25 Evaluation Greening		Res	pon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 14.3%	0	0	6 85.7%	7	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	7 100%	7	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	7 100%	7	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	7 100%	7	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	7 100%	7	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	7 100%	7	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	7 100%	7	5.0

	Labs and Online Learning Questions				MGMT - 4	1300 - 011	Survey Comparisons				
Lab				Res	Responses (%)			Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1!	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	27	4.7	69
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 14.3%	6 85.7%	7	4.9	46	4.7	64

Course:	MGMT - 5870 010 - Leadership Research and Development	Department:	516100
Responsible Faculty:	Frances Conner	Responses / Expected:	4 / 28 (14.29%)

Cou	rse Evaluation Questions					es Conne		
Oou	se Evaluation Questions		R	espo	onses (9	%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0

					MGMT - 9		Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%				(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q.	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	27	4.7	62
Q.	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	46	4.7	50

Course:	MGMT - 5870 011 - Leadership Research and Development	Department:	516100
Responsible Faculty:	Frances Conner	Responses / Expected:	2 / 14 (14.29%)

Cour	se Evaluation Questions				Franc	es Conne	r	
Cour	se evaluation questions		R	espo	onses (9	6)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

				М	тме	- 5870 - 0	011		Survey Comparisons				
Lab	and Online Learning Questions		Res	pons	ses	(%)		Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	27	4.7	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	46	4.7	83		

Course:	MKTG - 3650 011 - Foundations of Marketing Practice	Department:	516100
Responsible Faculty:	Kathleen Meyer	Responses / Expected:	3 / 26 (11.54%)

Cour	se Evaluation Questions					en Meyer		
					ponses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7

Lal	o and Opline Learning Questions		_		MKTG - 36	550 - 01	_		Survey Comparisons				
Lai	Labs and Online Learning Questions		R	espo	onses (%)			Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	27	4.7	43		
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	46	4.7	33		

Course:	PADM - 5030 030 - Managing Human Resources	Department:	514240
Responsible Faculty:	Karen Jarrell	Responses / Expected:	1 / 12 (8.33%)

Cou	rse Evaluation Questions					Jarrell		
oou.	oc Lituation Questions		F	Resp	onses (%	)	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

				F	PADM - 50	30 - 03	30		Survey Comparisons				
Lab	Labs and Online Learning Questions		Re	espo	sponses (%)			Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	27	4.7	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	46	4.7	14		

Course:	PADM - 5900 030 - Special Problems	Department:	514240
Responsible Faculty:	Dwight Burns	Responses / Expected:	1 / 12 (8.33%)

Cour	rse Evaluation Questions					nt Burns		
			_		onses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

				PA	DM	- 5900 - 0	30		Survey Comparisons					
Lab	and Online Learning Questions	Responses (%)							All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	27	4.7	-			
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	46	4.7	83			

Course:	ART - 1300 033 - Art Appreciation for non-art majors	Department:	Art
Responsible Faculty:	Pamela Harris	Responses / Expected:	4 / 30 (13.33%)

Cou	rse Evaluation Questions					ela Harris		
oou.	oc Lituation Questions		R	esp	onses (9	6)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

Labs and Online Learning Questions		ART - 1300 - 033								Survey Comparisons				
		Responses (%)						Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	49	4.5	60			
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	70	4.6	52			

Course:	BUSI - 5190 010 - Administrative Strategy	Department:	Business A
Responsible Faculty:	Ayse Goktan Bilhan	Responses / Expected:	7 / 17 (41.18%)

Cou	se Evaluation Questions			Ay	/se Gokta	n Bilhan		
Coui	se Evaluation Questions			Respor	ıses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 42.9%	4 57.1%	7	4.6

Labs and Online Learning Questions		BUSI - 5190 - 010								Survey Comparisons				
				Res	ponses (%)	)	Course			All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	49	4.5	60			
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	70	4.6	64			

Course:	CJUS - 5200 030 - Legal Aspects of the Criminal Justice System	Department:	Criminal J
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	4 / 14 (28.57%)

C	rse Evaluation Questions			Greto	hen Hack	card		
Cour	se Evaluation Questions		R	esponses	s (%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 25%	1 25%	1 25%	1 25%	4	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	0	2 50%	1 25%	4	3.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 25%	1 25%	1 25%	1 25%	4	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 50%	1 25%	1 25%	4	3.8
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	2 50%	1 25%	4	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	1 25%	1 25%	1 25%	1 25%	4	3.5
Q9	My instructor encourages me to do my best work.	0	0	1 25%	2 50%	1 25%	4	4.0
Q10	My instructor provides timely feedback to guide my progress.	1 25%	2 50%	1 25%	0	0	4	2.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	0	0	2 50%	1 25%	4	3.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	2 50%	1 25%	4	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	1 25%	0	1 25%	1 25%	1 25%	4	3.3

	and Online Learning Occasions					:00 - 030	_	_	Survey Comparisons				
Lac	Labs and Online Learning Questions		Re	esponses	(%)		(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	49	4.5	21		
Q10	The course topics are organized in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	70	4.6	19		

Course:	CJUS - 5600 030 - Advanced Criminological Theory	Department:	Criminal J
Responsible Faculty:	Nahid Siddique	Responses / Expected:	4 / 12 (33.33%)

C	se Evaluation Questions			N	ahid Sidd	lique		
Cour	se Evaluation Questions		Re	esponse	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	3 75%	1 25%	0	4	3.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	0	3 75%	0	4	3.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	3 75%	0	4	3.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	3 75%	0	4	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 75%	1 25%	0	4	3.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 100%	0	4	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 100%	0	4	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 75%	1 25%	4	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	4 100%	0	4	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	3 75%	0	1 25%	0	4	2.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 25%	0	3 75%	0	4	3.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 50%	2 50%	0	4	3.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	3 75%	0	4	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	3 75%	0	4	3.8

				CJUS	S - 5600	- 030	Survey Comparisons					
Labs and Online Learning Questions			F	Response	s (%)		(	Course	All			
		SD	D	N	A SA		N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	49	4.5	21	
Q16	The course topics are organized in a coherent fashion.	0	0	1 50%	1 50%	0	2	3.5	70	4.6	12	

Course:	ENGL - 1323 030 - Computer Assisted College Writing II	Department:	English
Responsible Faculty:	Robert Harris	Responses / Expected:	2 / 23 (8.70%)

Cour	se Evaluation Questions					bert Harri		
			_	·	ses	, ,		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

		ENGL - 1323 - 030								Survey Comparisons				
La	Labs and Online Learning Questions		Res	pons	ses (	(%)	(	Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q.	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	49	4.5	88			
Q.	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	70	4.6	88			

Course:	HSML - 4200 040 - Grant Proposal Research and Writing	Department:	Human Serv
Responsible Faculty:	Joy Patton	Responses / Expected:	3 / 7 (42.86%)

Cou	se Evaluation Questions				Joy Patto	n		
	• • • • • • • • • • • • • • • • • • • •			Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 33.3%	0	0	2 66.7%	3	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 33.3%	0	0	2 66.7%	3	4.0

	Labs and Online Learning Questions					4200 - 04		Survey Comparisons			
Lab			R	espo	onses (%	·)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	49	4.5	88
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	70	4.6	38

Course:	HSML - 4300 040 - Volunteer Development and Management	Department:	Human Serv
Responsible Faculty:	Joy Patton	Responses / Expected:	4 / 12 (33.33%)

٥	se Evaluation Questions				Joy Pa	tton		
Cour	se Evaluation Questions			Respon	ses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 75%	1 25%	4	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 75%	1 25%	4	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 100%	0	3	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	2 50%	1 25%	4	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 75%	1 25%	4	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 75%	1 25%	4	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5

	aha a	and Online Learning Questions					300 - 040				Survey Comparisons				
	Laus and Online Learning Questions			Res		sponses (%)		(	Course		All	Pct			
		SD	D	N	A	SA	N	Mean	N	Mean	Rnk				
	Q15 T	he section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	49	4.5	60			
	Q16 T	he course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	70	4.6	64			

Course:	HSML - 4650 041 - Assessment of Behavioral and Chemical Addictions	Department:	Human Serv
Responsible Faculty:	Phillip Ortiz	Responses / Expected:	6 / 8 (75%)

C	se Evaluation Questions				Phillip (	Ortiz		
Cour	se Evaluation Questions		Res	pon	ises (%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	6 100%	6	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	6 100%	6	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0

				HS	SML	- 4650 - 0	41		Survey Comparisons			
La	Labs and Online Learning Questions		Res	pons	ses	(%)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	49	4.5	88	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	70	4.6	88	

Course:	MGMT - 4180 010 - Workplace Health and Safety	Department:	Management
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	12 / 19 (63.16%)

C	no Fusivation Overtions				Elizabeth	Muniz		
Cour	se Evaluation Questions			Respo	nses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 25%	9 75%	12	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	3 25%	9 75%	12	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 16.7%	10 83.3%	12	4.8

					MGMT - 4	1180 - 010	Survey Comparisons				
Lal	Labs and Online Learning Questions			Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 25%	6 75%	8	4.8	49	4.5	71
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 22.2%	7 77.8%	9	4.8	70	4.6	74

Course:	MGMT - 4180 013 - Workplace Health and Safety	Department:	Management
Responsible Faculty:	Frances Conner	Responses / Expected:	4 / 14 (28.57%)

Cou	rse Evaluation Questions					es Conne		
			_		onses (9	_		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0

				M	IGMT -	4180 - 0	13		Survey Comparisons			
La	Labs and Online Learning Questions		Re	spo	nses (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	49	4.5	71	
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	70	4.6	64	

Course:	MGMT - 5660 010 - International Management	Department:	Management
Responsible Faculty:	Ayse Goktan Bilhan	Responses / Expected:	11 / 28 (39.29%)

Cour	se Evaluation Questions			Ays Respons	e Goktan	Bilhan	Inc	lividual
		SD	D	N		SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1	<b>A</b>	6	11	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	9.1%	36.4% 4 36.4%	54.5% 7 63.6%	11	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 45.5%	6 54.5%	11	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	6 54.5%	5 45.5%	11	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 36.4%	7 63.6%	11	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	1 9.1%	1 9.1%	1 9.1%	8 72.7%	11	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	4 36.4%	7 63.6%	11	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	1 9.1%	1 9.1%	3 27.3%	6 54.5%	11	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5

	Labs and Online Learning Questions				MGMT - 9	5660 - 010	Survey Comparisons				
Lab			Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	49	4.5	48
Q10	The course topics are organized in a coherent fashion.	0	0	0	3 37.5%	5 62.5%	8	4.6	70	4.6	45

Course:	MGMT - 5660 011 - International Management	Department:	Management
Responsible Faculty:	Ayse Goktan Bilhan	Responses / Expected:	2 / 16 (12.50%)

Cour	se Evaluation Questions			A	yse Go	ktan Bil	han	
Cour	SE EVALUATION QUESTIONS		_	·-	nses (%	)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5

_		MGMT - 5660 - 011								Survey Comparisons				
Labs and Online Learning Questions			R	espo	onses (%)		Course			All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	49	4.5	36			
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	70	4.6	38			

Course:	MKTG - 5150 010 - Marketing Management	Department:	Marketing
Responsible Faculty:	Isaura Flores	Responses / Expected:	3 / 14 (21.43%)

Cour	rse Evaluation Questions			D		a Flores		altratial and
		SD	_		ponses (% A	SA		dividual Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

Labs	and Online Learning Questions	MKTG - 5150 - 010  Responses (%) Course								Survey Comparisons			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	49	4.5	88		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	70	4.6	88		

Course:	MKTG - 5150 011 - Marketing Management	Department:	Marketing
Responsible Faculty:	Isaura Flores	Responses / Expected:	13 / 30 (43.33%)

Cour	se Evaluation Questions			Is	aura Flor	es		
Coui	se Evaluation Questions		Re	esponse	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 7.7%	4 30.8%	8 61.5%	13	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 7.7%	5 38.5%	7 53.8%	13	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	1 7.7%	0	4 30.8%	8 61.5%	13	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 7.7%	5 38.5%	7 53.8%	13	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 7.7%	4 30.8%	8 61.5%	13	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 7.7%	4 30.8%	8 61.5%	13	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.7%	1 7.7%	11 84.6%	13	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 7.7%	0	12 92.3%	13	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7

				МК	CTG - 5150	Survey Comparisons						
La	Labs and Online Learning Questions			Respons	es (%)		С	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q <sup>2</sup>	The section or lab is well integrated into the course structure.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	49	4.5	48	
Q1	The course topics are organized in a coherent fashion.	0	0	1 10%	4 40%	5 50%	10	4.4	70	4.6	31	

Course:	MUED - 1130 001 - Foundations in Music	Department:	Music Educ
Responsible Faculty:	Ruth Guevara	Responses / Expected:	3 / 11 (27.27%)

Cour	se Evaluation Questions		Re	Ruth sponses	Guevara	1	In	dividual
		SD	D	N	(%) A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 33.3%	0	2 66.7%	0	3	3.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0

				MUED	- 11	30 - 00	01		Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	49	4.5	21		
Q16	The course topics are organized in a coherent fashion.	0	0	1 100%	0	0	1	3.0	70	4.6	7		

Course:	MUED - 1130 002 - Foundations in Music	Department:	Music Educ
Responsible Faculty:	Ruth Guevara	Responses / Expected:	1 / 15 (6.67%)

Cou	rse Evaluation Questions				Ruth Gu	evara		
				Respon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 100%	0	0	1	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 100%	0	0	1	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 100%	0	0	1	3.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 100%	0	0	1	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 100%	0	0	1	3.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 100%	0	0	1	3.0

	one of Online Learning Quantities	MUED - 1130 - 002							Survey Comparisons				
Labs and Online Learning Questions			Re	spo	nses (%)	Course			All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	49	4.5	36		
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	70	4.6	19		

Cours	e: SPAN - 4900 001 - Special Problems	Department:	Spanish
Responsible Facul	r: Sheryl Santos-Hatchett	Responses / Expected:	1 / 1 (100%)

Cour	se Evaluation Questions				ryl S ses	Santos-Ha	tt dividual	
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

				SF	PAN	- 4900 - 0	01		Survey Comparisons				
Lab	and Online Learning Questions	Responses (%)						Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	49	4.5	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	70	4.6	88		

Course:	TECM - 2700 031 - Technical Writing	Department:	Technical
Responsible Faculty:	Lea Young	Responses / Expected:	4 / 11 (36.36%)

Cou	rse Evaluation Questions				Lea You	ing		
			Re	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 25%	0	1 25%	2 50%	4	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	0	0	3 75%	4	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	1 25%	0	3 75%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 25%	0	0	3 75%	4	4.3

Laborard Online Laureite Occasions					CM - 270	00 - 031		Survey Comparisons				
La	Labs and Online Learning Questions		Resp	ons	es (%)		(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	1 25%	0	1 25%	2 50%	4	4.0	49	4.5	36	
Q	The course topics are organized in a coherent fashion.	0	1 25%	0	0	3 75%	4	4.3	70	4.6	26	

Course:	TECM - 2700 032 - Technical Writing	Department:	Technical
Responsible Faculty:	Lea Young	Responses / Expected:	3 / 14 (21.43%)

Cour	se Evaluation Questions					Young		
oou.	oc Litaliani Questiano			Res	ponses (%	)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7

Labs and Online Learning Questions		TECM - 2700 - 032								Survey Comparisons					
				Res	ponses (%)	)	(	Course	All						
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk				
Q	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	49	4.5	88				
Q	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	70	4.6	52				

Fall 2016 Course	<b>Evaluation</b>	Survey-8	Week 2
6168 - Fall 2016 -	8W2		

University of North Texas at Dallas UNT-Dallas

Course: THEA - 1130 001 - Introduction to Creative Drama in the Elementary School Department: Theatre

Responsible Faculty: Ruth Guevara Responses / Expected: 3 / 10 (30%)

٥	se Evaluation Questions			Ruth	Guevara	<b>a</b>		
Cou	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	3 100%	0	0	3	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 100%	0	3	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	2 66.7%	0	0	3	2.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 100%	0	3	4.0

Course:	THEA - 1130 002 - Introduction to Creative Drama in the Elementary School	Department:	Theatre
Responsible Faculty:	Ruth Guevara	Responses / Expected:	1 / 17 (5.88%)

Cou	se Evaluation Questions							
	· · · · · · · · · · · · · · · · · · ·			Respon	ses (%)	es (%)		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 100%	0	0	1	3.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 100%	0	0	1	3.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0

				TH	IEA	- 1130 - 0	02		Survey Comparisons				
Labs and Online Learning Questions			Res	pons	ses (	(%)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	49	4.5	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	70	4.6	88		

Course:	LAW - 7V91 501 - Practicum	Department:	Law
Responsible Faculty:	Ignacio Perez de la cruz	Responses / Expected:	10 / 18 (55.56%)

<b>^</b>	Full water Oversteen			Ignacio				
Coui	rse Evaluation Questions		R		Inc	dividual		
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 10%	1 10%	1 10%	3 30%	4 40%	10	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	1 10%	0	2 20%	6 60%	10	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	1 10%	0	2 20%	6 60%	10	4.1
Q4	My instructor provides material that helps me do well on assignments.	1 10%	0	0	5 50%	4 40%	10	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 10%	0	0	2 20%	7 70%	10	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	0	0	3 30%	6 60%	10	4.3
Q7	My instructor establishes a climate of respect for students.	1 10%	0	0	1 10%	8 80%	10	4.5
Q8	My instructor is available to me on matters pertaining to the course.	1 10%	0	0	2 20%	7 70%	10	4.4
Q9	My instructor encourages me to do my best work.	1 10%	0	1 10%	1 10%	7 70%	10	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 10%	1 10%	0	2 20%	6 60%	10	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 10%	0	0	1 10%	8 80%	10	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%	0	1 10%	3 30%	5 50%	10	4.1
Q13	My instructor encourages me to develop new viewpoints.	1 11.1%	0	1 11.1%	2 22.2%	5 55.6%	9	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	0	0	3 30%	6 60%	10	4.3

				L	AW - 7V91		Survey Comparisons					
Labs and Online Learning Questions			Res	pon	ıses (%)		(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	410	4.0	80	
Q16	The course topics are organized in a coherent fashion.	0	1 33.3%	0	0	2 66.7%	3	4.0	637	4.1	26	

Course:	LAW - 7V93 501 - Clinic	Department:	Law
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	2 / 6 (33.33%)

Cou	se Evaluation Questions				•	l Wattley	•		
			_	·	onses (9			dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5	
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5	

				L	AW -	7V93 - 50	)1		Survey Comparisons				
Labs and Online Learning Questions			Res	pons	ses	(%)		Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	410	4.0	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	637	4.1	93		

Course:	LAW - 7V93 502 - Clinic	Department:	Law
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	5 / 9 (55.56%)

Cour	rse Evaluation Questions			Che	ryl Wa	ttley			
Coui	se Evaluation Questions		Res	ponses	(%)		ln	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	1 20%	0	3 60%	1 20%	0	5	2.8	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 20%	0	1 20%	3 60%	0	5	3.2	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 40%	3 60%	0	5	3.6	
Q4	My instructor provides material that helps me do well on assignments.	1 20%	1 20%	2 40%	1 20%	0	5	2.6	
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 20%	0	2 40%	2 40%	0	5	3.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 40%	2 40%	1 20%	0	5	2.8	
Q7	My instructor establishes a climate of respect for students.	0	2 40%	1 20%	1 20%	1 20%	5	3.2	
Q8	My instructor is available to me on matters pertaining to the course.	0	3 60%	1 20%	0	1 20%	5	2.8	
Q9	My instructor encourages me to do my best work.	0	1 20%	1 20%	1 20%	2 40%	5	3.8	
Q10	My instructor provides timely feedback to guide my progress.	1 20%	2 40%	2 40%	0	0	5	2.2	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 20%	0	3 60%	1 20%	5	3.8	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 20%	0	2 40%	0	2 40%	5	3.4	
Q13	My instructor encourages me to develop new viewpoints.	1 20%	0	1 20%	2 40%	1 20%	5	3.4	
Q14	My instructor made the subject interesting and motivated me to learn.	1 20%	2 40%	1 20%	0	1 20%	5	2.6	

Labs and Online Learning Questions				LAW - 7	V93		Survey Comparisons				
			Res	oonses (%	.)		(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	410	4.0	15
Q16	The course topics are organized in a coherent fashion.	1 50%	1 50%	0	0	0	2	1.5	637	4.1	3

Fall 2016 Course Evaluation Survey-LW1
6168 - Fall 2016 - LW1

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7097 001 - Community Engagement	Department:	Law
Responsible Faculty:	Ernest Higginbotham	Responses / Expected:	5 / 13 (38.46%)

Cour	se Evaluation Questions				Higgin	botham			
			Res	ponses	(%)		In	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	2 40%	0	0	1 20%	2 40%	5	3.2	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	3 60%	0	0	0	2 40%	5	2.6	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 20%	2 40%	0	0	2 40%	5	3.0	
Q4	My instructor provides material that helps me do well on assignments.	1 20%	1 20%	1 20%	0	2 40%	5	3.2	
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 40%	0	1 20%	0	2 40%	5	3.0	
Q7	My instructor establishes a climate of respect for students.	1 20%	1 20%	1 20%	0	2 40%	5	3.2	
Q8	My instructor is available to me on matters pertaining to the course.	1 20%	1 20%	1 20%	0	2 40%	5	3.2	
Q9	My instructor encourages me to do my best work.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	
Q10	My instructor provides timely feedback to guide my progress.	2 40%	0	1 20%	0	2 40%	5	3.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 40%	0	0	1 20%	2 40%	5	3.2	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 20%	1 20%	0	1 20%	2 40%	5	3.4	
Q13	My instructor encourages me to develop new viewpoints.	1 20%	1 20%	0	0	3 60%	5	3.6	
Q14	My instructor made the subject interesting and motivated me to learn.	1 20%	0	1 20%	1 20%	2 40%	5	3.6	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	Agree or	Disagree	e=3 [ <b>A</b> ]	Agree=4	[ <b>SA</b> ] S	trong	ly Agree=	

Course	LAW - 7097 501 - Community Engagement	Department:	Law
Responsible Faculty	Ernest Higginbotham	Responses / Expected:	3 / 3 (100%)

Cour	se Evaluation Questions			Ernes	t Higginb	otham		
Coui	se Evaluation Questions		ļ	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 66.7%	1 33.3%	0	3	3.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q9	My instructor encourages me to do my best work.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 66.7%	1 33.3%	0	3	3.3

	abs and Online Learning Questions				LAW - 709	7 - 50	1	Survey Comparisons				
			Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q15 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	410	4.0	36	
	Q16 The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	637	4.1	26	

Course:	LAW - 7098 301 - Legal Analysis for the Texas Bar I	Department:	Law
Responsible Faculty:	Ellen Pryor	Responses / Expected:	7 / 15 (46.67%)

۸	Full stire Occation				Ellen P	ryor		
Coui	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 42.9%	4 57.1%	7	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 28.6%	0	5 71.4%	7	4.4
Q9	My instructor encourages me to do my best work.	0	0	2 28.6%	0	5 71.4%	7	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 28.6%	0	5 71.4%	7	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 28.6%	0	5 71.4%	7	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	0	5 71.4%	7	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 42.9%	0	4 57.1%	7	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4

					LAW - 70	98 - 301	Survey Comparisons					
Lab	s and Online Learning Questions	Responses (%)					(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8	410	4.0	85	
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	637	4.1	85	

Course:	LAW - 7099 001 - Louis a. Bedford Jr. Mentorship Program	Department:	Law
Responsible Faculty:	Ernest Higginbotham	Responses / Expected:	66 / 84 (78.57%)

Cou	se Evaluation Questions				nest Higgi	nbotham		
Ooui	SE LYAILUATION QUESTIONS			Respon	ises (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	26 40%	13 20%	26 40%	65	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	27 42.2%	11 17.2%	26 40.6%	64	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	28 43.8%	10 15.6%	26 40.6%	64	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	29 45.3%	9 14.1%	26 40.6%	64	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	27 42.9%	9 14.3%	27 42.9%	63	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	29 46%	7 11.1%	27 42.9%	63	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	11 17.5%	13 20.6%	39 61.9%	63	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	19 30.2%	10 15.9%	34 54%	63	4.2
Q9	My instructor encourages me to do my best work.	0	0	19 30.2%	10 15.9%	34 54%	63	4.2
Q10	My instructor provides timely feedback to guide my progress.	0	0	27 42.9%	6 9.5%	30 47.6%	63	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	17 27.4%	11 17.7%	34 54.8%	62	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	22 35.5%	9 14.5%	31 50%	62	4.1
Q13	My instructor encourages me to develop new viewpoints.	0	0	20 31.7%	8 12.7%	35 55.6%	63	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	20 31.7%	10 15.9%	33 52.4%	63	4.2

Labs and Online Learning Questions		LAW - 7099 - 001							Survey Comparisons			
		Responses (%)				С	ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	5 29.4%	4 23.5%	8 47.1%	17	4.2	410	4.0	44	
Q1	The course topics are organized in a coherent fashion.	2 11.1%	0	6 33.3%	1 5.6%	9 50%	18	3.8	637	4.1	19	

Course:	LAW - 7099 501 - Louis a. Bedford Jr. Mentorship Program	Department:	Law
Responsible Faculty:	Ernest Higginbotham	Responses / Expected:	50 / 65 (76.92%)

٥	Productive Occasions			Ernest	Higginbo	otham		
Cour	se Evaluation Questions		R	esponse	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 2.1%	1 2.1%	21 43.8%	9 18.8%	16 33.3%	48	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 2.1%	1 2.1%	18 38.3%	10 21.3%	17 36.2%	47	3.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	2 4.2%	24 50%	6 12.5%	16 33.3%	48	3.8
Q4	My instructor provides material that helps me do well on assignments.	1 2.1%	2 4.2%	21 43.8%	8 16.7%	16 33.3%	48	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 2.1%	0	14 29.8%	16 34%	16 34%	47	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 2.1%	0	23 47.9%	8 16.7%	16 33.3%	48	3.8
Q7	My instructor establishes a climate of respect for students.	0	0	11 22.4%	17 34.7%	21 42.9%	49	4.2
Q8	My instructor is available to me on matters pertaining to the course.	0	0	18 37.5%	11 22.9%	19 39.6%	48	4.0
Q9	My instructor encourages me to do my best work.	0	0	16 33.3%	14 29.2%	18 37.5%	48	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	24 50%	8 16.7%	16 33.3%	48	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	10 20.8%	17 35.4%	21 43.8%	48	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	18 37.5%	12 25%	18 37.5%	48	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	15 31.3%	14 29.2%	19 39.6%	48	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 2.1%	16 33.3%	13 27.1%	18 37.5%	48	4.0

				LAW	Survey Comparisons						
Labs and Online Learning Questions		Responses (%)				С	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	2 14.3%	4 28.6%	4 28.6%	4 28.6%	14	3.7	410	4.0	26
Q1	The course topics are organized in a coherent fashion.	1 5.6%	2 11.1%	6 33.3%	4 22.2%	5 27.8%	18	3.6	637	4.1	17

Course:	LAW - 7100 001 - Fundamentals of Being A Lawyer	Department:	Law
Responsible Faculty:	Melissa Shultz	Responses / Expected:	65 / 81 (80.25%)

Course Evaluation Questions	Faculty Results										
		Individual									
Q1. My instructor explains difficult material clearly.	SD	D	N	Α	SA	N	Mean				
Candice Birks	0	1 1.5%	8 12.3%	28 43.1%	28 43.1%	65	4.3				
Lara Huddleston	2 3.1%	0	12 18.5%	22 33.8%	29 44.6%	65	4.2				
Karen Jarrell	1 1.6%	1 1.6%	10 16.4%	20 32.8%	29 47.5%	61	4.2				
Melissa Shultz	1 1.6%	0	7 11.3%	19 30.6%	35 56.5%	62	4.4				

Course Evaluation Questions		Faculty Results									
		F	Response	s (%)		Inc	dividual				
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	Α	SA	N	Mean				
Candice Birks	2 3.1%	0	8 12.3%	26 40%	29 44.6%	65	4.2				
Lara Huddleston	2 3.1%	0	10 15.6%	21 32.8%	31 48.4%	64	4.2				
Karen Jarrell	1 1.7%	1 1.7%	9 15%	19 31.7%	30 50%	60	4.3				
Melissa Shultz	2 3.2%	0	6 9.7%	18 29%	36 58.1%	62	4.4				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results										
		Individual									
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean				
Candice Birks	2 3.1%	1 1.5%	10 15.4%	22 33.8%	30 46.2%	65	4.2				
Lara Huddleston	2 3.1%	0	12 18.5%	20 30.8%	31 47.7%	65	4.2				
Karen Jarrell	2 3.3%	0	9 15%	19 31.7%	30 50%	60	4.3				
Melissa Shultz	1 1.6%	0	6 9.8%	19 31.1%	35 57.4%	61	4.4				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results								
		Responses (%)								
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	Α	SA	N	Mean			
Candice Birks	0	1 1.6%	9 14.1%	24 37.5%	30 46.9%	64	4.3			
Lara Huddleston	2 3.1%	0	12 18.5%	22 33.8%	29 44.6%	65	4.2			
Karen Jarrell	2 3.3%	0	10 16.4%	19 31.1%	30 49.2%	61	4.2			
Melissa Shultz	1 1.6%	0	6 9.7%	22 35.5%	33 53.2%	62	4.4			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results									
		Responses (%)									
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	Α	SA	N	Mean				
Candice Birks	2 3.1%	0	9 14.1%	26 40.6%	27 42.2%	64	4.2				
Lara Huddleston	2 3.1%	0	14 21.5%	21 32.3%	28 43.1%	65	4.1				
Karen Jarrell	2 3.3%	0	11 18%	19 31.1%	29 47.5%	61	4.2				
Melissa Shultz	1 1.6%	1 1.6%	7 11.3%	19 30.6%	34 54.8%	62	4.4				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fac	culty Resu	lts		
		ı	Responses	s (%)		Inc	dividual
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	Α	SA	N	Mean
Candice Birks	2 3.1%	1 1.5%	11 16.9%	24 36.9%	27 41.5%	65	4.1
Lara Huddleston	2 3.1%	0	12 18.5%	22 33.8%	29 44.6%	65	4.2
Karen Jarrell	2 3.4%	0	9 15.3%	18 30.5%	30 50.8%	59	4.3
Melissa Shultz	1 1.6%	0	7 11.3%	19 30.6%	35 56.5%	62	4.4

Course Evaluation Questions				Faculty Res	ults			
			Respons	es (%)		Individual		
Q7. My instructor establishes a climate of respect for students.	SD	D	N	A	SA	N	Mean	
Candice Birks	1 1.5%	0	5 7.7%	24 36.9%	35 53.8%	65	4.4	
Lara Huddleston	1 1.6%	0	7 11.1%	21 33.3%	34 54%	63	4.4	
Karen Jarrell	0	0	9 14.5%	21 33.9%	32 51.6%	62	4.4	
Melissa Shultz	0	0	8 13.1%	19 31.1%	34 55.7%	61	4.4	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	culty Resul	ts			
		Inc	dividual					
Q8. My instructor is available to me on matters pertaining to the course.	SD	D	N	Α	SA	N	Mean	
Candice Birks	1 1.5%	0	9 13.8%	23 35.4%	32 49.2%	65	4.3	
Lara Huddleston	1 1.6%	0	11 17.5%	19 30.2%	32 50.8%	63	4.3	
Karen Jarrell	1 1.6%	0	11 17.7%	21 33.9%	29 46.8%	62	4.2	
Melissa Shultz	0	1 1.6%	7 11.5%	21 34.4%	32 52.5%	61	4.4	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty Res	ults			
			Respons	es (%)		Individual		
Q9. My instructor encourages me to do my best work.	SD	D	N	Α	SA	N	Mean	
Candice Birks	1 1.6%	0	8 12.5%	22 34.4%	33 51.6%	64	4.3	
Lara Huddleston	1 1.6%	0	10 15.6%	21 32.8%	32 50%	64	4.3	
Karen Jarrell	0	0	11 17.7%	21 33.9%	30 48.4%	62	4.3	
Melissa Shultz	0	0	7 11.5%	19 31.1%	35 57.4%	61	4.5	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	culty Result	ts			
			Responses	(%)		In	dividual	
Q10. My instructor provides timely feedback to guide my progress.	SD	D	N	Α	SA	N	Mean	
Candice Birks	1 1.5%	0	11 16.9%	24 36.9%	29 44.6%	65	4.2	
Lara Huddleston	2 3.2%	0	11 17.5%	21 33.3%	29 46%	63	4.2	
Karen Jarrell	0	0	12 19.4%	21 33.9%	29 46.8%	62	4.3	
Melissa Shultz	0	2 3.3%	6 9.8%	20 32.8%	33 54.1%	61	4.4	

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

Course Evaluation Questions		Faculty Results							
		ļ	Responses	s (%)		Inc	dividual		
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	Α	SA	N	Mean		
Candice Birks	2 3.1%	0	8 12.3%	20 30.8%	35 53.8%	65	4.3		
Lara Huddleston	2 3.2%	0	9 14.3%	22 34.9%	30 47.6%	63	4.2		
Karen Jarrell	0	0	10 16.1%	20 32.3%	32 51.6%	62	4.4		
Melissa Shultz	0	1 1.6%	8 13.1%	17 27.9%	35 57.4%	61	4.4		

Course Evaluation Questions			Fac	ulty Resu	ılts		
		F	Response	s (%)		Inc	dividual
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	A	SA	N	Mean
Candice Birks	2 3.2%	0	11 17.5%	21 33.3%	29 46%	63	4.2
Lara Huddleston	2 3.2%	0	12 19%	19 30.2%	30 47.6%	63	4.2
Karen Jarrell	0	0	11 17.7%	21 33.9%	30 48.4%	62	4.3
Melissa Shultz	0	1 1.7%	7 11.7%	18 30%	34 56.7%	60	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	culty Result	s		
			Responses	(%)		Inc	dividual
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	Α	SA	N	Mean
Candice Birks	2 3.2%	0	10 15.9%	23 36.5%	28 44.4%	63	4.2
Lara Huddleston	2 3.3%	0	11 18.3%	18 30%	29 48.3%	60	4.2
Karen Jarrell	0	0	10 16.1%	22 35.5%	30 48.4%	62	4.3
Melissa Shultz	0	1 1.7%	7 11.7%	17 28.3%	35 58.3%	60	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	culty Resul	ts			
			Responses	(%)		Inc	dividual	
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	Α	SA	N	Mean	
Candice Birks	2 3.2%	1 1.6%	8 12.7%	20 31.7%	32 50.8%	63	4.3	
Lara Huddleston	2 3.2%	1 1.6%	9 14.5%	21 33.9%	29 46.8%	62	4.2	
Karen Jarrell	0	0	11 18%	20 32.8%	30 49.2%	61	4.3	
Melissa Shultz	0	1 1.6%	7 11.5%	18 29.5%	35 57.4%	61	4.4	

Labs and Online Learning Questions		LAW - 7100 - 001							Survey Comparisons			
		Responses (%)				С	ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	1 7.1%	3 21.4%	3 21.4%	7 50%	14	4.1	410	4.0	42	
Q	The course topics are organized in a coherent fashion.	0	0	2 12.5%	4 25%	10 62.5%	16	4.5	637	4.1	60	

Course:	LAW - 7100 501 - Fundamentals of Being A Lawyer	Department:	Law
Responsible Faculty:	Melissa Shultz	Responses / Expected:	47 / 64 (73.44%)

Course Evaluation Questions		Faculty Results									
				Individual							
Q1. My instructor explains difficult material clearly.	SD	D	N	Α	SA	N	Mean				
Candice Birks	0	0	8 17.8%	23 51.1%	14 31.1%	45	4.1				
Karen Jarrell	0	0	11 25%	20 45.5%	13 29.5%	44	4.0				
Melissa Shultz	0	1 2.2%	7 15.6%	21 46.7%	16 35.6%	45	4.2				

Course Evaluation Questions	Faculty Results						
			Respor	ıses (%)		Inc	dividual
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	11 24.4%	19 42.2%	15 33.3%	45	4.1
Karen Jarrell	0	0	9 20.5%	22 50%	13 29.5%	44	4.1
Melissa Shultz	0	0	7 15.6%	22 48.9%	16 35.6%	45	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results							
		Responses (%)					Individual		
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean		
Candice Birks	0	0	9 20%	24 53.3%	12 26.7%	45	4.1		
Karen Jarrell	0	0	9 20.5%	20 45.5%	15 34.1%	44	4.1		
Melissa Shultz	0	0	6 13.3%	22 48.9%	17 37.8%	45	4.2		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results						
		Responses (%) Individua						
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	Α	SA	N	Mean	
Candice Birks	0	0	10 22.7%	22 50%	12 27.3%	44	4.0	
Karen Jarrell	0	0	11 25%	22 50%	11 25%	44	4.0	
Melissa Shultz	0	1 2.2%	6 13.3%	20 44.4%	18 40%	45	4.2	

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=6} \ \ \textbf{Strongly Agree=6} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=6} \ \ \textbf{Strongly Agree=6$ 

Course Evaluation Questions			Faculty Results								
		Responses (%) Individu									
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	Α	SA	N	Mean				
Candice Birks	0	0	12 26.7%	20 44.4%	13 28.9%	45	4.0				
Karen Jarrell	0	0	10 22.2%	22 48.9%	13 28.9%	45	4.1				
Melissa Shultz	0	0	7 16.3%	19 44.2%	17 39.5%	43	4.2				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results									
		Responses (%)					dividual				
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	A	SA	N	Mean				
Candice Birks	0	0	12 27.9%	20 46.5%	11 25.6%	43	4.0				
Karen Jarrell	0	0	15 33.3%	18 40%	12 26.7%	45	3.9				
Melissa Shultz	0	0	9 20%	20 44.4%	16 35.6%	45	4.2				

Course Evaluation Questions			sults				
·		Responses (%) Individua					
Q7. My instructor establishes a climate of respect for students.	SD D N A SA I						Mean
Candice Birks	0	0	5 11.1%	20 44.4%	20 44.4%	45	4.3
Karen Jarrell	0	0	6 13.6%	21 47.7%	17 38.6%	44	4.3
Melissa Shultz	0	0	3 6.7%	20 44.4%	22 48.9%	45	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results					
·			Respor	nses (%)		In	dividual
Q8. My instructor is available to me on matters pertaining to the course.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	10 22.2%	21 46.7%	14 31.1%	45	4.1
Karen Jarrell	0	0	15 33.3%	19 42.2%	11 24.4%	45	3.9
Melissa Shultz	0	0	6 13.6%	20 45.5%	18 40.9%	44	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results											
·		Responses (%) Individual											
Q9. My instructor encourages me to do my best work.	SD	D	N	Α	SA	N	Mean						
Candice Birks	0	0	8 17.8%	19 42.2%	18 40%	45	4.2						
Karen Jarrell	0	0	12 26.7%	19 42.2%	14 31.1%	45	4.0						
Melissa Shultz	0	0	4 8.9%	20 44.4%	21 46.7%	45	4.4						

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$ 

Course Evaluation Questions		Faculty Results										
		Responses (%) Individu										
Q10. My instructor provides timely feedback to guide my progress.	SD	D	N	Α	SA	N	Mean					
Candice Birks	0	0	11 24.4%	22 48.9%	12 26.7%	45	4.0					
Karen Jarrell	0	0	14 31.1%	19 42.2%	12 26.7%	45	4.0					
Melissa Shultz	0	0	9 20%	21 46.7%	15 33.3%	45	4.1					

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{Agre$ 

Course Evaluation Questions				Faculty Results										
		Responses (%) Indiv					dividual							
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	A	SA	N	Mean							
Candice Birks	0	0	10 22.7%	19 43.2%	15 34.1%	44	4.1							
Karen Jarrell	0	0	12 26.7%	17 37.8%	16 35.6%	45	4.1							
Melissa Shultz	0	0	6 13.3%	19 42.2%	20 44.4%	45	4.3							

Course Evaluation Questions			F	aculty Re	esults		
			Respon	ses (%)		Ind	lividual
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	11 24.4%	20 44.4%	14 31.1%	45	4.1
Karen Jarrell	0	0	13 28.9%	18 40%	14 31.1%	45	4.0
Melissa Shultz	0	0	6 13.3%	19 42.2%	20 44.4%	45	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results											
	Responses (%) Individual						dividual					
Q13. My instructor encourages me to develop new viewpoints.	SD D N A SA						Mean					
Candice Birks	0	0	10 22.2%	19 42.2%	16 35.6%	45	4.1					
Karen Jarrell	0	0	12 26.7%	21 46.7%	12 26.7%	45	4.0					
Melissa Shultz	0	0	6 13.3%	20 44.4%	19 42.2%	45	4.3					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty Re	esults			
			Inc	lividual				
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	Α	SA	N	Mean	
Candice Birks	0	0	7 15.6%	22 48.9%	16 35.6%	45	4.2	
Karen Jarrell	0	0	11 25%	20 45.5%	13 29.5%	44	4.0	
Melissa Shultz	0	0	5 11.1%	20 44.4%	20 44.4%	45	4.3	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions			LAW	- 7100 -		Survey Comparisons					
		Responses (%)						All			
		D	N	Α	SA	N	Mean	N	Mean	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	1 10%	0	3 30%	6 60%	10	4.4	410	4.0	60	
Q16 The course topics are organized in a coherent fashion.	0	3 18.8%	1 6.3%	4 25%	8 50%	16	4.1	637	4.1	32	

Course:	LAW - 7101 501 - Principles of Accounting and Finance for Lawyers	Department:	Law
Responsible Faculty:	Robert Probasco	Responses / Expected:	20 / 25 (80%)

C	rse Evaluation Questions			Rob	ert Proba	sco		
Coui	se Evaluation Questions		F	Response	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 5%	3 15%	3 15%	8 40%	5 25%	20	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5%	0	3 15%	7 35%	9 45%	20	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 5%	5 25%	7 35%	7 35%	20	4.0
Q4	My instructor provides material that helps me do well on assignments.	1 5%	3 15%	5 25%	4 20%	7 35%	20	3.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 5%	3 15%	9 45%	7 35%	20	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 5%	4 20%	8 40%	7 35%	20	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	0	6 30%	14 70%	20	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 5%	7 35%	12 60%	20	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 5%	5 25%	14 70%	20	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 5%	6 30%	13 65%	20	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 25%	15 75%	20	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 5.3%	0	2 10.5%	7 36.8%	9 47.4%	19	4.2
Q13	My instructor encourages me to develop new viewpoints.	1 5%	0	4 20%	4 20%	11 55%	20	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	2 10%	2 10%	2 10%	6 30%	8 40%	20	3.8

					I - 7	101 - 50	1		Survey Comparisons			
Lab	s and Online Learning Questions	Responses (%) SD D N A SA N		sponses	(%)	)	(	Course		All		
				N	Mean	N	Mean Pct Rnk					
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	410	4.0	36	
Q16	The course topics are organized in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	637	4.1	26	

Course:	LAW - 7104 001 - Legal Methods	Department:	Law
Responsible Faculty:	Diana Howard	Responses / Expected:	71 / 80 (88.75%)

				Di	iana How	ard		
Cour	se Evaluation Questions		R	esponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	3 4.2%	22 31%	46 64.8%	71	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 1.4%	20 28.2%	50 70.4%	71	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 1.4%	3 4.2%	18 25.4%	49 69%	71	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 2.8%	24 33.8%	45 63.4%	71	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 1.4%	23 33.3%	45 65.2%	69	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 2.8%	2 2.8%	19 26.8%	48 67.6%	71	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	1 1.4%	12 16.9%	58 81.7%	71	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 2.8%	13 18.3%	56 78.9%	71	4.8
Q9	My instructor encourages me to do my best work.	0	0	2 2.9%	16 22.9%	52 74.3%	70	4.7
Q10	My instructor provides timely feedback to guide my progress.	1 1.4%	2 2.8%	5 7%	16 22.5%	47 66.2%	71	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 1.4%	17 23.9%	53 74.6%	71	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 1.4%	18 25.4%	52 73.2%	71	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 4.2%	20 28.2%	48 67.6%	71	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 2.8%	4 5.6%	18 25.4%	47 66.2%	71	4.5

			LAW - 7104 - 001							Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						ourse	All					
		SD D N A SA N		N	Mean	N	Mean Pct Rnk							
Q1	The section or lab is well integrated into the course structure.	0	1 6.7%	1 6.7%	3 20%	10 66.7%	15	4.5	410	4.0	67			
Q1	The course topics are organized in a coherent fashion.	0	1 4.2%	1 4.2%	8 33.3%	14 58.3%	24	4.5	637	4.1	54			

Course:	LAW - 7104 501 - Legal Methods	Department:	Law
Responsible Faculty:	Everett Chambers	Responses / Expected:	48 / 62 (77.42%)

٥	Forbutton Occations			Everet	t Chambe	ers		
Coui	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 2.1%	4 8.3%	11 22.9%	19 39.6%	13 27.1%	48	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 2.1%	2 4.2%	8 16.7%	23 47.9%	14 29.2%	48	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	4 8.3%	5 10.4%	8 16.7%	16 33.3%	15 31.3%	48	3.7
Q4	My instructor provides material that helps me do well on assignments.	4 8.3%	5 10.4%	10 20.8%	18 37.5%	11 22.9%	48	3.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 4.2%	5 10.4%	8 16.7%	19 39.6%	14 29.2%	48	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	9 18.8%	7 14.6%	8 16.7%	10 20.8%	14 29.2%	48	3.3
Q7	My instructor establishes a climate of respect for students.	1 2.1%	2 4.3%	7 14.9%	22 46.8%	15 31.9%	47	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	2 4.2%	11 22.9%	20 41.7%	15 31.3%	48	4.0
Q9	My instructor encourages me to do my best work.	0	2 4.2%	4 8.3%	19 39.6%	23 47.9%	48	4.3
Q10	My instructor provides timely feedback to guide my progress.	11 22.9%	15 31.3%	7 14.6%	11 22.9%	4 8.3%	48	2.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	6 12.5%	10 20.8%	14 29.2%	18 37.5%	48	3.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.1%	2 4.2%	5 10.4%	21 43.8%	19 39.6%	48	4.1
Q13	My instructor encourages me to develop new viewpoints.	0	2 4.2%	5 10.4%	22 45.8%	19 39.6%	48	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	2 4.3%	7 15.2%	7 15.2%	9 19.6%	21 45.7%	46	3.9

Labs and Online Learning Questions		LAW - 7104 - 501								Survey Comparisons			
		Responses (%)						ourse	All				
SD D N A		A	SA	N	Mean	n N Mean							
Q15	The section or lab is well integrated into the course structure.	0	4 30.8%	2 15.4%	5 38.5%	2 15.4%	13	3.4	410	4.0	19		
Q16	The course topics are organized in a coherent fashion.	2 11.1%	2 11.1%	5 27.8%	6 33.3%	3 16.7%	18	3.3	637	4.1	12		

Course:	LAW - 7108 001 - ADVANCED LEGAL RESEARCH	Department:	Law
Responsible Faculty:	Edward Hart	Responses / Expected:	12 / 15 (80%)

Cou	rse Evaluation Questions				ward Har	t		
			Re	esponses	(%)	Inc	lividual	
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 9.1%	2 18.2%	0	5 45.5%	3 27.3%	11	3.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 9.1%	0	0	6 54.5%	4 36.4%	11	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3
Q4	My instructor provides material that helps me do well on assignments.	1 9.1%	0	3 27.3%	5 45.5%	2 18.2%	11	3.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	0	2 18.2%	5 45.5%	3 27.3%	11	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	1 9.1%	0	5 45.5%	4 36.4%	11	3.9
Q7	My instructor establishes a climate of respect for students.	1 9.1%	0	0	2 18.2%	8 72.7%	11	4.5
Q8	My instructor is available to me on matters pertaining to the course.	1 9.1%	0	0	1 9.1%	9 81.8%	11	4.5
Q9	My instructor encourages me to do my best work.	1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 9.1%	1 9.1%	0	3 27.3%	6 54.5%	11	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 9.1%	0	0	2 18.2%	8 72.7%	11	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3
Q13	My instructor encourages me to develop new viewpoints.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	1 9.1%	2 18.2%	1 9.1%	4 36.4%	3 27.3%	11	3.5

					LAW - 7	108 - 00	1		Survey Comparisons			
La	Labs and Online Learning Questions		Re	spo	nses (%)	)	Course		All			
		SD D N A SA N		N	Mean	N Mean						
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	410	4.0	72	
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 75%	1 25%	4	4.3	637	4.1	43	

Course:	LAW - 7108 501 - ADVANCED LEGAL RESEARCH	Department:	Law
Responsible Faculty:	Stewart Caton	Responses / Expected:	8 / 11 (72.73%)

Cour	se Evaluation Questions					rt Caton		
				Responses (%)				dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 25%	6 75%	8	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 25%	6 75%	8	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 25%	6 75%	8	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 25%	6 75%	8	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 25%	6 75%	8	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 25%	6 75%	8	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8

				L	AW -	7108 - 50	01	Survey Comparisons					
La	Labs and Online Learning Questions		Res	pons	ses	(%)	(	Course		All			
		SD	D	N	A	SA	SA N Mean		N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	410	4.0	93		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3 5.0		3 5.0		637	4.1	93

Course:	LAW - 7115 501 - Family Law Topics	Department:	Law
Responsible Faculty:	Everett Chambers	Responses / Expected:	10 / 19 (52.63%)

Com	rse Evaluation Questions			Eve	rett Cha	mbers		
Cou	SE LY GIUGLION QUESTIONS		Re	sponse	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 10%	0	4 40%	5 50%	10	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 10%	0	3 30%	6 60%	10	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 10%	0	4 40%	5 50%	10	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 10%	1 10%	4 40%	4 40%	10	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 10%	1 10%	4 40%	4 40%	10	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	0	5 50%	4 40%	10	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	4 40%	5 50%	10	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	5 50%	4 40%	10	4.3
Q9	My instructor encourages me to do my best work.	0	0	2 20%	3 30%	5 50%	10	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	3 30%	3 30%	3 30%	10	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	5 50%	4 40%	10	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 20%	4 40%	4 40%	10	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 40%	2 20%	4 40%	10	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 20%	4 40%	4 40%	10	4.2

				L	AW - 71	15 - 501	Survey Comparisons					
Lal	Labs and Online Learning Questions		Responses (%)				(	Course	All			
		SD D N A SA N		Mean	N	Mean Pct Rnk						
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	410	4.0	93	
Q1	The course topics are organized in a coherent fashion.	0	0	1 20%	2 40%	2 40%	5	4.2	637	4.1	38	

Course:	LAW - 7125 001 - Intellectual Property Law I	Department:	Law
Responsible Faculty:	Richard Salgado	Responses / Expected:	36 / 46 (78.26%)

Cour	se Evaluation Questions				ard Salga	do	Individual		
				esponses	` ,				
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	5 13.9%	17 47.2%	14 38.9%	36	4.3	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	7 19.4%	15 41.7%	14 38.9%	36	4.2	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	2 5.6%	3 8.3%	8 22.2%	11 30.6%	12 33.3%	36	3.8	
Q4	My instructor provides material that helps me do well on assignments.	2 5.6%	4 11.1%	7 19.4%	12 33.3%	11 30.6%	36	3.7	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	7 19.4%	15 41.7%	14 38.9%	36	4.2	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 5.6%	4 11.1%	7 19.4%	11 30.6%	12 33.3%	36	3.8	
Q7	My instructor establishes a climate of respect for students.	0	0	3 8.3%	10 27.8%	23 63.9%	36	4.6	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	9 25.7%	15 42.9%	11 31.4%	35	4.1	
Q9	My instructor encourages me to do my best work.	0	0	12 33.3%	10 27.8%	14 38.9%	36	4.1	
Q10	My instructor provides timely feedback to guide my progress.	1 2.8%	1 2.8%	11 30.6%	9 25%	14 38.9%	36	3.9	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	4 11.1%	13 36.1%	19 52.8%	36	4.4	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	9 25%	13 36.1%	14 38.9%	36	4.1	
Q13	My instructor encourages me to develop new viewpoints.	0	0	9 25.7%	14 40%	12 34.3%	35	4.1	
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 5.6%	6 16.7%	15 41.7%	13 36.1%	36	4.1	

				LAW -	Survey Comparisons						
Lal	s and Online Learning Questions		Re	sponses	(%)		С	ourse		All	
	SD D N A SA		N	Mean	N	Mean	Pct Rnk				
Q1	The section or lab is well integrated into the course structure.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	410	4.0	36
Q1	The course topics are organized in a coherent fashion.	0	2 14.3%	2 14.3%	5 35.7%	5 35.7%	14	3.9	637	4.1	21

Course:	LAW - 7125 501 - Intellectual Property Law I	Department:	Law
Responsible Faculty:	Richard Salgado	Responses / Expected:	5 / 12 (41.67%)

٠	se Evaluation Questions			Ric	chard S	algado		
Cour	se Evaluation Questions		R	esponse	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 20%	0	3 60%	1 20%	5	3.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	2 40%	2 40%	5	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	1 20%	3 60%	5	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	0	4 80%	5	4.6

				L	AW -	- 7125 - 50	01		S	urvey Compariso	1s
L	abs and Online Learning Questions		Res	spon	ses	(%)		Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	410	4.0	93
q	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	637	4.1	93

Course:	LAW - 7134 001 - Employment Law I	Department:	Law
Responsible Faculty:	Michael Maslanka	Responses / Expected:	5 / 11 (45.45%)

Course Evaluation Questions								
		Re	spons	es (%)			Individual	
Q1. My instructor explains difficult material clearly.	SD	D	N	Α	SA	N	Mean	
Candice Birks	0	1 20%	0	2 40%	2 40%	5	4.0	
Michael Maslanka	0	1 20%	0	2 40%	2 40%	5	4.0	

Course Evaluation Questions			Fa	culty Re	sults		
		Re	sponse	s (%)		In	dividual
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	1 20%	2 40%	2 40%	5	4.2
Michael Maslanka	0	1 20%	0	2 40%	2 40%	5	4.0

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

Course Evaluation Questions			Fac	culty Re	sults		
		Re	sponses	s (%)		In	dividual
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	1 20%	2 40%	0	2 40%	5	3.6
Michael Maslanka	0	1 20%	1 20%	1 20%	2 40%	5	3.8

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Sagree=4} \ \ \text{Sa$ 

Course Evaluation Questions		Faculty Results						
		Res	sponses	(%)		lr	ndividual	
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	A	SA	N	Mean	
Candice Birks	1 20%	0	0	2 40%	2 40%	5	3.8	
Michael Maslanka	0	1 20%	1 20%	1 20%	2 40%	5	3.8	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	culty Re	sults		
	Responses (%) Indi			ndividual			
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	1 20%	2 40%	2 40%	5	4.2
Michael Maslanka	0	1 20%	0	2 40%	2 40%	5	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			ı	Faculty I	Results			
		Res	pons	es (%)		Individual		
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	Α	SA	N	Mean	
Candice Birks	0	1 20%	0	2 40%	2 40%	5	4.0	
Michael Maslanka	0	1 20%	0	1 20%	3 60%	5	4.2	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Q7. My instructor establishes a climate of respect for students.	SD D		onses (%)	SA	N	ndividual Mean
, , , , , , , , , , , , , , , , , , ,	SD D	N	A	SA	N	Mean
Our dies Rides						
Candice Birks	0 0	0	1 20%	4 80%	5	4.8
Michael Maslanka 0	0 0	0	2 40%	3 60%	5	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty	y Results	s				
		R	espo	nses (%)		ı	ndividual			
Q8. My instructor is available to me on matters pertaining to the course.	SD	D	N	Α	SA	N	Mean			
Candice Birks	0	0	0	2 40%	3 60%	5	4.6			
Michael Maslanka	0	0	0	2 40%	3 60%	5	4.6			

Course Evaluation Questions								
				Individual				
Q9. My instructor encourages me to do my best work.	SD	D	N	A	SA	N	Mean	
Candice Birks	0	0	1 20%	2 40%	2 40%	5	4.2	
Michael Maslanka	0	0	1 20%	2 40%	2 40%	5	4.2	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results											
			Respons	es (%)		ı	ndividual					
Q10. My instructor provides timely feedback to guide my progress.	SD	D	N	Α	SA	N	Mean					
Candice Birks	0	0	1 20%	1 20%	3 60%	5	4.4					
Michael Maslanka	0	0	1 20%	1 20%	3 60%	5	4.4					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results											
			espo	nses (%)		lr	ndividual					
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	Α	SA	N	Mean					
Candice Birks	0	0	0	1 20%	4 80%	5	4.8					
Michael Maslanka	0	0	0	2 40%	3 60%	5	4.6					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				lts				
					)	Individual		
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	A	SA	N	Mean	
Candice Birks	0	0	0	2 40%	3 60%	5	4.6	
Michael Maslanka	0	0	0	2 40%	3 60%	5	4.6	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results											
		ı	Individual									
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	Α	SA	N	Mean					
Candice Birks	0	0	0	2 40%	3 60%	5	4.6					
Michael Maslanka	0	0	0	2 40%	3 60%	5	4.6					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results											
		Res	ponse	es (%)		li	ndividual					
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	Α	SA	N	Mean					
Candice Birks	0	1 20%	0	1 20%	3 60%	5	4.2					
Michael Maslanka	0	1 20%	0	1 20%	3 60%	5	4.2					

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

			LA	N - 7134	l - 001		Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						All			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	2 50%	2 50%	0	4	3.5	410	4.0	23	
Q16 The course topics are organized in a coherent fashion.	1 25%	0	0	2 50%	1 25%	4	3.5	637	4.1	15	

Course:	LAW - 7134 501 - Employment Law I	Department:	Law
Responsible Faculty:	Michael Maslanka	Responses / Expected:	21 / 44 (47.73%)

٥	Further the Occasion			Mic	hael Mas	lanka		
Cour	se Evaluation Questions		R	espons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	9 42.9%	12 57.1%	21	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 28.6%	15 71.4%	21	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	2 9.5%	1 4.8%	6 28.6%	12 57.1%	21	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	2 9.5%	2 9.5%	8 38.1%	9 42.9%	21	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 4.8%	5 23.8%	15 71.4%	21	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	3 14.3%	1 4.8%	7 33.3%	10 47.6%	21	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 14.3%	18 85.7%	21	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 19%	17 81%	21	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	4 19%	17 81%	21	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 9.5%	5 23.8%	14 66.7%	21	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 23.8%	16 76.2%	21	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 19%	17 81%	21	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 4.8%	3 14.3%	17 81%	21	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 5%	2 10%	17 85%	20	4.8

				LAW -	7134 - 5		Survey Comparisons				
Labs	and Online Learning Questions	Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 50%	0	1 50%	0	2	3.0	410	4.0	10
Q16	The course topics are organized in a coherent fashion.	0	1 12.5%	1 12.5%	2 25%	4 50%	8	4.1	637	4.1	35

Course:	LAW - 7146 001 - Health Care Law I	Department:	Law
Responsible Faculty:	Ashley Johnston	Responses / Expected:	15 / 26 (57.69%)

٥	Forbutton Occations			Ashle	y Johnst	on		
Coui	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 6.7%	1 6.7%	12 80%	1 6.7%	15	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 6.7%	10 66.7%	4 26.7%	15	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 13.3%	6 40%	6 40%	1 6.7%	15	3.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 13.3%	8 53.3%	5 33.3%	15	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 6.7%	2 13.3%	10 66.7%	2 13.3%	15	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.7%	0	6 40%	6 40%	2 13.3%	15	3.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	3 20%	3 20%	7 46.7%	2 13.3%	15	3.5
Q9	My instructor encourages me to do my best work.	0	0	1 6.7%	9 60%	5 33.3%	15	4.3
Q10	My instructor provides timely feedback to guide my progress.	2 13.3%	1 6.7%	5 33.3%	5 33.3%	2 13.3%	15	3.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	7 46.7%	8 53.3%	15	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 6.7%	7 46.7%	7 46.7%	15	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 13.3%	7 46.7%	6 40%	15	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 6.7%	0	3 20%	5 33.3%	6 40%	15	4.0

					LAW - 7	146 - 00°	1		Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	410	4.0	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	637	4.1	60		

Course:	LAW - 7198 301 - Legal Analysis for the Texas Bar II	Department:	Law
Responsible Faculty:	Ellen Pryor	Responses / Expected:	28 / 53 (52.83%)

Cour	se Evaluation Questions		R	esponse:	llen Pryo s (%)	r	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 3.7%	1 3.7%	0	14 51.9%	11 40.7%	27	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 3.6%	1 3.6%	0	14 50%	12 42.9%	28	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 3.6%	1 3.6%	1 3.6%	12 42.9%	13 46.4%	28	4.3
Q4	My instructor provides material that helps me do well on assignments.	1 3.6%	1 3.6%	1 3.6%	13 46.4%	12 42.9%	28	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 3.7%	1 3.7%	1 3.7%	11 40.7%	13 48.1%	27	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 3.7%	0	2 7.4%	13 48.1%	11 40.7%	27	4.2
Q7	My instructor establishes a climate of respect for students.	1 3.6%	0	3 10.7%	12 42.9%	12 42.9%	28	4.2
Q8	My instructor is available to me on matters pertaining to the course.	1 3.6%	1 3.6%	3 10.7%	13 46.4%	10 35.7%	28	4.1
Q9	My instructor encourages me to do my best work.	1 3.6%	0	2 7.1%	12 42.9%	13 46.4%	28	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 3.6%	0	1 3.6%	16 57.1%	10 35.7%	28	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 3.6%	0	3 10.7%	14 50%	10 35.7%	28	4.1
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 3.6%	0	5 17.9%	12 42.9%	10 35.7%	28	4.1
Q13	My instructor encourages me to develop new viewpoints.	1 3.6%	0	3 10.7%	14 50%	10 35.7%	28	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	1 3.6%	0	4 14.3%	12 42.9%	11 39.3%	28	4.1

		LAW - 7198 - 301								Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)					ourse	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	1 6.7%	1 6.7%	7 46.7%	6 40%	15	4.2	410	4.0	46			
Q16	The course topics are organized in a coherent fashion.	0	0	0	10 47.6%	11 52.4%	21	4.5	637	4.1	65			

Course:	LAW - 7201 001 - Teaching Fellows	Department:	Law
Responsible Faculty:	Melissa Shultz	Responses / Expected:	10 / 11 (90.91%)

Cour	se Evaluation Questions				elissa S	hultz		
	· · · · · · · · · · · · · · · · · · ·		Re	sponse	s (%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 30%	7 70%	10	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 40%	6 60%	10	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 40%	6 60%	10	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 50%	5 50%	10	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	3 30%	6 60%	10	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 40%	6 60%	10	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	2 20%	7 70%	10	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	4 40%	6 60%	10	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 30%	7 70%	10	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	1 10%	0	4 40%	5 50%	10	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 20%	3 30%	5 50%	10	4.3

				L	AW -	7201 - 00	01		Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	410	4.0	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	637	4.1	93		

Course:	LAW - 7202 001 - Oil and Gas II	Department:	Law
Responsible Faculty:	Joseph Dancy	Responses / Expected:	19 / 27 (70.37%)

	Productive Occasions				Joseph	Dancy		
Cour	se Evaluation Questions			Respo	nses (%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	6 31.6%	13 68.4%	19	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 31.6%	13 68.4%	19	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 5.3%	6 31.6%	12 63.2%	19	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 26.3%	14 73.7%	19	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 21.1%	15 78.9%	19	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 5.3%	4 21.1%	14 73.7%	19	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	19 100%	19	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	19 100%	19	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	2 10.5%	17 89.5%	19	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 21.1%	15 78.9%	19	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 21.1%	15 78.9%	19	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 22.2%	14 77.8%	18	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 5.3%	4 21.1%	14 73.7%	19	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 5.3%	4 21.1%	14 73.7%	19	4.7

				L	AW - 72	02 - 001		Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)					ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 25%	6 75%	8	4.8	410	4.0	83	
Q16	The course topics are organized in a coherent fashion.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8	637	4.1	80	

Course:	LAW - 7205 501 - Texas Civil Procedure	Department:	Law
Responsible Faculty:	Christine Tamer	Responses / Expected:	25 / 30 (83.33%)

Course Evaluation Questions		Faculty Results											
·		Responses (%)											
Q1. My instructor explains difficult material clearly.	SD	D	N	Α	SA	N	Mean						
Candice Birks	2 8%	0	4 16%	9 36%	10 40%	25	4.0						
Christine Tamer	1 4.2%	0	2 8.3%	5 20.8%	16 66.7%	24	4.5						

Course Evaluation Questions			F	aculty I	Results		
		F	Respons	es (%)		Inc	dividual
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	Α	SA	N	Mean
Candice Birks	2 8%	0	4 16%	4 16%	15 60%	25	4.2
Christine Tamer	1 4%	0	2 8%	4 16%	18 72%	25	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			F	aculty R	esults	ults					
Q3. My instructor gives assignments that contribute to my understanding of the subject.	Responses (%)					Inc	dividual				
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean				
Candice Birks	2 8%	2 8%	4 16%	7 28%	10 40%	25	3.8				
Christine Tamer	1 4%	0	4 16%	4 16%	16 64%	25	4.4				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			F	aculty R	esults	Faculty Results										
O4 Mu instructor provides protected that below me do well an essimple of				Responses (%)												
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	A	SA	N	Mean									
Candice Birks	2 8%	2 8%	4 16%	4 16%	13 52%	25	4.0									
Christine Tamer	1 4%	0	2 8%	5 20%	17 68%	25	4.5									

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results								
	Responses (%)					Responses (%) Individu		dividual	
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	A	SA	N	Mean		
Candice Birks	2 8%	1 4%	4 16%	5 20%	13 52%	25	4.0		
Christine Tamer	1 4%	0	3 12%	4 16%	17 68%	25	4.4		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions							
		Responses (%)					dividual
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	Α	SA	N	Mean
Candice Birks	2 8%	0	3 12%	8 32%	12 48%	25	4.1
Christine Tamer	1 4%	1 4%	1 4%	5 20%	17 68%	25	4.4

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

Course Evaluation Questions				Faculty F	Results		
			Respons		In	dividual	
Q7. My instructor establishes a climate of respect for students.	SD	D	N	Α	SA	N	Mean
Candice Birks	2 8%	0	4 16%	4 16%	15 60%	25	4.2
Christine Tamer	1 4%	0	0	4 16%	20 80%	25	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty F	Results				
	Responses (%)						Individual		
Q8. My instructor is available to me on matters pertaining to the course.	SD	D	N	Α	SA	N	Mean		
Candice Birks	2 8%	0	5 20%	6 24%	12 48%	25	4.0		
Christine Tamer	1 4%	0	2 8%	6 24%	16 64%	25	4.4		

Course Evaluation Questions				Faculty F	Results	ılts		
		ndividual						
Q9. My instructor encourages me to do my best work.	SD	D	N	Α	SA	N	Mean	
Candice Birks	2 8%	0	4 16%	4 16%	15 60%	25	4.2	
Christine Tamer	1 4%	0	0	6 24%	18 72%	25	4.6	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty Re	esults		
			Individual				
Q10. My instructor provides timely feedback to guide my progress.	SD	D	N	Α	SA	N	Mean
Candice Birks	2 8%	1 4%	5 20%	2 8%	15 60%	25	4.1
Christine Tamer	1 4%	1 4%	1 4%	5 20%	17 68%	25	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			ı	aculty Res	sults		
		Responses (%)					dividual
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	Α	SA	N	Mean
Candice Birks	2 8.3%	0	4 16.7%	4 16.7%	14 58.3%	24	4.2
Christine Tamer	1 4%	0	2 8%	6 24%	16 64%	25	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			F	aculty	y Results					
	Responses (%)					Inc	dividual			
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	Α	SA	N	Mean			
Candice Birks	2 8%	0	5 20%	5 20%	13 52%	25	4.1			
Christine Tamer	1 4%	0	4 16%	4 16%	16 64%	25	4.4			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty F	Results		
			Respons	es (%)		lr	ndividual
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	Α	SA	N	Mean
Candice Birks	2 8%	0	6 24%	5 20%	12 48%	25	4.0
Christine Tamer	1 4%	0	5 20%	3 12%	16 64%	25	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results									
		Responses (%) Indi								
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	A	SA	N	Mean			
Candice Birks	2 8%	1 4%	5 20%	4 16%	13 52%	25	4.0			
Christine Tamer	1 4%	0	3 12%	5 20%	16 64%	25	4.4			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	LAW - 7							Survey Comparisons				
Labs and Online Learning Questions		Res	spon	ıses (%)		(	Course		All			
	SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk		
Q15 The section or lab is well integrated into the course structure.	1 25%	0	0	2 50%	1 25%	4	3.5	410	4.0	23		
Q16 The course topics are organized in a coherent fashion.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	637	4.1	26		

Course:	LAW - 7206 001 - Texas Criminal Procedure	Department:	Law
Responsible Faculty:	Clarence Cole	Responses / Expected:	57 / 63 (90.48%)

Cour	se Evaluation Questions		R	C esponse	larence C es (%)	ole	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	10 17.5%	47 82.5%	57	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 12.3%	50 87.7%	57	4.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 1.8%	1 1.8%	1 1.8%	14 24.6%	40 70.2%	57	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 3.5%	10 17.5%	45 78.9%	57	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	12 21.1%	45 78.9%	57	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 3.5%	10 17.5%	45 78.9%	57	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	7 12.3%	50 87.7%	57	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 3.6%	7 12.5%	47 83.9%	56	4.8
Q9	My instructor encourages me to do my best work.	0	0	3 5.3%	9 15.8%	45 78.9%	57	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 1.8%	9 15.8%	47 82.5%	57	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	8 14%	49 86%	57	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 1.8%	7 12.3%	49 86%	57	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 3.5%	9 15.8%	46 80.7%	57	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	6 10.5%	51 89.5%	57	4.9

		LAW - 7206 - 001							Survey Comparisons			
Lal	s and Online Learning Questions		Responses (%)		Responses (%) Course					ourse		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5	410	4.0	65	
Q1	The course topics are organized in a coherent fashion.	0	0	0	5 23.8%	16 76.2%	21	4.8	637	4.1	83	

Course:	LAW - 7212 001 - Immigration Law II	Department:	Law
Responsible Faculty:	Danial Gividen	Responses / Expected:	9 / 13 (69.23%)

Cou	rse Evaluation Questions					Gividen		
			_		ponses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	9 100%	9	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	9 100%	9	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7

					LAW - 7	7212 - 001			Survey Comparisons				
La	bs and Online Learning Questions		Responses (%)		Responses (%)				(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	5 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	410	4.0	93		
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	637	4.1	70		

Course:	LAW - 7215 001 - Income Tax II	Department:	Law
Responsible Faculty:	Eric Reis	Responses / Expected:	6 / 7 (85.71%)

Cou	rse Evaluation Questions					Reis		
			_	_	ponses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	6 100%	6	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	6 100%	6	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	6 100%	6	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	6 100%	6	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0

				L	AW -	7215 - 00	01		Survey Comparisons				
La	bs and Online Learning Questions		Responses (%)		Responses (%) Course					Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	410	4.0	93		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	637	4.1	93		

Course:	LAW - 7221 001 - Effective Oral Communication	Department:	Law
Responsible Faculty:	Jessica Haseltine	Responses / Expected:	17 / 19 (89.47%)

Cour	se Evaluation Questions		R	Jess esponse	ica Hase	ltine	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 11.8%	3 17.6%	12 70.6%	17	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 5.9%	4 23.5%	12 70.6%	17	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 5.9%	5 29.4%	11 64.7%	17	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	1 5.9%	0	4 23.5%	12 70.6%	17	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 5.9%	1 5.9%	3 17.6%	12 70.6%	17	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 17.6%	3 17.6%	11 64.7%	17	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 23.5%	13 76.5%	17	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 29.4%	12 70.6%	17	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 5.9%	4 23.5%	12 70.6%	17	4.6
Q10	My instructor provides timely feedback to guide my progress.	1 5.9%	0	2 11.8%	6 35.3%	8 47.1%	17	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 29.4%	12 70.6%	17	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 5.9%	5 29.4%	11 64.7%	17	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 29.4%	12 70.6%	17	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 5.9%	0	4 23.5%	12 70.6%	17	4.6

	Labs and Online Learning Questions		LAW - 7221 - 001							Survey Comparisons		
Lab			Responses (%)				Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	2 40%	0	3 60%	5	4.2	410	4.0	46	
Q16	The course topics are organized in a coherent fashion.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	637	4.1	49	

Course:	LAW - 7221 501 - Effective Oral Communication	Department:	Law
Responsible Faculty:	Jessica Haseltine	Responses / Expected:	6 / 9 (66.67%)

Cour	rse Evaluation Questions				sica Hase	ltine		
Ooui	SE EVALUATION QUESTIONS		- 1	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 50%	3 50%	6	4.5

				L	AW -	7221 - 50	01	Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)						All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	410	4.0	93	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	637	4.1	93	

Course:	LAW - 7298 001 - Legal Analysis for the Texas Bar III	Department:	Law
Responsible Faculty:	Everett Chambers	Responses / Expected:	33 / 51 (64.71%)

	Productive Occasions			Ever	ett Cham	bers		
Cour	se Evaluation Questions		R	esponse	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 6.1%	1 3%	1 3%	12 36.4%	17 51.5%	33	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 6.1%	1 3%	1 3%	11 33.3%	18 54.5%	33	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	3 9.4%	1 3.1%	1 3.1%	10 31.3%	17 53.1%	32	4.2
Q4	My instructor provides material that helps me do well on assignments.	2 6.5%	2 6.5%	1 3.2%	9 29%	17 54.8%	31	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 6.1%	1 3%	2 6.1%	10 30.3%	18 54.5%	33	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 9.1%	3 9.1%	3 9.1%	9 27.3%	15 45.5%	33	3.9
Q7	My instructor establishes a climate of respect for students.	3 9.1%	0	3 9.1%	6 18.2%	21 63.6%	33	4.3
Q8	My instructor is available to me on matters pertaining to the course.	1 3%	0	2 6.1%	12 36.4%	18 54.5%	33	4.4
Q9	My instructor encourages me to do my best work.	2 6.1%	1 3%	2 6.1%	3 9.1%	25 75.8%	33	4.5
Q10	My instructor provides timely feedback to guide my progress.	3 9.4%	3 9.4%	2 6.3%	8 25%	16 50%	32	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	3 9.4%	0	4 12.5%	6 18.8%	19 59.4%	32	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	3 9.1%	0	3 9.1%	5 15.2%	22 66.7%	33	4.3
Q13	My instructor encourages me to develop new viewpoints.	3 9.1%	0	6 18.2%	6 18.2%	18 54.5%	33	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	3 9.1%	1 3%	3 9.1%	8 24.2%	18 54.5%	33	4.1

				LAW	Survey Comparisons						
La	Labs and Online Learning Questions		Responses (%)							All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q.	The section or lab is well integrated into the course structure.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	410	4.0	30
Q.	The course topics are organized in a coherent fashion.	1 6.3%	1 6.3%	1 6.3%	6 37.5%	7 43.8%	16	4.1	637	4.1	32

Course:	LAW - 7301 001 - Legal Writing I	Department:	Law
Responsible Faculty:	Melissa Shultz	Responses / Expected:	73 / 81 (90.12%)

Com	rse Evaluation Questions			М	elissa Sh	ultz		
Coui	se Evaluation Questions		R	esponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 1.4%	3 4.1%	19 26%	50 68.5%	73	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 1.4%	1 1.4%	24 33.3%	46 63.9%	72	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 2.7%	2 2.7%	19 26%	50 68.5%	73	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	2 2.7%	5 6.8%	16 21.9%	50 68.5%	73	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 1.4%	5 6.8%	20 27.4%	47 64.4%	73	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 1.4%	7 9.7%	16 22.2%	48 66.7%	72	4.5
Q7	My instructor establishes a climate of respect for students.	0	2 2.7%	6 8.2%	13 17.8%	52 71.2%	73	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	1 1.4%	3 4.1%	17 23.3%	52 71.2%	73	4.6
Q9	My instructor encourages me to do my best work.	0	1 1.4%	3 4.1%	9 12.3%	60 82.2%	73	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	2 2.7%	4 5.5%	15 20.5%	52 71.2%	73	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 1.4%	0	6 8.2%	13 17.8%	53 72.6%	73	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	6 8.3%	13 18.1%	53 73.6%	72	4.7
Q13	My instructor encourages me to develop new viewpoints.	3 4.1%	1 1.4%	6 8.2%	15 20.5%	48 65.8%	73	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	1 1.4%	1 1.4%	5 6.9%	14 19.4%	51 70.8%	72	4.6

		LAW - 7301 - 001								Survey Comparisons			
La	Labs and Online Learning Questions		Responses (%)					ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q <sup>2</sup>	The section or lab is well integrated into the course structure.	1 2.6%	1 2.6%	5 13.2%	10 26.3%	21 55.3%	38	4.3	410	4.0	53		
Q	The course topics are organized in a coherent fashion.	0	2 4.9%	5 12.2%	8 19.5%	26 63.4%	41	4.4	637	4.1	52		

Course:	LAW - 7301 501 - Legal Writing I	Department:	Law
Responsible Faculty:	Melissa Shultz	Responses / Expected:	49 / 62 (79.03%)

Cou	se Evaluation Questions				issa Shul	tz		
			Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	4 8.2%	6 12.2%	20 40.8%	19 38.8%	49	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	3 6.3%	6 12.5%	17 35.4%	22 45.8%	48	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 2%	5 10.2%	25 51%	18 36.7%	49	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	3 6.1%	6 12.2%	23 46.9%	17 34.7%	49	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	3 6.1%	7 14.3%	22 44.9%	17 34.7%	49	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 2%	7 14.3%	9 18.4%	20 40.8%	12 24.5%	49	3.7
Q7	My instructor establishes a climate of respect for students.	0	0	2 4.2%	23 47.9%	23 47.9%	48	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	2 4.3%	4 8.5%	22 46.8%	19 40.4%	47	4.2
Q9	My instructor encourages me to do my best work.	0	0	1 2.1%	16 34%	30 63.8%	47	4.6
Q10	My instructor provides timely feedback to guide my progress.	1 2%	1 2%	5 10.2%	23 46.9%	19 38.8%	49	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 2%	5 10.2%	21 42.9%	22 44.9%	49	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 4.1%	7 14.3%	23 46.9%	17 34.7%	49	4.1
Q13	My instructor encourages me to develop new viewpoints.	1 2%	3 6.1%	9 18.4%	17 34.7%	19 38.8%	49	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	2 4.1%	5 10.2%	6 12.2%	16 32.7%	20 40.8%	49	4.0

				LAW	Survey Comparisons						
Lab	Labs and Online Learning Questions		Responses (%)					ourse		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 3.3%	8 26.7%	3 10%	13 43.3%	5 16.7%	30	3.4	410	4.0	21
Q16	The course topics are organized in a coherent fashion.	2 6.1%	7 21.2%	4 12.1%	14 42.4%	6 18.2%	33	3.5	637	4.1	13

Course:	LAW - 7302 001 - Civil Procedure I	Department:	Law
Responsible Faculty:	Thomas Perkins	Responses / Expected:	76 / 80 (95%)

^	Forduction Countries			The	omas Per	kins		
Cour	se Evaluation Questions		Re	esponse	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	15 19.7%	61 80.3%	76	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 1.3%	0	13 17.1%	62 81.6%	76	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	4 5.3%	14 18.7%	57 76%	75	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 1.3%	15 19.7%	60 78.9%	76	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 1.3%	3 3.9%	17 22.4%	55 72.4%	76	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 1.3%	5 6.6%	14 18.4%	56 73.7%	76	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	11 14.5%	65 85.5%	76	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	4 5.3%	14 18.4%	58 76.3%	76	4.7
Q9	My instructor encourages me to do my best work.	0	0	2 2.6%	17 22.4%	57 75%	76	4.7
Q10	My instructor provides timely feedback to guide my progress.	1 1.3%	3 3.9%	5 6.6%	17 22.4%	50 65.8%	76	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	14 18.4%	62 81.6%	76	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 2.6%	22 28.9%	52 68.4%	76	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 5.3%	21 27.6%	51 67.1%	76	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 1.3%	1 1.3%	16 21.1%	58 76.3%	76	4.7

				LA	W - 7302		Survey Comparisons				
Lal	s and Online Learning Questions		Responses (%)		C	ourse		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	410	4.0	63
Q1	The course topics are organized in a coherent fashion.	1 4.3%	0	0	4 17.4%	18 78.3%	23	4.7	637	4.1	76

Course:	LAW - 7302 501 - Civil Procedure I	Department:	Law
Responsible Faculty:	Eric Porterfield	Responses / Expected:	49 / 62 (79.03%)

Course Evaluation Questions		Faculty Results												
·				Individual										
Q1. My instructor explains difficult material clearly.	SD	D	N	A	SA	N	Mean							
Karen Jarrell	0	0	7 15.2%	9 19.6%	30 65.2%	46	4.5							
Eric Porterfield	0	0	0	10 21.3%	37 78.7%	47	4.8							

Course Evaluation Questions		Faculty Results										
				Responses (%)								
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	Α	SA	N	Mean					
Karen Jarrell	0	0	6 13.3%	9 20%	30 66.7%	45	4.5					
Eric Porterfield	0	0	0	13 27.1%	35 72.9%	48	4.7					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fac	ulty Resu	lts		
		Individual					
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	1 2.2%	8 17.4%	9 19.6%	28 60.9%	46	4.4
Eric Porterfield	1 2.1%	1 2.1%	5 10.4%	10 20.8%	31 64.6%	48	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results						
		Responses (%)					dividual
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	1 2.2%	7 15.2%	10 21.7%	28 60.9%	46	4.4
Eric Porterfield	0	1 2.1%	3 6.3%	11 22.9%	33 68.8%	48	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results						
		Responses (%) Individu					dividual
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	6 13%	11 23.9%	29 63%	46	4.5
Eric Porterfield	0	0	0	12 25%	36 75%	48	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results						
	Responses (%)					Inc	dividual
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	12 26.1%	6 13%	28 60.9%	46	4.3
Eric Porterfield	1 2.1%	0	7 14.6%	9 18.8%	31 64.6%	48	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

			Faculty Results						
	Responses (%) Individual								
Q7. My instructor establishes a climate of respect for students.	SD	D	N	Α	SA	N	Mean		
Karen Jarrell	0	0	6 13%	11 23.9%	29 63%	46	4.5		
Eric Porterfield	0	0	0	12 25%	36 75%	48	4.8		

Course Evaluation Questions				Faculty Re	esults		
			Individual				
Q8. My instructor is available to me on matters pertaining to the course.	SD	D	N	A	SA	N	Mean
Karen Jarrell	0	0	7 15.2%	10 21.7%	29 63%	46	4.5
Eric Porterfield	0	0	0	13 28.3%	33 71.7%	46	4.7

Course Evaluation Questions				Faculty Re	sults		
				Individual			
Q9. My instructor encourages me to do my best work.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	8 17.4%	12 26.1%	26 56.5%	46	4.4
Eric Porterfield	0	0	1 2.1%	14 29.8%	32 68.1%	47	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			ı	Faculty Resu	ılts					
				Indivi						
10. My instructor provides timely feedback to guide my progress.	SD	D	N	A	SA	N	Mean			
Karen Jarrell	0	1 2.2%	9 19.6%	12 26.1%	24 52.2%	46	4.3			
Eric Porterfield	0	1 2.1%	5 10.4%	15 31.3%	27 56.3%	48	4.4			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty	Results		
		Individual					
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	A	SA	N	Mean
Karen Jarrell	0	0	6 13%	12 26.1%	28 60.9%	46	4.5
Eric Porterfield	0	0	0	15 31.3%	33 68.8%	48	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			ı	Faculty R	esults			
			Respon	ses (%)		Inc	Individual	
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	Α	SA	N	Mean	
Karen Jarrell	0	0	9 19.6%	10 21.7%	27 58.7%	46	4.4	
Eric Porterfield	0	0	1 2.1%	14 29.2%	33 68.8%	48	4.7	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty Res	ults		
		Individua					
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	10 21.7%	8 17.4%	28 60.9%	46	4.4
Eric Porterfield	1 2.1%	0	2 4.2%	12 25%	33 68.8%	48	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			F	aculty Resi	ults				
		Responses (%)							
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	A	SA	N	Mean		
Karen Jarrell	0	1 2.2%	8 17.4%	8 17.4%	29 63%	46	4.4		
Eric Porterfield	0	1 2.1%	1 2.1%	8 16.7%	38 79.2%	48	4.7		

				LAW - 7	302 - 501	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)				С	ourse	All		
	SD	D D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	0	0	0	3 50%	3 50%	6	4.5	410	4.0	72
Q16 The course topics are organized in a coherent fashion.	0	0	0	5 35.7%	9 64.3%	14	4.6	637	4.1	73

Course:	LAW - 7306 001 - Tort Law Practicum	Department:	Law
Responsible Faculty:	Christine Tamer	Responses / Expected:	17 / 18 (94.44%)

Course Evaluation Questions				Faculty R	esults				
			Respo	onses (%)		In	Individual		
Q1. My instructor explains difficult material clearly.	SD	D	N	Α	SA	N	Mean		
Karen Jarrell	0	0	1 5.9%	1 5.9%	15 88.2%	17	4.8		
Christine Tamer	0	0	0	2 11.8%	15 88.2%	17	4.9		

Course Evaluation Questions				Faculty F	Results				
			Responses (%)				dividual		
y instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	A	SA	N	Mean		
Karen Jarrell	0	0	1 5.9%	2 11.8%	14 82.4%	17	4.8		
Christine Tamer	0	0	0	3 17.6%	14 82.4%	17	4.8		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		1 2 14		s						
		Responses (%) Indiv								
structor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean			
Karen Jarrell	0	0	1 5.9%	2 11.8%	14 82.4%	17	4.8			
Christine Tamer	0	0	0	3 17.6%	14 82.4%	17	4.8			

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Sagree=4} \ \ \text{Sa$ 

Course Evaluation Questions				Faculty R	esults				
	Responses (%)						dividual		
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	Α	SA	N	Mean		
Karen Jarrell	0	0	1 5.9%	4 23.5%	12 70.6%	17	4.6		
Christine Tamer	0	0	0	3 17.6%	14 82.4%	17	4.8		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results						
	Responses (%)				Inc	Individual	
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	A	SA	N	Mean
Karen Jarrell	0	0	1 5.9%	2 11.8%	14 82.4%	17	4.8
Christine Tamer	0	0	0	2 11.8%	15 88.2%	17	4.9

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{St$ 

Course Evaluation Questions				Faculty Results									
	Responses (%)					Individual							
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.		D	N	Α	SA	N	Mean						
Karen Jarrell	0	0	1 5.9%	1 5.9%	15 88.2%	17	4.8						
Christine Tamer	0	0	0	2 11.8%	15 88.2%	17	4.9						

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions Faculty Result					Results					
	Responses (%)									
Q7. My instructor establishes a climate of respect for students.	SD	D	N	Α	SA	N	Mean			
Karen Jarrell	0	0	1 5.9%	1 5.9%	15 88.2%	17	4.8			
Christine Tamer	0	0	0	1 5.9%	16 94.1%	17	4.9			

Course Evaluation Questions	Faculty Results										
			Individual								
Q8. My instructor is available to me on matters pertaining to the course.		D	N	A	SA	N	Mean				
Karen Jarrell	0	0	1 5.9%	2 11.8%	14 82.4%	17	4.8				
Christine Tamer	0	0	0	2 11.8%	15 88.2%	17	4.9				

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$ 

Course Evaluation Questions	Faculty Results											
			Individual									
Q9. My instructor encourages me to do my best work.	SD	D	N	Α	SA	N	Mean					
Karen Jarrell	0	0	1 5.9%	1 5.9%	15 88.2%	17	4.8					
Christine Tamer	0	0	0	1 5.9%	16 94.1%	17	4.9					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions  Q10. My instructor provides timely feedback to guide my progress.							
				Individual			
		D	N	A	SA	N	Mean
Karen Jarrell	0	0	1 5.9%	1 5.9%	15 88.2%	17	4.8
Christine Tamer	0	0	0	1 5.9%	16 94.1%	17	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results										
			Individual								
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.		D	N	A	SA	N	Mean				
Karen Jarrell	0	0	1 5.9%	1 5.9%	15 88.2%	17	4.8				
Christine Tamer	0	0	0	1 5.9%	16 94.1%	17	4.9				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results								
			Respo	nses (%)		Inc	lividual		
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	Α	SA	N	Mean		
Karen Jarrell	0	0	1 5.9%	2 11.8%	14 82.4%	17	4.8		
Christine Tamer	0	0	1 5.9%	2 11.8%	14 82.4%	17	4.8		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Faculty Results											
				In	dividual									
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	Α	SA	N	Mean							
Karen Jarrell	0	0	1 5.9%	2 11.8%	14 82.4%	17	4.8							
Christine Tamer	1 5.9%	0	0	3 17.6%	13 76.5%	17	4.6							

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty Results									
	Responses (%)							dividual					
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	Α	SA	N	Mean						
Karen Jarrell	0	0	1 5.9%	1 5.9%	15 88.2%	17	4.8						
Christine Tamer	1 5.9%	0	0	2 11.8%	14 82.4%	17	4.6						

					LAW - 73	306 - 001	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	410	4.0	80
Q	The course topics are organized in a coherent fashion.	0	0	0	0	8 100%	8	5.0	637	4.1	93

Course:	LAW - 7310 501 - Criminal Law	Department:	Law
Responsible Faculty:	Brian Owsley	Responses / Expected:	29 / 43 (67.44%)

				Bri	an Owsle	у		
Cou	rse Evaluation Questions		Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 3.4%	3 10.3%	2 6.9%	10 34.5%	13 44.8%	29	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 3.4%	1 3.4%	4 13.8%	9 31%	14 48.3%	29	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 3.4%	0	2 6.9%	9 31%	17 58.6%	29	4.4
Q4	My instructor provides material that helps me do well on assignments.	1 3.4%	1 3.4%	5 17.2%	8 27.6%	14 48.3%	29	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 3.4%	0	4 13.8%	11 37.9%	13 44.8%	29	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 3.4%	1 3.4%	4 13.8%	11 37.9%	12 41.4%	29	4.1
Q7	My instructor establishes a climate of respect for students.	0	1 3.4%	4 13.8%	9 31%	15 51.7%	29	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	4 13.8%	11 37.9%	14 48.3%	29	4.3
Q9	My instructor encourages me to do my best work.	0	0	6 20.7%	8 27.6%	15 51.7%	29	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 10.3%	11 37.9%	15 51.7%	29	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 3.6%	1 3.6%	5 17.9%	6 21.4%	15 53.6%	28	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 3.4%	0	6 20.7%	11 37.9%	11 37.9%	29	4.1
Q13	My instructor encourages me to develop new viewpoints.	2 7.1%	0	7 25%	9 32.1%	10 35.7%	28	3.9
Q14	My instructor made the subject interesting and motivated me to learn.	1 3.6%	2 7.1%	5 17.9%	6 21.4%	14 50%	28	4.1

				LAW	I - 7	310 - 501	Survey Comparisons						
Lab	s and Online Learning Questions			Response	s (%	)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	1 33.3%	0	2 66.7%	3	4.3	410	4.0	55		
Q16	The course topics are organized in a coherent fashion.	0	0	3 50%	0	3 50%	6	4.0	637	4.1	26		

Course:	LAW - 7312 501 - Practice Foundation I: Interviewing and Counseling	Department:	Law
Responsible Faculty:	Clarence Cole	Responses / Expected:	27 / 43 (62.79%)

Cour	se Evaluation Questions		R	Cla esponse	arence Co	ole	Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 3.7%	0	2 7.4%	8 29.6%	16 59.3%	27	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 3.8%	0	1 3.8%	7 26.9%	17 65.4%	26	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 3.7%	0	1 3.7%	7 25.9%	18 66.7%	27	4.5
Q4	My instructor provides material that helps me do well on assignments.	1 3.7%	0	2 7.4%	5 18.5%	19 70.4%	27	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 3.7%	0	2 7.4%	6 22.2%	18 66.7%	27	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 3.7%	0	2 7.4%	8 29.6%	16 59.3%	27	4.4
Q7	My instructor establishes a climate of respect for students.	1 3.7%	0	1 3.7%	6 22.2%	19 70.4%	27	4.6
Q8	My instructor is available to me on matters pertaining to the course.	1 3.7%	0	1 3.7%	6 22.2%	19 70.4%	27	4.6
Q9	My instructor encourages me to do my best work.	1 3.8%	0	1 3.8%	5 19.2%	19 73.1%	26	4.6
Q10	My instructor provides timely feedback to guide my progress.	1 3.7%	1 3.7%	2 7.4%	4 14.8%	19 70.4%	27	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 3.7%	0	2 7.4%	4 14.8%	20 74.1%	27	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 3.7%	0	2 7.4%	4 14.8%	20 74.1%	27	4.6
Q13	My instructor encourages me to develop new viewpoints.	1 3.7%	0	3 11.1%	3 11.1%	20 74.1%	27	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	1 3.7%	0	2 7.4%	6 22.2%	18 66.7%	27	4.5

					LAW - 731	2 - 501	Survey Comparisons				
Lab	s and Online Learning Questions		Re	espo	nses (%)		С	ourse		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 11.1%	0	0	4 44.4%	4 44.4%	9	4.1	410	4.0	40
Q16	The course topics are organized in a coherent fashion.	1 10%	0	0	4 40%	5 50%	10	4.2	637	4.1	38

Course:	LAW - 7313 001 - Practice Foundation II: Negotiation and Conflict Resolution	Department:	Law
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	51 / 71 (71.83%)

Ca	se Evaluation Questions			Jonat	han Bridg	es		
Coul	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	4 7.8%	10 19.6%	17 33.3%	9 17.6%	11 21.6%	51	3.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	3 5.9%	6 11.8%	9 17.6%	22 43.1%	11 21.6%	51	3.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	7 14%	4 8%	10 20%	15 30%	14 28%	50	3.5
Q4	My instructor provides material that helps me do well on assignments.	5 9.8%	7 13.7%	16 31.4%	13 25.5%	10 19.6%	51	3.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	4 7.8%	5 9.8%	9 17.6%	21 41.2%	12 23.5%	51	3.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	9 17.6%	2 3.9%	13 25.5%	15 29.4%	12 23.5%	51	3.4
Q7	My instructor establishes a climate of respect for students.	2 4%	0	6 12%	9 18%	33 66%	50	4.4
Q8	My instructor is available to me on matters pertaining to the course.	1 2%	0	6 11.8%	12 23.5%	32 62.7%	51	4.5
Q9	My instructor encourages me to do my best work.	2 3.9%	3 5.9%	7 13.7%	13 25.5%	26 51%	51	4.1
Q10	My instructor provides timely feedback to guide my progress.	5 9.8%	6 11.8%	8 15.7%	14 27.5%	18 35.3%	51	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 4%	0	7 14%	14 28%	27 54%	50	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2%	2 3.9%	9 17.6%	16 31.4%	23 45.1%	51	4.1
Q13	My instructor encourages me to develop new viewpoints.	1 2%	2 3.9%	10 19.6%	15 29.4%	23 45.1%	51	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	7 14.3%	7 14.3%	13 26.5%	13 26.5%	9 18.4%	49	3.2

				LAW -	Survey Comparisons						
Lal	s and Online Learning Questions		Responses (%) Course All				Course  A N Mean N M  4 19 3.2 410 4  3 22 25 637 44				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	4 21.1%	1 5.3%	5 26.3%	5 26.3%	4 21.1%	19	3.2	410	4.0	12
Q1	The course topics are organized in a coherent fashion.	9 40.9%	3 13.6%	2 9.1%	5 22.7%	3 13.6%	22	2.5	637	4.1	4

Course:	LAW - 7314 001 - Constitutional Law	Department:	Law
Responsible Faculty:	Brian Owsley	Responses / Expected:	58 / 72 (80.56%)

Cour	se Evaluation Questions				n Owsley	'		
			Re	(%)		Inc	lividual	
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	5 8.6%	4 6.9%	6 10.3%	20 34.5%	23 39.7%	58	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	3 5.3%	2 3.5%	5 8.8%	22 38.6%	25 43.9%	57	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 1.7%	2 3.4%	7 12.1%	19 32.8%	29 50%	58	4.3
Q4	My instructor provides material that helps me do well on assignments.	5 8.6%	2 3.4%	7 12.1%	16 27.6%	28 48.3%	58	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	6 10.3%	1 1.7%	8 13.8%	19 32.8%	24 41.4%	58	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	5 8.6%	7 12.1%	9 15.5%	13 22.4%	24 41.4%	58	3.8
Q7	My instructor establishes a climate of respect for students.	13 22.4%	5 8.6%	5 8.6%	15 25.9%	20 34.5%	58	3.4
Q8	My instructor is available to me on matters pertaining to the course.	3 5.2%	2 3.4%	7 12.1%	16 27.6%	30 51.7%	58	4.2
Q9	My instructor encourages me to do my best work.	4 6.9%	3 5.2%	13 22.4%	11 19%	27 46.6%	58	3.9
Q10	My instructor provides timely feedback to guide my progress.	1 1.7%	1 1.7%	7 12.1%	21 36.2%	28 48.3%	58	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	13 22.8%	6 10.5%	4 7%	11 19.3%	23 40.4%	57	3.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 3.4%	4 6.9%	9 15.5%	17 29.3%	26 44.8%	58	4.1
Q13	My instructor encourages me to develop new viewpoints.	7 12.1%	3 5.2%	15 25.9%	9 15.5%	24 41.4%	58	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	8 13.8%	6 10.3%	7 12.1%	13 22.4%	24 41.4%	58	3.7

				L	AW - 73	14 - 001			S	urvey Compariso	ns
Labs	and Online Learning Questions		Res	pon	ses (%)		С	ourse		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 25%	0	0	1 25%	2 50%	4	3.8	410	4.0	28
Q16	The course topics are organized in a coherent fashion.	1 10%	0	0	1 10%	8 80%	10	4.5	637	4.1	60

Course:	LAW - 7315 501 - Family Law	Department:	Law
Responsible Faculty:	Kevin Robinowich	Responses / Expected:	17 / 26 (65.38%)

Com	se Evaluation Questions			Kev	in Robino	wich		
ooui	Se Evaluation Questions		1	Response	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 5.9%	2 11.8%	6 35.3%	8 47.1%	17	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	4 23.5%	4 23.5%	9 52.9%	17	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 5.9%	9 52.9%	7 41.2%	17	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 12.5%	8 50%	6 37.5%	16	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 17.6%	7 41.2%	7 41.2%	17	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	5 29.4%	5 29.4%	7 41.2%	17	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	2 11.8%	6 35.3%	9 52.9%	17	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 5.9%	5 29.4%	11 64.7%	17	4.6
Q9	My instructor encourages me to do my best work.	0	1 5.9%	1 5.9%	5 29.4%	10 58.8%	17	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 17.6%	4 23.5%	10 58.8%	17	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 11.8%	5 29.4%	10 58.8%	17	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 17.6%	5 29.4%	9 52.9%	17	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 17.6%	7 41.2%	7 41.2%	17	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 11.8%	1 5.9%	5 29.4%	9 52.9%	17	4.2

Labs and Online Learning Questions		LAW - 7315 - 501							Survey Comparisons					
		Responses (%) Course						All						
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	1 25%	1 25%	2 50%	4	4.3	410	4.0	50			
Q16	The course topics are organized in a coherent fashion.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	637	4.1	47			

Course:	LAW - 7317 001 - Professional Responsibility	Department:	Law
Responsible Faculty:	Loren Jacobson	Responses / Expected:	36 / 47 (76.60%)

Cour	se Evaluation Questions				Loren Ja	cobson		
Coul	se evaluation questions			Respo	nses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 2.8%	10 27.8%	25 69.4%	36	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	9 25%	27 75%	36	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 2.8%	9 25%	26 72.2%	36	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	11 30.6%	25 69.4%	36	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 2.8%	9 25%	26 72.2%	36	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 2.8%	9 25%	26 72.2%	36	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 5.7%	33 94.3%	35	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	6 16.7%	30 83.3%	36	4.8
Q9	My instructor encourages me to do my best work.	0	0	1 2.9%	7 20.6%	26 76.5%	34	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 5.7%	8 22.9%	25 71.4%	35	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 13.9%	31 86.1%	36	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 2.8%	8 22.2%	27 75%	36	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 2.8%	6 16.7%	29 80.6%	36	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 2.8%	9 25%	26 72.2%	36	4.7

		LAW - 7317 - 001			Survey Comparisons						
La	bs and Online Learning Questions		Res	spon	ses (%)		C	ourse			
	SD D N A SA N		N	Mean	an N Mean						
Q	The section or lab is well integrated into the course structure.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4	410	4.0	58
Q	6 The course topics are organized in a coherent fashion.	0	0	0	5 35.7%	9 64.3%	14	4.6	637	4.1	73

Course:	LAW - 7318 001 - Evidence	Department:	Law
Responsible Faculty:	Eric Porterfield	Responses / Expected:	23 / 26 (88.46%)

Course Evaluation Questions			F	aculty Res	sults		
	Responses (%						ndividual
Q1. My instructor explains difficult material clearly.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	2 8.7%	0	3 13%	18 78.3%	23	4.6
Eric Porterfield	0	1 4.3%	1 4.3%	3 13%	18 78.3%	23	4.7

Course Evaluation Questions				Faculty	Results				
			Res	ponses (%	)	In			
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	A	SA	N	Mean		
Karen Jarrell	0	0	0	4 17.4%	19 82.6%	23	4.8		
Eric Porterfield	0	0	0	2 9.1%	20 90.9%	22	4.9		

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agr$ 

Course Evaluation Questions		Faculty Results									
			Respor	ıses (%)		Inc	dividual				
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean				
Karen Jarrell	0	0	2 8.7%	7 30.4%	14 60.9%	23	4.5				
Eric Porterfield	0	0	3 13.6%	5 22.7%	14 63.6%	22	4.5				

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Sagree=4} \ \ \text{Sa$ 

Course Evaluation Questions				Faculty	y Results		
			Res		In	dividual	
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	0	9 39.1%	14 60.9%	23	4.6
Eric Porterfield	0	0	0	10 45.5%	12 54.5%	22	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty	y Results		
		Responses (%) Individ					dividual
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	0	2 9.1%	20 90.9%	22	4.9
Eric Porterfield	0	0	0	3 13.6%	19 86.4%	22	4.9

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{St$ 

Course Evaluation Questions				Faculty F	Results			
	Responses (%)					Individual		
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	Α	SA	N	Mean	
Karen Jarrell	0	0	2 8.7%	6 26.1%	15 65.2%	23	4.6	
Eric Porterfield	0	0	2 9.1%	5 22.7%	15 68.2%	22	4.6	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results											
			Res	ponses (%)		lr	ndividual					
Q7. My instructor establishes a climate of respect for students.	SD	D	N	Α	SA	N	Mean					
Karen Jarrell	0	0	0	2 8.7%	21 91.3%	23	4.9					
Eric Porterfield	0	0	0	0	22 100%	22	5.0					

Course Evaluation Questions							
Q8. My instructor is available to me on matters pertaining to the course.			Resp	onses (%)		In	dividual
8. My Instructor is available to me on matters pertaining to the course.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	0	3 13%	20 87%	23	4.9
Eric Porterfield	0	0	0	1 4.5%	21 95.5%	22	5.0

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

Course Evaluation Questions				Facu	lty Results		
			Resp	onses (%)		Ir	ndividual
Q9. My instructor encourages me to do my best work.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	0	3 13%	20 87%	23	4.9
Eric Porterfield	0	0	0	2 9.1%	20 90.9%	22	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty F	Results		
				onses (%)		In	dividual
Q10. My instructor provides timely feedback to guide my progress.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	0	6 26.1%	17 73.9%	23	4.7
Eric Porterfield	0	0	1 4.8%	4 19%	16 76.2%	21	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Facult	y Results		
			Resp	onses (%	)	Ind	dividual
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	0	2 8.7%	21 91.3%	23	4.9
Eric Porterfield	0	0	0	1 4.5%	21 95.5%	22	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions							
		. 1	Resp	onses (%	)	Inc	dividual
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	Α	SA	N	Mean
Karen Jarrell	0	0	0	2 8.7%	21 91.3%	23	4.9
Eric Porterfield	0	0	0	3 13.6%	19 86.4%	22	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty F	lesults		
			Respo	onses (%)		In	dividual
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	A	SA	N	Mean
Karen Jarrell	0	0	1 4.3%	5 21.7%	17 73.9%	23	4.7
Eric Porterfield	0	0	1 4.5%	3 13.6%	18 81.8%	22	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results												
			Resp	onses (%)	)	In	dividual							
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	Α	SA	N	Mean							
Karen Jarrell	0	0	0	2 8.7%	21 91.3%	23	4.9							
Eric Porterfield	0	0	0	2 9.1%	20 90.9%	22	4.9							

				LAW	1 - 7	318 - 001		Survey Comparisons				
L	Labs and Online Learning Questions			Response	s (%	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	0	0	1 33.3%	0	2 66.7%	3	4.3	410	4.0	55	
c	The course topics are organized in a coherent fashion.	0	0	1 20%	0	4 80%	5	4.6	637	4.1	70	

Course:	LAW - 7321 501 - Business Associations I	Department:	Law
Responsible Faculty:	Reynaldo Valencia	Responses / Expected:	20 / 40 (50%)

٥	Further Constitute			Re	ynaldo	Valenci	а	
Cour	se Evaluation Questions		R	espons	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 5%	0	1 5%	9 45%	9 45%	20	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5%	0	0	9 45%	10 50%	20	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 5%	0	0	9 45%	10 50%	20	4.4
Q4	My instructor provides material that helps me do well on assignments.	1 5%	0	2 10%	6 30%	11 55%	20	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5%	0	0	9 45%	10 50%	20	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 5%	0	1 5%	7 35%	11 55%	20	4.4
Q7	My instructor establishes a climate of respect for students.	1 5%	0	0	5 25%	14 70%	20	4.6
Q8	My instructor is available to me on matters pertaining to the course.	1 5%	0	0	5 25%	14 70%	20	4.6
Q9	My instructor encourages me to do my best work.	1 5%	0	0	7 35%	12 60%	20	4.5
Q10	My instructor provides timely feedback to guide my progress.	1 5%	0	0	8 40%	11 55%	20	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5%	0	0	6 30%	13 65%	20	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 5%	0	1 5%	5 25%	13 65%	20	4.5
Q13	My instructor encourages me to develop new viewpoints.	1 5%	0	1 5%	5 25%	13 65%	20	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	1 5%	0	1 5%	5 25%	13 65%	20	4.5

					LAW - 73	321 - 501		Survey Comparisons					
Lal	Labs and Online Learning Questions		Responses (%)						All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	410	4.0	78		
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	637	4.1	78		

Course:	LAW - 7322 501 - Commercial Law	Department:	Law
Responsible Faculty:	Matthew Crockett	Responses / Expected:	20 / 27 (74.07%)

Cou	se Evaluation Questions			Ма	tthew C	rockett		
Ooui	se Evaluation Questions		Re	esponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 5%	0	7 35%	12 60%	20	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 5%	0	5 25%	14 70%	20	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 10%	4 20%	14 70%	20	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 10%	5 25%	13 65%	20	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 10%	4 20%	14 70%	20	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 5%	7 35%	12 60%	20	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	1 5%	4 20%	15 75%	20	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 10%	18 90%	20	4.9
Q9	My instructor encourages me to do my best work.	0	0	1 5%	3 15%	16 80%	20	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 5%	0	3 15%	16 80%	20	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 10%	4 20%	14 70%	20	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 5%	5 25%	14 70%	20	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 20%	3 15%	13 65%	20	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 10%	5 25%	13 65%	20	4.6

Labs and Online Learning Questions		LAW - 7322 - 501							Survey Comparisons			
		Responses (%)				C	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 50%	2 50%	4	4.5	410	4.0	72	
Q1	The course topics are organized in a coherent fashion.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	637	4.1	60	

Course:	LAW - 7325 001 - Wills, Trusts and Estates	Department:	Law
Responsible Faculty:	Samuel Long	Responses / Expected:	71 / 89 (79.78%)

Cour	se Evaluation Questions		R	Sa esponse:	muel Lor s (%)	ng	Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 1.4%	4 5.6%	8 11.3%	28 39.4%	30 42.3%	71	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 1.4%	1 1.4%	5 7%	25 35.2%	39 54.9%	71	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 1.4%	0	6 8.5%	26 36.6%	38 53.5%	71	4.4
Q4	My instructor provides material that helps me do well on assignments.	1 1.4%	0	8 11.3%	19 26.8%	43 60.6%	71	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 1.4%	1 1.4%	10 14.5%	23 33.3%	34 49.3%	69	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 1.4%	5 7%	9 12.7%	20 28.2%	36 50.7%	71	4.2
Q7	My instructor establishes a climate of respect for students.	1 1.4%	1 1.4%	1 1.4%	14 20%	53 75.7%	70	4.7
Q8	My instructor is available to me on matters pertaining to the course.	1 1.4%	1 1.4%	3 4.2%	18 25.4%	48 67.6%	71	4.6
Q9	My instructor encourages me to do my best work.	1 1.4%	1 1.4%	4 5.6%	18 25.4%	47 66.2%	71	4.5
Q10	My instructor provides timely feedback to guide my progress.	2 2.9%	4 5.7%	6 8.6%	24 34.3%	34 48.6%	70	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 1.4%	1 1.4%	3 4.3%	11 15.7%	54 77.1%	70	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 1.4%	1 1.4%	6 8.5%	18 25.4%	45 63.4%	71	4.5
Q13	My instructor encourages me to develop new viewpoints.	1 1.4%	1 1.4%	7 10.1%	22 31.9%	38 55.1%	69	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	3 4.3%	6 8.6%	10 14.3%	18 25.7%	33 47.1%	70	4.0

Labs and Online Learning Questions		LAW - 7325 - 001								Survey Comparisons			
		Responses (%)					С	ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
q	The section or lab is well integrated into the course structure.	1 6.3%	1 6.3%	0	5 31.3%	9 56.3%	16	4.3	410	4.0	50		
q	The course topics are organized in a coherent fashion.	1 3.8%	1 3.8%	1 3.8%	10 38.5%	13 50%	26	4.3	637	4.1	46		

Course:	LAW - 7326 501 - Administrative Law	Department:	Law
Responsible Faculty:	Thomas Perkins	Responses / Expected:	42 / 60 (70%)

Course Evaluation Questions				Faculty Res	sults					
Of Mulineton Annual and Hillington Annual and Annual an		Responses (%)								
Q1. My instructor explains difficult material clearly.	SD	D	N	Α	SA	N	Mean			
Candice Birks	1 2.4%	0	4 9.5%	12 28.6%	25 59.5%	42	4.4			
Thomas Perkins	1 2.4%	0	3 7.1%	14 33.3%	24 57.1%	42	4.4			

Course Evaluation Questions			F	aculty Re	sults				
			Responses (%)						
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	Α	SA	N	Mean		
Candice Birks	1 2.4%	0	5 11.9%	12 28.6%	24 57.1%	42	4.4		
Thomas Perkins	1 2.4%	0	1 2.4%	15 36.6%	24 58.5%	41	4.5		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty Re	sults		
0.2 My instructor gives assignments that contribute to my understanding of the subject			Respon	ses (%)		Inc	dividual
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean
Candice Birks	1 2.4%	0	6 14.6%	14 34.1%	20 48.8%	41	4.3
Thomas Perkins	1 2.4%	0	3 7.1%	15 35.7%	23 54.8%	42	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty Res	sults		
O.4 Marineton annida annida de la		Inc	dividual				
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	A	SA	N	Mean
Candice Birks	1 2.4%	0	5 11.9%	12 28.6%	24 57.1%	42	4.4
Thomas Perkins	1 2.4%	0	2 4.8%	14 33.3%	25 59.5%	42	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results						
	Responses (%)					Inc	dividual
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	A	SA	N	Mean
Candice Birks	1 2.4%	0	5 11.9%	13 31%	23 54.8%	42	4.4
Thomas Perkins	1 2.4%	0	2 4.9%	14 34.1%	24 58.5%	41	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results										
		Responses (%)									
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	Α	SA	N	Mean				
Candice Birks	1 2.4%	0	7 16.7%	15 35.7%	19 45.2%	42	4.2				
Thomas Perkins	1 2.4%	0	3 7.1%	14 33.3%	24 57.1%	42	4.4				

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results										
		Individual									
Q7. My instructor establishes a climate of respect for students.		D	N	A	SA	N	Mean				
Candice Birks	1 2.4%	0	3 7.1%	6 14.3%	32 76.2%	42	4.6				
Thomas Perkins	1 2.4%	0	1 2.4%	6 14.3%	34 81%	42	4.7				

Course Evaluation Questions				Faculty Res	sults		
OR Mu instructor is qualished to me on motters postaining to the course			Respons	es (%)		ln	dividual
Q8. My instructor is available to me on matters pertaining to the course.	SD	D	N	Α	SA	N	Mean
Candice Birks	1 2.4%	0	5 11.9%	9 21.4%	27 64.3%	42	4.5
Thomas Perkins	1 2.4%	0	3 7.1%	11 26.2%	27 64.3%	42	4.5

Course Evaluation Questions	Faculty Results											
			Respon	ıses (%)		lr	ndividual					
Q9. My instructor encourages me to do my best work.	SD	D	N	A	SA	N	Mean					
Candice Birks	1 2.4%	0	4 9.8%	10 24.4%	26 63.4%	41	4.5					
Thomas Perkins	1 2.4%	0	2 4.8%	10 23.8%	29 69%	42	4.6					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty Res	ults				
		Responses (%)							
Q10. My instructor provides timely feedback to guide my progress.	SD	D	N	Α	SA	N	Mean		
Candice Birks	1 2.4%	0	6 14.3%	13 31%	22 52.4%	42	4.3		
Thomas Perkins	1 2.4%	0	3 7.3%	10 24.4%	27 65.9%	41	4.5		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Faculty Re	sults					
		Responses (%)								
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	A	SA	N	Mean			
Candice Birks	1 2.4%	0	3 7.1%	7 16.7%	31 73.8%	42	4.6			
Thomas Perkins	1 2.4%	0	2 4.8%	6 14.3%	33 78.6%	42	4.7			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions							
			Respon	ses (%)		Inc	dividual
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	Α	SA	N	Mean
Candice Birks	1 2.4%	0	3 7.3%	12 29.3%	25 61%	41	4.5
Thomas Perkins	1 2.4%	0	2 4.9%	11 26.8%	27 65.9%	41	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results											
				dividual								
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	Α	SA	N	Mean					
Candice Birks	1 2.4%	0	6 14.3%	10 23.8%	25 59.5%	42	4.4					
Thomas Perkins	1 2.4%	0	4 9.5%	12 28.6%	25 59.5%	42	4.4					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results								
	Responses (%)					Inc	dividual			
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	Α	SA	N	Mean			
Candice Birks	1 2.4%	0	6 14.6%	11 26.8%	23 56.1%	41	4.3			
Thomas Perkins	1 2.4%	0	3 7.1%	13 31%	25 59.5%	42	4.5			

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

		LAW - 7326 - 501							Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)					ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
C	Q15 The section or lab is well integrated into the course structure.	0	0	2 28.6%	0	5 71.4%	7	4.4	410	4.0	62		
c	Q16 The course topics are organized in a coherent fashion.	0	0	1 7.1%	4 28.6%	9 64.3%	14	4.6	637	4.1	67		

Course:	LAW - 7334 001 - Employment Law Practicum	Department:	Law
Responsible Faculty:	Sadaf Abdullah	Responses / Expected:	6 / 9 (66.67%)

Cou	se Evaluation Questions		-	Sa Response	daf Abdul s (%)	lah	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8

					LAW - 7	334 - 001			S	urvey Compariso	ns
Lab	s and Online Learning Questions		R	espo	nses (%	·)	(	Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	410	4.0	93
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	637	4.1	60

Course:	LAW - 7335 001 - Practice Foundation III: Business of Law	Department:	Law
Responsible Faculty:	Jennifer Wondracek	Responses / Expected:	53 / 76 (69.74%)

0	Full water Overstone			Jennife	r Wondra	cek		
Cour	rse Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	12 22.6%	13 24.5%	13 24.5%	9 17%	6 11.3%	53	2.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	11 20.8%	10 18.9%	9 17%	15 28.3%	8 15.1%	53	3.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	16 30.2%	11 20.8%	10 18.9%	8 15.1%	8 15.1%	53	2.6
Q4	My instructor provides material that helps me do well on assignments.	14 26.4%	11 20.8%	11 20.8%	9 17%	8 15.1%	53	2.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	12 22.6%	7 13.2%	14 26.4%	12 22.6%	8 15.1%	53	2.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	16 30.8%	9 17.3%	16 30.8%	6 11.5%	5 9.6%	52	2.5
Q7	My instructor establishes a climate of respect for students.	22 41.5%	14 26.4%	4 7.5%	8 15.1%	5 9.4%	53	2.2
Q8	My instructor is available to me on matters pertaining to the course.	8 15.1%	1 1.9%	5 9.4%	15 28.3%	24 45.3%	53	3.9
Q9	My instructor encourages me to do my best work.	8 15.1%	7 13.2%	12 22.6%	12 22.6%	14 26.4%	53	3.3
Q10	My instructor provides timely feedback to guide my progress.	13 25%	12 23.1%	16 30.8%	6 11.5%	5 9.6%	52	2.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	15 28.8%	11 21.2%	3 5.8%	17 32.7%	6 11.5%	52	2.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	12 23.1%	7 13.5%	11 21.2%	12 23.1%	10 19.2%	52	3.0
Q13	My instructor encourages me to develop new viewpoints.	11 20.8%	6 11.3%	15 28.3%	12 22.6%	9 17%	53	3.0
Q14	My instructor made the subject interesting and motivated me to learn.	22 41.5%	10 18.9%	6 11.3%	10 18.9%	5 9.4%	53	2.4

		LAW - 7335 - 001								Survey Comparisons				
Lab	s and Online Learning Questions	Responses (%) Course		ourse										
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	8 40%	3 15%	3 15%	1 5%	5 25%	20	2.6	410	4.0	8			
Q16	The course topics are organized in a coherent fashion.	12 34.3%	4 11.4%	5 14.3%	8 22.9%	6 17.1%	35	2.8	637	4.1	6			

Course:	LAW - 7336 001 - Legislative Drafting Practicum	Department:	Law
Responsible Faculty:	William Furgeson	Responses / Expected:	4 / 10 (40%)

Course Evaluation Questions				Faculty I	Results									
		Responses (%) Individu							Responses (%)					Individual
Q1. My instructor explains difficult material clearly.	SD	D	N	Α	SA	N	Mean							
Candice Birks	0	0	1 25%	0	3 75%	4	4.5							
William Furgeson	0	0	0	1 25%	3 75%	4	4.8							

Course Evaluation Questions			F	Results	s				
		F	Respons	es (%)		In	dividual		
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	Α	SA	N	Mean		
Candice Birks	0	0	1 25%	0	3 75%	4	4.5		
William Furgeson	0	0	0	1 25%	3 75%	4	4.8		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			F	aculty F	Results	esults						
		F	Respons	es (%)		Ir	ndividual					
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean					
Candice Birks	0	0	1 25%	0	3 75%	4	4.5					
William Furgeson	0	0	0	1 25%	3 75%	4	4.8					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results							
		Responses (%)					ndividual		
Q4. My instructor provides material that helps me do well on assignments.	SD	D	N	A	SA	N	Mean		
Candice Birks	0	0	1 25%	0	3 75%	4	4.5		
William Furgeson	0	0	0	1 25%	3 75%	4	4.8		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results						
		Responses (%)					ndividual	
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	Α	SA	N	Mean	
Candice Birks	0	0	1 25%	0	3 75%	4	4.5	
William Furgeson	0	0	0	0	4 100%	4	5.0	

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{St$ 

Course Evaluation Questions			F	acul	y Results					
		Responses (%)					dividual			
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	Α	SA	N	Mean			
Candice Birks	0	0	1 25%	0	3 75%	4	4.5			
William Furgeson	0	0	0	0	4 100%	4	5.0			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results						
			Response	s (%)			ndividual
Q7. My instructor establishes a climate of respect for students.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	1 25%	0	3 75%	4	4.5
William Furgeson	0	0	0	0	4 100%	4	5.0

Course Evaluation Questions				Facu	Ity Results		
		Responses (%) Individua					ndividual
Q8. My instructor is available to me on matters pertaining to the course.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	1 25%	0	3 75%	4	4.5
William Furgeson	0	0	0	0	4 100%	4	5.0

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$ 

Course Evaluation Questions				Facu	lty Results		
	Responses (%) Individua						Individual
Q9. My instructor encourages me to do my best work.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	1 25%	0	3 75%	4	4.5
William Furgeson	0	0	0	0	4 100%	4	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results										
		Responses (%)				I	ndividual					
10. My instructor provides timely feedback to guide my progress.		D	N	Α	SA	N	Mean					
Candice Birks	0	0	1 25%	0	3 75%	4	4.5					
William Furgeson	0	0	0	1 25%	3 75%	4	4.8					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			F	acult	ty Results		
	Responses (%) Indivi				ndividual		
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	A	SA	N	Mean
Candice Birks	0	0	1 25%	0	3 75%	4	4.5
William Furgeson	0	0	0	0	4 100%	4	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	cult	y Result	s	
	Responses (%) Indi				dividual		
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	1 25%	0	3 75%	4	4.5
William Furgeson	0	0	0	0	4 100%	4	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions Faculty Results							
	Responses (%) Individual						ndividual
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	1 25%	0	3 75%	4	4.5
William Furgeson	0	0	0	0	4 100%	4	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			ı	acul	ty Results		
		Responses (%) Individual					ndividual
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	Α	SA	N	Mean
Candice Birks	0	0	1 25%	0	3 75%	4	4.5
William Furgeson	0	0	0	0	4 100%	4	5.0

					LAW - 7	336 - 001	Survey Comparisons				
Labs and Online Learning Questions		Responses (%) Course				Course	All				
		SD	D	N	A	SA	N	Mean	N Mean		Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	410	4.0	93
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	637	4.1	80

Course:	LAW - 7346 001 - Health Care Law Practicum	Department:	Law
Responsible Faculty:	Loren Jacobson	Responses / Expected:	8 / 8 (100%)

Cour	se Evaluation Questions					Jacobson		
				Resp	onses (%	)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	0	8 100%	8	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	8 100%	8	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	8 100%	8	5.0

			LAW - 7346 - 001						Survey Comparisons			
Labs and Online Learning Questions		Responses (%) Course						All				
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk	
Q1!	The section or lab is well integrated into the course structure.	0	0	0	3 50%	3 50%	6	4.5	410	4.0	72	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	6 100%	6	5.0	637	4.1	93	

Course:	LAW - 7388 001 - Externship Seminar	Department:	Law
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	9 / 12 (75%)

^	Furthering Occasions			Cher	yl Wattle	у			
Cour	se Evaluation Questions			sponses	(%)		In		
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	1 11.1%	3 33.3%	3 33.3%	2 22.2%	9	3.7	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 33.3%	4 44.4%	2 22.2%	9	3.9	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 22.2%	3 33.3%	3 33.3%	1 11.1%	9	3.3	
Q4	My instructor provides material that helps me do well on assignments.	0	0	4 44.4%	4 44.4%	1 11.1%	9	3.7	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 33.3%	5 55.6%	1 11.1%	9	3.8	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	3 33.3%	4 44.4%	1 11.1%	9	3.4	
Q7	My instructor establishes a climate of respect for students.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	4 44.4%	3 33.3%	2 22.2%	9	3.8	
Q9	My instructor encourages me to do my best work.	0	0	4 44.4%	3 33.3%	2 22.2%	9	3.8	
Q10	My instructor provides timely feedback to guide my progress.	2 22.2%	0	3 33.3%	2 22.2%	2 22.2%	9	3.2	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 33.3%	2 22.2%	4 44.4%	9	4.1	
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 11.1%	3 33.3%	2 22.2%	3 33.3%	9	3.8	

				LAV	N - 7388 -	Survey Comparisons					
Labs and Online Learning Questions		Responses (%)						Course	All		
		SD D N A		A SA		N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	2 66.7%	1 33.3%	0	3	3.3	410	4.0	15
Q16	The course topics are organized in a coherent fashion.	0	0	4 80%	1 20%	0	5	3.2	637	4.1	10

Course:	LAW - 7401 001 - Torts	Department:	Law
Responsible Faculty:	Ellen Pryor	Responses / Expected:	73 / 81 (90.12%)

<b>^</b>	Forbutton Occations				Ellen Pry	or		
Cour	se Evaluation Questions			Respons	Inc	dividual		
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 1.4%	5 6.8%	25 34.2%	42 57.5%	73	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 2.7%	18 24.7%	53 72.6%	73	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 1.4%	4 5.5%	19 26%	49 67.1%	73	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	4 5.5%	16 21.9%	53 72.6%	73	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 1.4%	2 2.7%	22 30.1%	48 65.8%	73	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 2.7%	5 6.8%	16 21.9%	50 68.5%	73	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	2 2.8%	15 20.8%	55 76.4%	72	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	3 4.1%	3 4.1%	30 41.1%	37 50.7%	73	4.4
Q9	My instructor encourages me to do my best work.	0	1 1.4%	6 8.3%	13 18.1%	52 72.2%	72	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	3 4.2%	10 13.9%	26 36.1%	33 45.8%	72	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 1.4%	3 4.1%	20 27.4%	49 67.1%	73	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 1.4%	7 9.6%	17 23.3%	48 65.8%	73	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	1 1.4%	6 8.3%	22 30.6%	43 59.7%	72	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 1.4%	4 5.5%	19 26%	49 67.1%	73	4.6

				LA	W - 7401		Survey Comparisons				
Lal	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	410	4.0	72
Q1	The course topics are organized in a coherent fashion.	1 3.7%	0	3 11.1%	6 22.2%	17 63%	27	4.4	637	4.1	52

Course:	LAW - 7407 001 - Contracts	Department:	Law
Responsible Faculty:	Michael Maslanka	Responses / Expected:	76 / 80 (95%)

_				Micha	el Maslar	ıka		
Coui	rse Evaluation Questions		Re	Responses (%)				lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	7 9.2%	16 21.1%	21 27.6%	24 31.6%	8 10.5%	76	3.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	5 6.6%	5 6.6%	16 21.1%	38 50%	12 15.8%	76	3.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	5 6.6%	7 9.2%	17 22.4%	31 40.8%	16 21.1%	76	3.6
Q4	My instructor provides material that helps me do well on assignments.	7 9.2%	12 15.8%	25 32.9%	20 26.3%	12 15.8%	76	3.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	4 5.3%	11 14.5%	12 15.8%	32 42.1%	17 22.4%	76	3.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	9 11.8%	16 21.1%	17 22.4%	22 28.9%	12 15.8%	76	3.2
Q7	My instructor establishes a climate of respect for students.	5 6.6%	2 2.6%	8 10.5%	21 27.6%	40 52.6%	76	4.2
Q8	My instructor is available to me on matters pertaining to the course.	3 3.9%	3 3.9%	3 3.9%	24 31.6%	43 56.6%	76	4.3
Q9	My instructor encourages me to do my best work.	6 8%	3 4%	6 8%	20 26.7%	40 53.3%	75	4.1
Q10	My instructor provides timely feedback to guide my progress.	2 2.6%	6 7.9%	8 10.5%	29 38.2%	31 40.8%	76	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	3 3.9%	3 3.9%	8 10.5%	20 26.3%	42 55.3%	76	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	3 3.9%	5 6.6%	9 11.8%	30 39.5%	29 38.2%	76	4.0
Q13	My instructor encourages me to develop new viewpoints.	3 3.9%	4 5.3%	13 17.1%	26 34.2%	30 39.5%	76	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	6 7.9%	8 10.5%	16 21.1%	20 26.3%	26 34.2%	76	3.7

				LAW -		Survey Comparisons						
Labs and Online Learning Questions		Responses (%)						ourse	All			
		SD	D N A SA		SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	1 11.1%	1 11.1%	3 33.3%	2 22.2%	2 22.2%	9	3.3	410	4.0	15	
Q1	The course topics are organized in a coherent fashion.	3 12.5%	4 16.7%	8 33.3%	5 20.8%	4 16.7%	24	3.1	637	4.1	8	

Course:	LAW - 7407 501 - Contracts	Department:	Law
Responsible Faculty:	Matthew Crockett	Responses / Expected:	47 / 62 (75.81%)

<b>^</b>	Forduction Occupion			Matt	hew Croc	kett		
Cour	se Evaluation Questions		R	Inc	dividual			
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	4 8.7%	7 15.2%	15 32.6%	20 43.5%	46	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 2.1%	5 10.6%	14 29.8%	27 57.4%	47	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	2 4.3%	2 4.3%	16 34.8%	26 56.5%	46	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	1 2.2%	4 8.7%	18 39.1%	23 50%	46	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 2.1%	3 6.4%	20 42.6%	23 48.9%	47	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	3 6.4%	4 8.5%	19 40.4%	21 44.7%	47	4.2
Q7	My instructor establishes a climate of respect for students.	1 2.1%	0	0	10 21.3%	36 76.6%	47	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	12 25.5%	35 74.5%	47	4.7
Q9	My instructor encourages me to do my best work.	0	1 2.1%	0	9 19.1%	37 78.7%	47	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 2.1%	1 2.1%	16 34%	29 61.7%	47	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 4.3%	0	0	9 19.6%	35 76.1%	46	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 4.3%	19 41.3%	25 54.3%	46	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 8.7%	13 28.3%	29 63%	46	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 2.1%	2 4.3%	12 25.5%	32 68.1%	47	4.6

				L	AW - 740		Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0	410	4.0	36
Q16	The course topics are organized in a coherent fashion.	0	0	0	9 75%	3 25%	12	4.3	637	4.1	43

Course:	LAW - 7411 501 - Property	Department:	Law
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	30 / 43 (69.77%)

Cour	se Evaluation Questions		1 2 6 14 7 3.3% 6.7% 20% 46.7% 23.3% 0 0 3 13 14 43.3% 46.7% 1 1 9 11 8 3.3% 3.3% 30% 36.7% 26.7% 1 2 8 9 10 3.3% 6.7% 26.7% 30% 33.3% 0 1 4 12 12 12 12 3.4% 13.8% 41.4% 41.4% 2 0 9 9 10 5.7% 0 9 10 9.5.7% 0 9 10 30.3% 30.3% 30.% 1 0 0 8 21 3.3% 0 0 2 10 17			lges	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 3.3%				7 23.3%	30	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0			14 46.7%	30	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 3.3%				8 26.7%	30	3.8
Q4	My instructor provides material that helps me do well on assignments.	1 3.3%			_	10 33.3%	30	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0				12 41.4%	29	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 6.7%	0				30	3.8
Q7	My instructor establishes a climate of respect for students.	1 3.3%	0	0			30	4.6
Q8	My instructor is available to me on matters pertaining to the course.	1 3.3%	0			17 56.7%	30	4.4
Q9	My instructor encourages me to do my best work.	1 3.3%	0	0	11 36.7%	18 60%	30	4.5
Q10	My instructor provides timely feedback to guide my progress.	3 10%	0	3 10%	9 30%	15 50%	30	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 3.3%	0	0	7 23.3%	22 73.3%	30	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 3.3%	0	3 10%	11 36.7%	15 50%	30	4.3
Q13	My instructor encourages me to develop new viewpoints.	1 3.3%	0	8 26.7%	6 20%	15 50%	30	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	1 3.4%	1 3.4%	3 10.3%	10 34.5%	14 48.3%	29	4.2

				L	AW - 7411	Survey Comparisons						
Lab	Labs and Online Learning Questions		Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	3 50%	1 16.7%	2 33.3%	6	3.8	410	4.0	30	
Q10	The course topics are organized in a coherent fashion.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2	637	4.1	40	

Course:	LAW - 7301 001 - Legal Writing I	Department:	Law
Responsible Faculty:	Lacey Breeden; Richard Cella; Lindsey Goldstein; Jonathan Perry; Melissa Shultz	Responses / Expected:	64 / 81 (79.01%)

Course Evaluation Questions				Faculty Res	ults			
·			Respons	ses (%)		In	dividual	
Q1. My instructor explains difficult material clearly.	SD							
Lacey Breeden	0	0	2 16.7%	2 16.7%	8 66.7%	12	4.5	
Richard Cella	1 20%	0	1 20%	1 20%	2 40%	5	3.6	
Lindsey Goldstein	0	0	0	6 35.3%	11 64.7%	17	4.6	
Jonathan Perry	0	0	0	4 33.3%	8 66.7%	12	4.7	
Melissa Shultz	0	0	0	1 7.1%	13 92.9%	14	4.9	

Course Evaluation Questions		Faculty Results							
			Respons	es (%)		Inc	dividual		
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	Α	SA	N	Mean		
Lacey Breeden	0	0	2 16.7%	1 8.3%	9 75%	12	4.6		
Richard Cella	1 20%	0	2 40%	0	2 40%	5	3.4		
Lindsey Goldstein	0	0	0	7 41.2%	10 58.8%	17	4.6		
Jonathan Perry	0	0	0	4 33.3%	8 66.7%	12	4.7		
Melissa Shultz	1 7.1%	0	0	0	13 92.9%	14	4.7		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	aculty Res	ults				
		Responses (%)							
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean		
Lacey Breeden	0	1 8.3%	1 8.3%	2 16.7%	8 66.7%	12	4.4		
Richard Cella	1 20%	0	2 40%	0	2 40%	5	3.4		
Lindsey Goldstein	0	0	1 5.9%	8 47.1%	8 47.1%	17	4.4		
Jonathan Perry	0	0	0	4 33.3%	8 66.7%	12	4.7		
Melissa Shultz	0	0	0	4 28.6%	10 71.4%	14	4.7		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	culty Resul	ts			
		Responses (%)						
Q4. My instructor provides material that helps me do well on assignments.	SD	SD D N A SA						
Lacey Breeden	0	1 8.3%	2 16.7%	2 16.7%	7 58.3%	12	4.3	
Richard Cella	1 20%	0	2 40%	0	2 40%	5	3.4	
Lindsey Goldstein	0	0	0	8 47.1%	9 52.9%	17	4.5	
Jonathan Perry	0	0	2 16.7%	2 16.7%	8 66.7%	12	4.5	
Melissa Shultz	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6	

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \ \ \text{Sagree=4} \ \ \ \text{Sagree=4} \ \ \ \text$ 

Course Evaluation Questions		Faculty Results							
			Response	s (%)		Inc	dividual		
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	Α	SA	N	Mean		
Lacey Breeden	0	1 8.3%	1 8.3%	3 25%	7 58.3%	12	4.3		
Richard Cella	1 20%	0	2 40%	0	2 40%	5	3.4		
Lindsey Goldstein	0	0	1 5.9%	6 35.3%	10 58.8%	17	4.5		
Jonathan Perry	0	0	1 8.3%	3 25%	8 66.7%	12	4.6		
Melissa Shultz	0	1 7.1%	0	0	13 92.9%	14	4.8		

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$ 

Course Evaluation Questions			Fac	ulty Resul	ts			
		F	Responses	(%)		Inc	dividual	
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.	SD	D	N	Α	SA	N	Mean	
Lacey Breeden	0	1 8.3%	2 16.7%	1 8.3%	8 66.7%	12	4.3	
Richard Cella	1 20%	0	1 20%	1 20%	2 40%	5	3.6	
Lindsey Goldstein	0	0	1 5.9%	5 29.4%	11 64.7%	17	4.6	
Jonathan Perry	0	0	2 16.7%	2 16.7%	8 66.7%	12	4.5	
Melissa Shultz	0	2 14.3%	0	1 7.1%	11 78.6%	14	4.5	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			ı	aculty Resu	ılts		
		Individual					
Q7. My instructor establishes a climate of respect for students.	SD	D	N	Α	SA	N	Mean
Lacey Breeden	0	0	0	2 16.7%	10 83.3%	12	4.8
Richard Cella	1 20%	0	1 20%	1 20%	2 40%	5	3.6
Lindsey Goldstein	0	1 5.9%	0	8 47.1%	8 47.1%	17	4.4
Jonathan Perry	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
Melissa Shultz	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results							
·		Responses (%)							
Q8. My instructor is available to me on matters pertaining to the course.	SD	SD D N A SA							
Lacey Breeden	0	1 8.3%	2 16.7%	2 16.7%	7 58.3%	12	4.3		
Richard Cella	1 20%	0	2 40%	0	2 40%	5	3.4		
Lindsey Goldstein	0	0	0	6 35.3%	11 64.7%	17	4.6		
Jonathan Perry	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7		
Melissa Shultz	1 7.1%	0	0	1 7.1%	12 85.7%	14	4.6		

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

Course Evaluation Questions							
		Individual					
Q9. My instructor encourages me to do my best work.	SD	D	N	A	SA	N	Mean
Lacey Breeden	0	0	2 16.7%	2 16.7%	8 66.7%	12	4.5
Richard Cella	1 20%	0	1 20%	1 20%	2 40%	5	3.6
Lindsey Goldstein	0	0	1 5.9%	5 29.4%	11 64.7%	17	4.6
Jonathan Perry	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
Melissa Shultz	0	1 7.1%	0	0	13 92.9%	14	4.8

Course Evaluation Questions			Fa	culty Result	ts		
		In	dividual				
Q10. My instructor provides timely feedback to guide my progress.	SD	D	N	Α	SA	N	Mean
Lacey Breeden	0	1 9.1%	3 27.3%	1 9.1%	6 54.5%	11	4.1
Richard Cella	1 20%	0	2 40%	0	2 40%	5	3.4
Lindsey Goldstein	0	1 5.9%	1 5.9%	4 23.5%	11 64.7%	17	4.5
Jonathan Perry	0	0	0	3 23.1%	10 76.9%	13	4.8
Melissa Shultz	1 7.1%	0	1 7.1%	0	12 85.7%	14	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	culty Resu	lts		
	Responses (%)						dividual
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.	SD	D	N	Α	SA	N	Mean
Lacey Breeden	0	1 9.1%	0	1 9.1%	9 81.8%	11	4.6
Richard Cella	1 20%	0	2 40%	1 20%	1 20%	5	3.2
Lindsey Goldstein	0	1 5.9%	3 17.6%	6 35.3%	7 41.2%	17	4.1
Jonathan Perry	0	0	0	3 23.1%	10 76.9%	13	4.8
Melissa Shultz	0	0	1 7.7%	1 7.7%	11 84.6%	13	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions			Fa	culty Res	ults		
		Responses (%)				Inc	dividual
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	Α	SA	N	Mean
Lacey Breeden	0	1 9.1%	1 9.1%	1 9.1%	8 72.7%	11	4.5
Richard Cella	1 20%	0	2 40%	0	2 40%	5	3.4
Lindsey Goldstein	0	0	1 5.9%	6 35.3%	10 58.8%	17	4.5
Jonathan Perry	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Melissa Shultz	0	1 7.1%	0	0	13 92.9%	14	4.8

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

Course Evaluation Questions			F	aculty Resul	ts					
			Responses	s (%)		In	dividual			
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	Α	SA	N	Mean			
Lacey Breeden	0	1 9.1%	2 18.2%	2 18.2%	6 54.5%	11	4.2			
Richard Cella	1 20%	0	2 40%	0	2 40%	5	3.4			
Lindsey Goldstein	0	0	0	8 47.1%	9 52.9%	17	4.5			
Jonathan Perry	0	0	2 15.4%	2 15.4%	9 69.2%	13	4.5			
Melissa Shultz	0	1 7.1%	0	1 7.1%	12 85.7%	14	4.7			

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

Course Evaluation Questions			Fac	culty Resul	ts				
·		Responses (%)							
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	Α	SA	N	Mean		
Lacey Breeden	0	1 8.3%	2 16.7%	1 8.3%	8 66.7%	12	4.3		
Richard Cella	1 20%	0	1 20%	1 20%	2 40%	5	3.6		
Lindsey Goldstein	0	1 5.9%	1 5.9%	5 29.4%	10 58.8%	17	4.4		
Jonathan Perry	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6		
Melissa Shultz	1 7.1%	0	1 7.1%	0	12 85.7%	14	4.6		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		Survey Comparisons								
Labs and Online Learning Questions	Responses (			Responses (%)				All		
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15 The section or lab is well integrated into the course structure.	3 5.1%	2 3.4%	4 6.8%	14 23.7%	36 61%	59	4.3	100	4.0	75
Q16 The course topics are organized in a coherent fashion.	2 3.4%	1 1.7%	2 3.4%	21 36.2%	32 55.2%	58	4.4	100	4.1	75

Course:	LAW - 7301 501 - Legal Writing I	Department:	Law
Responsible Faculty:	John Barcus; Jillian Harris; Jonathan Perry; Melissa Shultz; Sol Villasana	Responses / Expected:	47 / 62 (75.81%)

Course Evaluation Questions			Fa	aculty Results	;		
·			Responses	(%)		Ir	ndividual
Q1. My instructor explains difficult material clearly.	SD	D	N	A	SA	N	Mean
John Barcus	0	0	0	8 53.3%	7 46.7%	15	4.5
Jillian Harris	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Melissa Shultz	0	1 25%	0	1 25%	2 50%	4	4.0
Sol Villasana	1 8.3%	7 58.3%	1 8.3%	3 25%	0	12	2.5

Course Evaluation Questions			Facu	ılty Resul	ts		
		Inc	dividual				
Q2. My instructor provides facts, examples, and references that helped me learn the material.	SD	D	N	Α	SA	N	Mean
John Barcus	0	0	0	6 40%	9 60%	15	4.6
Jillian Harris	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5
Melissa Shultz	0	0	1 25%	1 25%	2 50%	4	4.3
Sol Villasana	1 8.3%	4 33.3%	5 41.7%	1 8.3%	1 8.3%	12	2.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results							
·		Responses (%)							
Q3. My instructor gives assignments that contribute to my understanding of the subject.	SD	D	N	Α	SA	N	Mean		
John Barcus	0	0	0	8 53.3%	7 46.7%	15	4.5		
Jillian Harris	0	0	2 18.2%	4 36.4%	5 45.5%	11	4.3		
Melissa Shultz	0	0	1 25%	1 25%	2 50%	4	4.3		
Sol Villasana	2 16.7	4 % 33.3%	4 33.3%	1 8.3%	1 8.3%	12	2.6		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions				Facu	lty Results							
		Responses (%)										
Q4. My instructor provides material that helps me do well on assignments.	s	SD	D	N	Α	SA	N	Mean				
John Barcus		0	0	2 13.3%	6 40%	7 46.7%	15	4.3				
Jillian Harris		0	0	2 18.2%	4 36.4%	5 45.5%	11	4.3				
Melissa Shultz		0	0	1 25%	1 25%	2 50%	4	4.3				
Sol Villasana		2 5.7%	4 33.3%	4 33.3%	2 16.7%	0	12	2.5				

Course Evaluation Questions			Fac	ulty Result	is		
		Responses (%)					
Q5. My instructor explains new ideas by relating them to familiar concepts.	SD	D	N	Α	SA	N	Mean
John Barcus	0	0	1 7.1%	6 42.9%	7 50%	14	4.4
Jillian Harris	0	0	3 27.3%	2 18.2%	6 54.5%	11	4.3
Melissa Shultz	0	1 25%	0	1 25%	2 50%	4	4.0
Sol Villasana	2 16.7%	3 25%	5 41.7%	2 16.7%	0	12	2.6

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \textbf{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \textbf{Disagree=2} \ \ [\textbf{N}] \ \ \textbf{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \textbf{Agree=4} \ \ [\textbf{SA}] \ \ \textbf{Strongly Agree=5} \ \ \textbf{Neither Agree or Disagree=4} \ \ \textbf{SA} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Neither Agree or Disagree=4} \ \ \textbf{Neither Agree} \ \ \textbf{Nei$ 

Course Evaluation Questions Faculty Results								
		Responses (%)						
Q6. My instructor evaluates my work in ways that are helpful to my ability to learn.			N	Α	SA	N	Mean	
John Barcus	0	0	1 7.1%	4 28.6%	9 64.3%	14	4.6	
Jillian Harris	0	2 18.2%	1 9.1%	1 9.1%	7 63.6%	11	4.2	
Melissa Shultz	0	1 25%	0	1 25%	2 50%	4	4.0	
Sol Villasana	2 16.7%	5 41.7%	2 16.7%	3 25%	0	12	2.5	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results									
		Individual								
Q7. My instructor establishes a climate of respect for students.	SD	D	N	Α	SA	N	Mean			
John Barcus	0	0	0	4 26.7%	11 73.3%	15	4.7			
Jillian Harris	0	0	0	4 33.3%	8 66.7%	12	4.7			
Melissa Shultz	0	0	1 25%	1 25%	2 50%	4	4.3			
Sol Villasana	0	0	0	8 66.7%	4 33.3%	12	4.3			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results									
		Individual								
Q8. My instructor is available to me on matters pertaining to the course.		D	N	Α	SA	N	Mean			
John Barcus	0	0	0	4 26.7%	11 73.3%	15	4.7			
Jillian Harris	0	0	1 8.3%	2 16.7%	9 75%	12	4.7			
Melissa Shultz	0	0	0	2 50%	2 50%	4	4.5			
Sol Villasana	1 8.3%	1 8.3%	3 25%	6 50%	1 8.3%	12	3.4			

Course Evaluation Questions		Faculty Results									
				In	dividual						
Q9. My instructor encourages me to do my best work.	SD	D	N	Α	SA	N	Mean				
John Barcus	0	0	0	6 42.9%	8 57.1%	14	4.6				
Jillian Harris	0	0	1 8.3%	3 25%	8 66.7%	12	4.6				
Melissa Shultz	0	0	0	2 50%	2 50%	4	4.5				
Sol Villasana	0	1 8.3%	3 25%	5 41.7%	3 25%	12	3.8				

Course Evaluation Questions			Fac	culty Result	s				
		Responses (%)							
Q10. My instructor provides timely feedback to guide my progress.	SD	D	N	Α	SA	N	Mean		
John Barcus	0	0	0	6 40%	9 60%	15	4.6		
Jillian Harris	0	0	0	4 33.3%	8 66.7%	12	4.7		
Melissa Shultz	0	1 25%	0	1 25%	2 50%	4	4.0		
Sol Villasana	2 16.7%	4 33.3%	3 25%	3 25%	0	12	2.6		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions	Faculty Results										
					Responses (%)						
Q11. My instructor creates an atmosphere in which ideas can be exchanged freely.		SD	D	N	A	SA	N	Mean			
John Barcus		0	0	0	6 40%	9 60%	15	4.6			
Jillian Harris		0	0	0	4 33.3%	8 66.7%	12	4.7			
Melissa Shultz		0	0	1 25%	1 25%	2 50%	4	4.3			
Sol Villasana		0	0	3 25%	6 50%	3 25%	12	4.0			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course Evaluation Questions		Faculty Results							
			Respor	ıses (%)		Individual			
Q12. My instructor encourages me to connect course topics to a wider understanding of the subject.	SD	D	N	Α	SA	N	Mean		
John Barcus	0	0	0	8 57.1%	6 42.9%	14	4.4		
Jillian Harris	0	0	3 25%	2 16.7%	7 58.3%	12	4.3		
Melissa Shultz	0	0	1 25%	1 25%	2 50%	4	4.3		
Sol Villasana	1 8.3%	0	6 50%	3 25%	2 16.7%	12	3.4		

Course Evaluation Questions	Faculty Results									
		Responses (%)								
Q13. My instructor encourages me to develop new viewpoints.	SD	D	N	Α	SA	N	Mean			
John Barcus	0	0	1 6.7%	7 46.7%	7 46.7%	15	4.4			
Jillian Harris	0	0	4 33.3%	2 16.7%	6 50%	12	4.2			
Melissa Shultz	0	0	1 25%	1 25%	2 50%	4	4.3			
Sol Villasana	2 16.7%	1 8.3%	5 41.7%	3 25%	1 8.3%	12	3.0			

Course Evaluation Questions	Faculty Results									
			Responses (%)							
Q14. My instructor made the subject interesting and motivated me to learn.	SD	D	N	Α	SA	N	Mean			
John Barcus	0	0	1 6.7%	7 46.7%	7 46.7%	15	4.4			
Jillian Harris	0	1 8.3%	3 25%	3 25%	5 41.7%	12	4.0			
Melissa Shultz	0	1 25%	0	1 25%	2 50%	4	4.0			
Sol Villasana	2 16.7%	2 16.7%	5 41.7%	3 25%	0	12	2.8			

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

LAW - 7301 - 501									Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					ourse	All					
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15 The section or lab is well integrated into the course structure.	4 9.8%	8 19.5%	4 9.8%	11 26.8%	14 34.1%	41	3.6	100	4.0	25			
Q16 The course topics are organized in a coherent fashion.	3 7.1%	9 21.4%	4 9.5%	11 26.2%	15 35.7%	42	3.6	100	4.1	25			